TVC(cbch)(OOO) TVC(cbch)(OOl) TVC(cbch)(OOZ) TVC(cbch)(003)
S Zzze+ud 25 A 1uiz1aerud | 25 X~ 1 Szzev04 [ 25 A 1z laverud | 25

4000 po 4140+ 0.0 A000F ., po 4146+ 0.0 4000F L PO 4148+ 0.0 4000FL., po 4146+ 0.0
pl 343+ 0.0 pL -34.44+ 0.00 3 pl -34.33+ 0.00 pL -33.68+ 0.00

3000

E 3000 - 3000 - 3000 [ B

2000 - 2000 -1 2000 = 2000

1000 -1 1000 - 1000

ol C = 29.69 [ps/ch]

L 1 L
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0,0,4 TVC(cbch) (0,0,5 TVC(cbch) (0,0,6 TVC(c, bch) (0,0,7

T 4.u3e+04 / 25 - 1nug.uzie+ud / 25 -1 nug bgbe+u4 [ 25 -1y 1ple+ud [ 25
4000E pO 4182+ 0.0 4000, pO 4186+ 0.0 4000, pO 4179+ 0.0 4000, pO 4205+ 0.0
Pl -34.45:000 Pl 3475+ 000 [ PL_ 3335+ 000 347+ 00

3000 [~ - 3000 - 3000 L ] 3000 |- -
2000~ - 2000 -1 2000 -_ _- 2000 -
w00 C . 7] 1000 ] w0l C =29.99 [ps/ch] ™. 7 woor C = 28.82 [ps/ch] _ 7]
1 1 - [ 1 1 - 1 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (O 0,8 TVC(cbch) (0 0,9 TVC(cbch) (0, 0 10 TVC(c, bch) (0, O

©nuiLsUse+u4 / 25 T g, r84e+04 [ 25 T rnublee+ud /25 EEALEVX uz4e+u4/25
4000w, pO 4240+ 0.0 4000 f pO 224200 4000 DO 4265+ 0.0 4000 i, p0 227200
pl 37.2+ 0.0 359+ 0.0 L pl -36.09+ 0.00 pL -35.61+ 0.00

3000 - b 3000 B 3000 B 3000 B

2000 - 4 2000 - 2000 N 2000 B

1000~ C ] 1000 1 1000 T 1000 1

- -
- ™
1 1 1
0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(0012) TVC(cbch)(OOlB) TVC(CbCh)(OOl ) TVC(cbch)(OOlS)
T g g34e+04 / 25 T inun.azze+ud [ 25 T, rz3e+04 [ 25 T nun.BU/e+u4 [ 25
4000 pO 4244+ 0.0 4000 [, pO 4257+ 0.0 4000 PD 4242+ 0.0 4000 4245+ 0.0
pl -36.12+ 0.00 pl -35.4+ 0.0 F pl -35.09 + 0.00 -34.41+ 0.00

3000

N 3000 - 3000 N 3000

2000 2000 - 2000 2000

1000 1000 = 1000

100r C = 29.06 [ps/ch] ]
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50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(CbCh)(OlZ) TVC(cbch)(013)
A™ i 485e+04 [ 25 A~ 1L ayle+ud | 25 A” 1w byze+u4 [ 25 A~ 1L obre+ud [ 25
4000 e, PO 4185+ 0.0 4000 - po 4194+ 0.0 4000 __- po 4217+ 0.0 4000 e, po 4218+ 0.0
pl -34.4+ 0.0 pl -35.22+ 0.00 : pl -36.16 i_0.00 pl -36.26 + 0.00

-1 3000

- 3000 1

3000 =1 3000

2000 4 2000 - 2000 B 2000

] 1000 . 1000 - 1000

1000

50 0% 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(0,1, 4) TVC(eb.eh)=(0, 1,5) TVC(ebeh)=(0,1,6) TVC(eb.eh)=(0,1,7)
S rnuan 1be+ud /25 Snun1b/e+04 /25 -1 nuig bY4e+04 [ 25 -1 nui Buse+u4 / 25
4000 fom pO 4210+ 0.0 4000 Fem, pO 4218+ 0.0 4000 fme, pO 4232+ 0.0 4000 s pO 42341 0.0
-34.6% 0.0 Pl -34.65:0.00 L Pl -35.39+ 0.00 -34.6 % 0.0
3000 E 3000 - 3000 — — 3000 E
2000 4 2000 - 2000 ' ' 2000 - E
1000 4 1000 - woor C = 28.26 [ps/ch ] wool C = 28.90 [ps/ch] E
1 1 - [ 1 1 - 3 1 1 -
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebet)=(0, 1,8) TVC(eben)=(0,1,9) TVC(ebeh)=(0, 1, 10) TVC(eb,o=(0, 1, 11)
T nuzuge+ud /25 T 4.65e+04 / 25 © 1 nu b40e+04 / 25 T 145e+04 [ 25
4000 pO 4212400 4000 pO 4228+ 0.0 4000 [, DO 4246+ 0.0 4000, p0 4246+ 0.0
pl -35.21+ 0.00 Pl 34483000 L PL_ -3545% 0.00 Pl 3548+ 000
3000 E 3000 4 a000}- ] 3000 E
2000 E 2000 ] 2000 3 2000 E

1000 . 1000 - 1000

1o00F C = 29.01 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(Oll ) TVC(cbch)(0115)
T nuzuzse+ud | 25 Tz 15ze+u4 [ 25 -1 nuz,ugse+ud [ 25 T 2.23e+04 [ 25
4000 fe, pO 4266+ 0.0 4000 fF pO 4272+ 00 4000 fe, PD 4256+ 0.0 4000 fam, pO 4265+ 0.0
pl -37.22+ 0.00 pl -37.93+ 0.00 r pl -36.96 + 0.00 pl -37.06 + 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC(cbch) (0,2,0

A7 nui ozse+u4 /25
P po 4203+ 0.0
pl -36.43+ 0.00

TP delay [ns]

TVC(cbch) (02,4

- i, r88e+u4 | 25
- pO 4186+ 0.0
pl -35.81+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

1nuz 3ove+u4 | 25
= po 4228+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (0,212

Tz 1y1e+u4 /25
e, po 4247+ 0.0
pl -36.88 + 0.00

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1

x- 1L dsoe+ud | 25
., po 4197 + 0.0
pL -35.61% 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

=1 nui bb3e+ud / 25
pO 4206+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

T nu.Ur3e+ud [ 25
po 4261+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(C, bch) (0,213

Tinuiz/e+ud [ 25
pO 4231% 0.0
p1 -36.9 + 0.0

TP delay [ns]
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2000

1000
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2000

4000

2000

1000

TVC(cbch) (0,2,2)

K™ 1 nuiosoe+u4 /25
- po 4214+ 0.0
L pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

“ i 753e+04 [ 25
- pO 4203+ 0.0
3 pl -36.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

1000

Tnuggr1e+u4 /25
-, po 4262+ 0.0
- pl -36.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,214

T zure+ud /25
-, pD 4248+ 0.0
L pl -37.26+ 0.00

3000

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3

AT rnuiLraze+u4 [ 25
- po 4222+ 0.0
p1 -36.7 + 0.0

TP delay [ns]

TVC(c,b ch) (0 2,7

-1 i Boye+u4 / 25
- pO 4231% 0.0
pL -37.31% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

EREALER aq/e+u4/25
- po 4260+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(C, bch) (0,215

-1 nui yose+ud / 25
= po 4246+ 0.0
p1 -37.08 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

T Looe+ud /25
4202+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(cbch) (0,34

T L4 r5e+04 [ 25
4190+ 0.0
-34.94 + 0.00

= po
pl
Xe E
| , =
50 100
TP delay [ns]
TVC(cbch) (0.38)
Trnun zb53e+u4 /25
= po 4224+ 0.0
pl -34.86 + 0.00

TP delay [ns]

TVC(cbch) (0,312

pO
p1

1 nuiLyove+u4 / 25
4259+ 0.0
-36.87 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1)

= po

AT 1 suse+ud [ 25
4201+ 0.0
-35.11 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (0 3,5

S nu b ze+u4 [ 25
4195+ 0.0
-35.42 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

pO
pl

~ 1 nup.y1ze+ud [ 25
4238+ 0.0
-35.34 + 0.00

TP delay [ns]

TVC(C, bch) (0,3,13

T nui ozve+ud / 25
4250+ 0.0
-35.29+ 0.00

il
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (0,3,2)

= po

A7 1 nui4oe+u4 / 25
4214+ 0.0
-36.26 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,36

- rnunLyzze+u4 | 25
4214+ 0.0
-36.88 + 0.00

- PO

[ o

FC =27.12 [ps/ch .
5(') 100 -

TP delay [ns]

TVC(cbch) (0, 3 10

F= b

T nuzgoe+u4 [ 25
4248+ 0.0
-35.16 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,3 14

- p"

T, 4ze+04 [ 25
4270+ 0.0
pl -36.42+ 0.00

TP delay [ns]
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3000
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1000
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3)

e po

pl

AT 1 nuiLoave+ud [ 25
4226+ 0.0
-36.04 + 0.00

TVC(c,b ch) (0 3,7

E pO
pl

1
100

TP delay [ns]

- nui /ule+u4 / 25
4226+ 0.0
-35.61+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 3

= pO

T, 4zue+u4/25
4256+ 0.0
-35.87 + 0.00

pl

TP delay [ns]

TVC(C, bch) (03,15

= po

Tinai g rye+ud [ 25
4266+ 0.0
-35.41+ 0.00

1
100

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0

AT nuiLs1se+u4 /25
.. po 4205+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(cbch) (04,4

- i bbze+u4 [ 25
= pO 4201% 0.0
pl -36.52:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

1 nuiLyyve+u4 / 25
- pO 4221+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T L g3pe+u4 / 25
= po 4229+ 0.0
pl -36.57 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0.4,1)

T Ls1e+ud /25
P, pO 4186+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

TVC(c,b ch) (0 4,5

- 1 nui ggae+ud | 25
== po 4203+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

T nug 13be+u4 / 25
- po 4236+ 0.0
pl -35.12 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,13

Tanan g /1e+ud [ 25
- pO 4237+ 0.0
pl -36.52+ 0.00

TP delay [ns]
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3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (0,4,2)

A7 1nui rzoe+04 /25
_E po 4221+ 0.0
o pl -38.19+ 0.00

TP delay [ns]

TVC(cbch) (04,6

- 1L 9ube+ud / 25
3 pO 4224+ 0.0
L pl -38.04 + 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

T 1nuz.zo4e+04 [ 25
. po 4258+ 0.0
- pl -35.68 + 0.00

TP delay [ns]

TVC(cbch) (0,4,14

© 1 nuiLgyse+u4 / 25
4228+ 0.0
-36.81+ 0.00
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1000
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TVC(cbch) (0,4,3)

AT 1 nuizlioe+ud [ 25
- po 4228+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

- nui Y ge+u4 / 25
- pO 4219+ 0.0
pl -37.28 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T, /we+u4/25
- po 4266+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T nuis1ye+ud [ 25
- pO 4237+ 0.0
p1 -37.57 + 0.00

TP delay [ns]
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TVC(c,b,ch)=(0,5,0)

B3 /25
4177+ 0.0
-36.77 + 0.00

[

e, po

pl

TP delay [ns]

TVC(cbch) (05,4

- i Zobe+u4 / 25
4192+ 0.0
-35.31+ 0.00

foee. pO
pl
- C A
1 L -
50 100
TP delay [ns]
TVC(cbch) (O 5,8)
— - rnuz 18be+u4 / 25
= po 4182+ 0.0
-34.54 + 0.00

p1

TP delay [ns]

TVC(cbch) (0,5,12

e, po
p1

L pyze+u4 | 25
4195+ 0.0
-34.82+ 0.00

TP delay [ns]
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TVC(cbch) (0,51)

115e+U4 [ 25
4177+ 0.0
-37.67 + 0.00

Ao,

B, po

p1

TP delay [ns]

TVC(c,b ch) (0 55

-1 nui 145e+04 / 25
4181+ 0.0
-36.23 + 0.00

TP delay [ns]

TVC(c,b ch) (0 59

= po

pl

T nu.4/9e+u4 [ 25
4201% 0.0
-35.49 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,13

= pO

~ 1 nui ogse+ud [ 25
4202+ 0.0
-34.69+ 0.00

TP delay [ns]
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TVC(cbch) (0,5,2)

=, PO

K™ 1nuiLouie+ud /25
4183+ 0.0
-36.84 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,56

pD

p1

©rnuizo3e+u4 [ 25
4192+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

© 1 nuz soge+u4 | 25
4225+ 0.0
-35.3+ 0.0

1
100

TP delay [ns]

TVC(cbch) (0,5,14

- DD
pl

T 1nuiLplye+ud / 25
4206+ 0.0
-35.66 + 0.00

TP delay [ns]
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TVC(cbch) (0,5,3)
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AT rnuiLzrze+ud | 25
4184+ 0.0
-36.24 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (0 57

E pO
pl

- nui /15e+04 / 25
4203+ 0.0
-33.92+ 0.00

[ C =29.48 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (0, 5

= pO

EEALEVX u/ue+u4/25
4219+ 0.0
-34.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

e pO
p1

T nui yzse+ud [ 25
4204+ 0.0
-35.2+ 0.0

TP delay [ns]
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0
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TVC(cbch) (0,6,0

K™ 1nui4u/e+ud /25
., po 4207+ 0.0
pl -36.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (06,4

Tl 1pre+ud [ 25
pO 4195+ 0.0
p1 -36.46+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

T, r18e+u4 | 25
pO 4214+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T rnuiLyise+u4 / 25
4224+ 0.0
-35.01+ 0.00
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TVC(cbch) (0,6,1

AT 1 nuiLoo/e+u4 /25
Fee,, po 4198+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

~nu ryze+u4 [ 25
e, pO 4179+ 0.0
pL -35.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 6,9

T nai fbae+ud [ 25
= po 4228+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(C, bch) (0,6,13

T 1 nui yzae+ud [ 25
- pO 4217+ 0.0
pl -35.19+ 0.00

TP delay [ns]
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TVC(cbch) (0,6,2)

AT 1nui4zse+04 /25
- po 4203+ 0.0
L pl -35.74 + 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

T nuiL8b/e+u4 / 25
- pO 4198+ 0.0
F Pl 3594+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

©1nug 38e+u4 | 25
. po 4253+ 0.0
- pl -37.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

~ 1 nuiLyuse+u4 / 25
- pD 4221+ 0.0
[ p1 -35.88 + 0.00

3000

TP delay [ns]
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1000
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TVC(cbch) (0,6,3

AT rnuiLs1oe+ud /25
- po 4220+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

-1 i Ygye+u4 / 25
- pO 4195+ 0.0
p1 -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

T zs4e+u4/25
= po 4267+ 0.0
pl -37.58 + 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T inuiL s oe+ud [ 25
- pO 4222+ 0.0
p1 -35.62+ 0.00

TP delay [ns]
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0
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TVC(cbch) (0,7,0

A™ 1L 448e+04 [ 25
- po 4202+ 0.0
pl -37.52 0.00

TP delay [ns]

TVC(cbch) (0,7,4

- rnuz,u83e+u4 / 25
- pO 42214 0.0
pl -35.51+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

T rnuzgg1e+u4 | 25
= po 4235+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (0,7,12

T Ly se+u4 | 25
= po 4221+ 0.0
pl -34.61+ 0.00
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pl -37.82+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 nuz.0uze+u4 / 25
- pO 4225 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

T nup.145e+04 / 25
- pO 4243+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

-1 nuiyyze+ud / 25
= pO 4239+ 0.0
pl -36.63+ 0.00
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pl -38.12+ 0.00
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- rnunLyzze+u4 | 25
- pO 4225+ 0.0
[ pl -35.42+ 0.00
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TP delay [ns]

TVC(cbch) (0, 7 10

1000

Tnuggr1e+u4 /25
e, po 4258+ 0.0
I pl -36.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

T L ysse+u4 / 25
- pD 4239+ 0.0
L pl -35.86 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT rnuiLruse+ud [ 25
- po 4232+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

S rnu3s/e+u4 [ 25
- pO 4220+ 0.0
p1 -34.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

T, 14ue+u4/25
= pO 4261+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(C, bch) (07,15

1 nuiz.uzoe+ud / 25
e pO 4251+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0

A7 1 nui oooe+ud / 25
' po 4216+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (08,4

- i b3ve+ud / 25
pO 4219+ 0.0
pl -35.00+ 0.00

0

TP delay [ns]
TVC(cbch) (0.8,8)
Trnung3ne+ud /25
- PO 4239+ 0.0
pl -36.56 :;‘
TP delay [ns]
TVC(c,b ch) (0o, 8 12

T zuse+ud /25
pO 4256+ 0.0
pl -37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT 1 nuiLogoe+ud [ 25
=N po 4201 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

- 1nuiLbrge+ud / 25
- pO 4213+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

~nairYroe+ud [ 25
- pO 4254+ 0.0
pl -36.02 + 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

T inuzusie+ud [ 25
= pO 4266+ 0.0
pl -37.19+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,2)

AT 1nuoise+ud /25
po 4214+ 0.0
p1 -35.84+ 0.00

TP delay [ns]

TVC(cbch) (0,86

-1 nunLy83e+u4 [ 25
pO 4235+ 0.0
358+ 0.0

TP delay [ns]

TVC(cbch) (0, 8 10

T,/ r4e+04 [ 25
po 4283+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(cbch) (0,814

1 nuizuy4e+ud | 25
pD 4265+ 0.0
pl -37.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT 1 nuiLB14e+U4 [ 25
- po 4232+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

-1 nui yule+ud / 25
pO 4241+ 0.0
pL -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

ERALEVX b/de+U4/25
- po 4276+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(C, bch) (0,815

Tnui g rse+ud [ 25
= pO 4257+ 0.0
p1 -36.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

AT r3se+04 /25
Peee.. po 4184+ 0.0
pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (0,9,4

- 1L bsze+u4 [ 25
- pO 4182+ 0.0
pl -35.52:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 9,8

T rnuzbu/e+u4 [ 25
po 4217+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

Trnuizzyre+u4 | 25
4222+ 0.0
-35.41+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT 1 nunLbyze+ud [ 25
peee,, po 4180+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

“nuiLYsre+u4 [ 25
e, pO 4200+ 0.0
p1 -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 9,9

T nun 5ooe+u4 [ 25
= po 4213+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

T inuiz 115e+ud [ 25
= pO 4198+ 0.0
pl -34.55+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

K™ 1 nui ozse+V4 /25
- po 4200+ 0.0
[ p1 -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,6

- 1 nurL9u4e+ud [ 25
- pO 4200+ 0.0
[ pl -35.78 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

1000

T nuig1z9e+04 / 25
= po 4249+ 0.0
- pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (0,9,14

T 1yoe+ud /25
- pD 4209+ 0.0
L pl -34.24.+ 0.00

- C = 29.21 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

AT rnuiLsble+ud [ 25
- po 4202+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (0 9,7

-1 nu 10be+u4 / 25
e, pO 4217+ 0.0
pL -36.76+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 9

T z/4e+u4/25
- pO 4247+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T nanzuve+ud | 25
= po 4225+ 0.0
p1 35+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

[ C =29.20 [ps/ch]

T L psse+u4 [ 25
™ pO 4209+ 0.0
-34.25+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,104

=i gb3e+ud / 25
e, pO 4226+ 0.0
pl -36.66 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

1 nuiLyode+u4 | 25
= po 4215+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (0,10, 12

© 1L ysse+u4 / 25
= po 4261+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

A1 Ui orae+ud [ 25
= po 4206+ 0.0
pl -34.41 0.00

TP delay [ns]

TVC(c, bch) (0,10,5

- nui soBe+u4 [ 25
- pO 4234+ 0.0
pL -37.38 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

~ 1 nuig sUbe+u4 / 25
= po 4233+ 0.0
pl -36.62 + 0.00

TP delay [ns]

TVC(cbch) (010,13

~ 1 nuiL ysse+ud / 25
- pO 4255 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (o, 10 2)

TrnuiLpr1e+ud [ 25
__ pO 4215+ 0.0
- pl -34.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,10,6

1000

T LY/ /e+u4 [ 25
- pO 4236+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

T 1nuz.415e+04 / 25
- po 4254+ 0.0
L pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (0.10,14

1000

~ 1 nuiLyode+ud | 25
- pD 4263+ 0.0
L pl -37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT 1L sse+u4 [ 25
o po 4230+ 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

- nu 324e+04 [ 25
- pO 4259+ 0.0
pL -37.29+ 0.00

50 100

TP delay [ns]

TVC(cbch) (o, 10 1

T onan2uze+u4 | 25
- po 4250+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

-1 nuiz.u4oe+ud [ 25
= pO 4257+ 0.0
p1 -37.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

K™ 1 nuiooie+u4 /25
4158+ 0.0
-34.71+ 0.00

1
50 100

TP delay

TVC(cbch) (0,11,4

[ns]

T i, rzse+04 | 25
4165+ 0.0
-34.13+ 0.00

oo po
p1
[ C =29.30 [ps/ch]y, 7
% i
TP delay [ns]
TVC(cbch) (0, 11 8) —
T Uz pbse+ud 5
. po 4188:‘
pl -34.79+ 0.00

TP delay

TVC(cbch) (0,11, 12

[ns]

AT 1nuiLyzie+u4 /25
- po 4214+ 0.0
pl -35.77 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

- po

AT 1 nuiLb34e+u4 [ 25
4161+ 0.0
pl -35.28 + 0.00

TP delay

TVC(cbch) (0,11,5

[ns]

-1 nui ggle+u4 / 25
4191+ 0.0
pl -34.93 % 0.00

TP delay

TVC(eh.eh)=(0, 11, 9

= po

[ns]

T nur.uL3e+ud / 25
4210+ 0.0
p1 -34.77+ 0.00

TP delay

TVC(cbch) (0,11,13

== po

[ns]

T inuiLgoe+ud [ 25
4207+ 0.0
pl -35.58 + 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

=, PO

~ L psse+u4 / 25
4176+ 0.0
pl -35.18+ 0.00

TP delay

TVC(cbch) (0,11,6

= PO

[ns]

- i, rzge+u4 [ 25
4213+ 0.0
pl -36.04 + 0.00

TP delay

[ns]

TVC(cbch) (0,11, 10)

X~ 1z sg1e+04 [ 25
bese, po 4198+ 0.0
o pl -34.38+ 0.00

TP delay

TVC(cbch) (011,14

. DD

[ns]

T rnuizuroe+ud [ 25
4219+ 0.0
pl -36.16 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

e po

AT rnuiLsuLe+u4 [ 25
4185+ 0.0
pl -35.11 + 0.00

TP delay

TVC(cbch) (0,11,7

e pO

[ns]

-1 nun B33e+04 / 25
4197+ 0.0
pl -34.27 + 0.00

TP delay

TVC(e.b.eh=(0, 11, 11

= pO

[ns]

T nuiz.r44e+04 25
4215+ 0.0
pl -35.32+ 0.00

TP delay

TVC(c, bch) (0,11,15

= po

[ns]

T nui y4ne+ud [ 25
4212+ 0.0
-34.91+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T rnuiLsule+u4 /25
.. pO 4209+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (0,124

- i bo3e+ud / 25
pO 4218+ 0.0
pl -37.88:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

T z.29e+04 /25
= po 4205+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

~rnuiLgove+u4 / 25
= po 4220+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

AT 1L ssye+ud [ 25
P, po 4218+ 0.0
pl -37.77+ 0.00

TP delay [ns]

TVC(cbch) (0,125

=1 nui Bye+u4 / 25
e pO 4209+ 0.0
pL -37.32:+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

~ 1 nu.z8ze+u4 [ 25
= po 4225+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (012,13

T inuzysle+ud / 25
= pO 4223+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(CbCh) (0,12,2)

A7 1 nui ouse+u4 / 25
_- po 4214+ 0.0
o pl -36.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

-1 i Bobe+u4 / 25
- pO 4214 0.0
[ pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

Tz ysie+ud | 25
. po 4239+ 0.0
- pl -36.51+ 0.00

3000

1000

0

TP delay [ns]

TVC(cbch) (0.12,14

T LBy e+u4 [ 25
- pD 4230+ 0.0
[ p1 -35.85+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT 1L bzoe+ud [ 25
- po 4238+ 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

=1 nui yyve+u4 / 25
- pO 4242+ 0.0
pL -37.31% 0.00

50 100
TP delay [ns]

TVC(eh,eh)=(0, 12, 11

Tonanz./1e+u4 /25
= pO 4251 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T nui ss3e+ud [ 25
= pO 4230+ 0.0
p1 -36.34+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 13 0)

© 1z osse+u4 | 25
4216+ 0.0
p1 -36.06 + 0.00

TP delay

TVC(Cbch) (o, 13 4

[ns]

-1z bBbe+ud / 25
4236+ 0.0
-37.11+ 0.00

= pO
pl
- C N
. =
TP delay [ns]
TVC(c,b, ch) (0, 13 8) =
T nuyg 198e+u4 5
e pO 4263:‘
-34.55+ 0.00
[ C=28.94[ps/ich] ™, 1

TVC(chh) (0,13,1)

4000 [ po

AT 1 nuzyo1e+u4 [/ 25
4215+ 0.0
p1 -37.01# 0.00

3000

2000

1000

TP delay

TVC(c,b Ch) (0, 13 5

4000 [ pO

pl

[ns]

-1 nuz.us3e+usd / 25
4239+ 0.0
-37.14+ 0.00

3000

2000

1000~ C

50 150
TP delay

TVC(eb.oh)=(0, 13, 9

4000 e DO

pl

[ns]

~ 1 nuy gUBe+u4 | 25
4286+ 0.0
-34.57 + 0.00

3000

2000

1000 C = 28.92 [pS/Ch]

0

50

1
100

50

1
100

TP delay [ns]

TVC(Cbch) (o, 13 12

AR aazewA 125
20005 pO 4252+ 0.0
pl -34.58 + 0.00
3000 - 7
2000 - ]
10r C =28.92 [ps/ch]™_ 1
-
-
PR R B
50 100

TP delay [ns]

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (0, 13 13

Tanaeg.ze+u4 [ 25
- pO 4252+ 0.0
p1 -35.9+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

TVC(CbCh) (0,13,2)

- po

X~ 1wz go1e+u4 [ 25
4221 0.0
p1 -35.64 + 0.00

TP delay

TVC(Cbch) (o, 13 6

[ns]

- 1nuzylie+ud / 25
4260+ 0.0
pl -37.33+ 0.00

- b
F C = 26.79 [ps/ch .
= 100 i
TP delay [ns]

TVC(cbch) (0, 13 10

: )
11 bole+us [ 25
- po 4305:‘
[ pl -34.85+ 0,00
- C = 28.69 [ps/ch™, 1

50

1
100

TP delay [ns]

TVC(CbCh) (o, 13 14

4000

3000
2000

1000

T rnuig.1roe+u4 [ 25
- pD 4251+ 0.0
L pl -35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

e po

A~ 1 nuzbUle+ud / 25
4240 0.0
pL -37.32:+ 0.00

TP delay

TVC(c,b Ch) (0, 13 7

o= pO

[ns]

- 11U .uYoe+u4 / 25
4252+ 0.0
p1 -36.66+ 0.00

50 160
TP delay

TVC(Cbch) (0, 13 11

- pO

[ns]

T nug. r48e+04 / 25
4304 £ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 15

- i s.19e+04 / 25
- pO 4269+ 0.0
pL -36.7 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

e, pO

T L, r40e+04 [ 25
4183+ 0.0
pl -36.58 + 0.00

TP delay

TVC(cbch) (0,144

[ns]

-1 nuiL, 748e+04 | 25
4204+ 0.0
-34.78 + 0.00

== po
pl
e 4
% i
TP delay [ns]
TVC(cbch) (0, 14 8

T 3.3/e+04 /25
4203+ 0.0
-35.5+ 0.0

TP delay

TVC(cbch) (0,14,12

e, po
p1

[ns]

T s1e+u4 /25
4224+ 0.0
-36.1+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

e, po

AT 1 nuLsloe+ud [ 25
4196+ 0.0
pl -35.91+ 0.00

TP delay

TVC(c, bch) (0,14,5

[ns]

- i rzge+u4 / 25
4207+ 0.0
pl -35.02+ 0.00

TP delay

TVC(c, bch) (0, 14 9

==, po

[ns]

T nun s goe+u4 [ 25
4219+ 0.0
pl -36.18 + 0.00

TP delay

TVC(cbch) (0.14,13

- pO
p1

[ns]

T inai rzye+ud [ 25
4226+ 0.0
-36.5+ 0.0

TP delay

[ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,14,2)

1000

= po

A7 1 nun ssye+u4 / 25
4201+ 0.0
pl -35.99 + 0.00

TP delay

TVC(cbch) (0.14,6

pO
p1

[ns]

- L y33e+u4 / 25
4207+ 0.0
-34.14 + 0.00

- C = 29.29 [ps/ch]

50 10‘0
TP delay

TVC(cbch) (0, 14 10

= 90

[ns]

T 1nuzpsbe+ud | 25
4232+ 0.0
pl -36.11+ 0.00

TP delay

TVC(cbch) (0.14,14

- PD

[ns]

T, ryze+u4 | 25
4240+ 0.0
pl -37.27+ 0.00

TP delay

[ns]

TVC(Cbch) (0,14,3)

AT 1 nuiLsYae+U4 [ 25
4199+ 0.0
pl -35.33+ 0.00

4000 (e

po

3000

2000

1000

TP delay

TVC(c, bch) (0,14,7

wr

2000 pO

[ns]

1 ze+04 /25
4207+ 0.0
p1 -34.71% 0.00

3000 -

2000 -

wool C = 28.81 [ps/ch

TP delay

TVC(ehch)=(0, 14, 11

4000 £ pO

[ns]

T nuiz s35e+u4 / 25
4231+ 0.0
-36.2+ 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (0,14,15

4000 [u.

[ns]

T nui sule+ud / 25
4245+ 0.0
p1 -37.46+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,15,0)

[ C =29.64 [ps/ch]

AT ryre+u4 /25
.. po 4195+ 0.0
-33.74+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,154

T b8 /e+u4 [ 25
- pO 4210+ 0.0
p1 -36.14+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

Tz z3oe+u4 | 25
= po 4219+ 0.0
pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T rnuizusle+ud | 25
= po 4230+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(chh) (0,15,1)

A7 1 nuiLboye+ud [ 25
4000 [ po 4194+ 0.0
pl -33.2+ 0.0

3000 |- =
2000 = N
w00 C = 30.12 [ps/ch] -]

TP delay [ns]

TVC(cbch) (0,155

4000 S

3000

2000

1000

-1 nui byze+u4 / 25
pO 4212+ 0.0
p1 -36.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

Tonun s 3e+u4 [ 25
4000 em, pO 4257+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (0.15,13

4000 [

3000 -

2000

1000 |~

T inuiysae+ud [ 25
pO 4221% 0.0
pl -34.84+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

- i b3ve+ud / 25
- pO 4218+ 0.0
[ pl -36.56 + 0.00

AT 1nuiszse+04 /25
__ po 4217+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 15 10

T nuizplie+ud / 25
-, po 4277+ 0.0
L pl -36.22 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 14

T rnuiLyive+ud / 25
- pD 4218+ 0.0
L pl -34.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

AT 1 nuiLouve+ud [ 25
po 4212+ 0.0
pl -35+ 0.0

TP delay [ns]

TVC(c, bch) (0,157

-1 nui ysae+u4 [ 25
- pO 4234+ 0.0
pL -36.71% 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C =28.94 [ps/ch]

T onan 1 yoe+ud / 25
po 4253+ 0.0
p1 -34.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0, 15,15

T nui yzae+ud [ 25
= pO 4227+ 0.0
p1 -35.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

A7 nunL suse+ud / 25
P, po 4183+ 0.0
pl -36.36+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (10,4

- Bz1e+u4 / 25
4165+ 0.0
-36.1+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T z1ve+u4 /25
= po 4189+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

Tz 149e+04 / 25
= po 4201+ 0.0
pl -35.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

AT rnunr1se+ud [ 25
' po 4185+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O

- 1oL B8oe+U4 25
pO 4174+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

T nugnb/e+ud [ 25
po 4210+ 0.0
p1 -34,68 £ 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

Tinuzzroe+ud [ 25
pO 4201% 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

K™ 1 nui ryoe+u4 / 25
P po 4179+ 0.0
- pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

T LB ye+ud [ 25
-, pO 4184 0.0
3 pl -35.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

T nuiz41ze+04 /25
= po 4228+ 0.0
- pl -34.88 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

Tz oe+u4 [ 25
= pD 4214+ 0.0
L p1 -37.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT 1L ssse+u4 [ 25
- po 4202+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

“rnuz0rze+u4 25
e, pO 4195+ 0.0
p1 -36.42:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T, 1bze+u4/25
4236+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (1,0,15

1 nuiz.zyoe+ud 25
- pO 4207+ 0.0
p1 -36.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0

AT inuiLorse+ud /25
P po 4176+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (11,4

T rnuaLBu/e+ud [ 25
- pO 4176+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

1 nuizgoge+u4 / 25
= po 4195+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(cbch) (1,1,12

T r4se+04 | 25
= po 42114 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

A 714e+04 [ 25
e po 4196+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

=1 nui Yoze+ud [ 25
o pO 4194 0.0
pL -36.19+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

T inun.y/e+ud [ 25
[, 4219+ 0.0
-34.38 + 0.00

[ C =29.08 [ps/ch] ]

50 1[;0
TP delay [ns]

TVC(cbch) (1,1,13

T inui gse+ud [ 25
- pO 4204+ 0.0
pl -36.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (1,1,2)

TP delay [ns]

TVC(cbch) (11,6

AT 1nui 71oe+04 /25
__- po 4195+ 0.0
o pl -35.38+ 0.00

3000

-1z, 0s3e+u4 / 25
- pO 4202+ 0.0
[ pl -36.08+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 1, 10

T z.59e+04 /25
-, po 4227+ 0.0
- pl -34.49 + 0.00

- C = 28.99 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,114

Tz 145e+04 / 25
= pD 4214+ 0.0
+ pl -36.89 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

A7 1L buye+ud [ 25
P, po 4203+ 0.0
pl -35.04+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

~1nuz.0ree+u4 / 25
- pO 4202+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
- nui ygse+ud / 25
- po 4230+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

T nui ssye+ud [ 25
- pO 4204+ 0.0
p1 -35.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

A1 3use+ud /25
e po 4195 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(cbch) (1,24

TnanL//e+u4 /25
e, pO 42131 00
Pl 3593+ 000

50 10'0
TP delay [ns]

TVC(ebch)=(1,2,8

- Zzoe+ud [ 25
- pD 4197+ 0.0
p1 -35.02:+ 0.00

TP delay [ns]

TVC(cbch) (1,212

1 y3ze+04 [ 25
= po 4240+ 0.0
p1 -36.78+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT 1 nuiLo1se+u4 [ 25
. po 4196+ 0.0
p1 -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

~ 1 nuiL g44e+04 | 25
pO 4231% 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (1,29

T nuglyle+ud / 25
pO 4219+ 0.0
p1 -35.16+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 2 13

T inai rsse+ud [ 25
pO 4238+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,2,2)

A~ 1 454e+04 /25
_- po 4209+ 0.0
L pl -35.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

- i gzge+u4 [ 25
- pO 4240+ 0.0
[ pl -36.03+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1000

-1 nuzylge+ud [ 25
o=, po 4228+ 0.0
o pl -35.22 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 2 14

1000

-z iverud /25
o=, pD 4239+ 0.0
L pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

A~ 1 nuiL409e+U4 / 25
= po 4203+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

- nuz 115e+04 / 25
- pO 4236+ 0.0
p1 -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (L2

T ys/e+u4/25
= pO 4250+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2 15

- slze+ud [ 25
= pO 4235+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0

AT inuiLyrse+ud /25
.. po 4206+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (1,34

T i 743e+04 / 25
[, PO 4200+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T rnuzpole+ud [ 25
- po 4230+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (1,312

T rnuiLysie+u4 / 25
- po 4194+ 0.0
pl -33.46 + 0.00

[ C =29.88 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31

AT 1L ysze+ud [ 25
e, po 4207+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

-1 nui B31e+u4 / 25
E pO 4231% 0.0
pL -38.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,9

~ 1 nuig szee+u4 25
- pO 4248+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (1,3,13

T nui ygse+ud [ 25
feee. 4195+ 0.0
-33.57+ 0.00

[ C =29.78 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

TP delay [ns]

TVC(cbch) (1,36

K™ 1 nuiz.ug4e+04 /25
_- po 4210+ 0.0
L pl -36.17 + 0.00

3000

T i 735e+04 [ 25
3 pO 4231 0.0
[ pl -38.35+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1000

©1nuizuzoe+u4 | 25
. po 4270+ 0.0
- pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (1,3 14

Sruae 75120125
-, pD 4190+ 0.0
L p1 -33.48+ 0.00

- C = 29.87 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

T/ Lyoe+ud /25
- pO 4225+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

Srna 1 /e+04 /25
- pO 4237+ 0.0
pL -37.97+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

EEALEVX u49e+u4/25
- po 4253+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,315

T inuzzgle+ud [ 25
= pO 4199+ 0.0
-34.15+ 0.00

[ C =29.28 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

K™ nuisuie+ud /25

-38.41+ 0.00

4221+ 0.0

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

= 1L ysbe+ud / 25

= pO 4203+ 0.0
pl -35.08:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

T a8 roe+u4 [ 25
- pO 4243+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (1,4,12

©rnuizuyse+ud | 25
= po 4208+ 0.0
pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT 1nuiLb//e+ud [ 25
F po 4225+ 0.0
pl -38.98 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

- rnu izse+ud [ 25
== po 4217+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

<1 nu. ysae+ud [ 25
- po 4270+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

T naiL rUoe+ud | 25
- pO 4217+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

F - PO

AT 1nuisz1e+04 /25

p1 -38.11+ 0.00

4227+ 0.0

TP delay [ns]

TVC(cbch) (14,6

112, 354e+04 [ 25

- pO 4222+ 0.0
[ pl -36.58+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

© a2 yoze+ud | 25
- DO 4290+ 0.0
L pl -37.47 + 0.00

TP delay [ns]

TVC(cbch) (1,4,14

~ i yzae+04 [ 25
- pD 4220+ 0.0
L p1 -35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

AT rnuiLrure+ud [ 25
=, po 4229+ 0.0
pl -37.77+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

S nun 224040425
= po 4228+ 0.0
pl -35.84 % 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

1)
T nuiz zzoe+u4 [ 25
- po 4278+ 0.0
p1 -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

T inuizyrse+ud [ 25
= pO 4212+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0

K™ nug 1ose+u4 / 25
- po 4192+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (1,54

- i gsze+ud [ 25
e, pO 4224+ 0.0
pl -36.07:+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (1, 5 8

T nug.zise+u4 [ 25
PD 4235+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(cbch) (1,512

1z gs0e+u4 | 25
pO 4252+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

A1 daverud | 25
F.. po 4196+ 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nuz.0uye+ud / 25
pO 4225 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

Tinan1yule+us /25
- po 4260+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(C, bch) (1,5,13

T inuzysse+ud [ 25
- pO 4248+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,5,2)

TP delay [ns]

TVC(cbch) (1,556

A7 1 nui goe+ud / 25
Freee po 4201+ 0.0
- pl -35.76 + 0.00

3000

- rnu 2yze+04 [ 25
- pO 4242+ 0.0
[ 368+ 0.0

TP delay [ns]

TVC(cbch) (1, 5 10

1000

0

T 1nug.1z9e+04 / 25
- po 4274+ 0.0
- pl -37.03 + 0.00

TP delay [ns]

TVC(cbch) (1,5,14

T rnugbse+ud [ 25
- pD 4247+ 0.0
L -35.61+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

[ C=28.44 [psi/ch

AT rnuzyLe+ud [ 25
= po 4210+ 0.0
pl -35.16+ 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

-1 nuz.0yve+u4 / 25
- pO 4243+ 0.0
pL -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

T za4e+u4/25
- pO 4281+ 0.0
-37+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,5,15

Tinanzale+ud | 25
- pO 4257+ 0.0
-35.71+ 0.00

TP delay [ns]



TVC(cbch)(lGO) TVC(cbch)(lGl) TVC(cbch)(162) TVC(cbch)(163)
K™ 1 nuiLgose+ud /25 AT 1 nuLysye+ud [ 25 A7 1 nui gose+u4 / 25 AT 1z, 1u4e+ud [ 25
4000 - PO 4194+ 0.0 4000 - po 4198+ 0.0 4000 __- po 4205+ 0.0 4000 [ po 4213+ 0.0
pl -37.2+ 0.0 pl -36.74 % 0.00 : pl -37.56 + 0.00 pl -35.99+ 0.00

3000 - -1 3000

-1 3000 -1 3000

2000~ 1 2000 = 2000 -1 2000

=1 1000

1000 C = 26.88 [pS/C - 1000 ] 1000 E
0 £ oo - 0 of 50 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,6.4) TVC(cbch) (165) TVC(cbch) (16,6) TVC(cbch) (16,7)
Crna15/e+04 /25 =1 i bube+u4 / 25 - rnuiL481e+04 / 25 - nu /3be+04 / 25
4000 [, pO 4220+ 0.0 4000 pO 4217+ 0.0 4000 (e, pO 4220+ 0.0 4000 4219+ 0.0
pl -36.85 + 0.00 -36.28 + 0.00 3 pl -35.74 % 0.00 -35.2:% 0.0
3000 - -1 3000 = 3000 -— —- 3000 =1
2000 4 2000 B 2000 ] 2000 -
1000 C B 1000 1 moo:— C=27.98 [pS/Ch - 1000 7
0 EY 0o 0 5 100 - EY 0 = 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (1,6,8) TVC(c,b ch) (1,6,9) TVC(c,b, ch) (1,6,10) TVC(c,b ch) (1,6,11)
Tnunz.3ve+u4 /25 ~ g guze+u4 [ 25 © 1 nu,349e+04 [ 25 ~ iz 1u4e+04 1 25
4000 e, pO 4222+ 0.0 4000 e, pO 4241+ 0.0 4000 e, DO 4257+ 0.0 4000 fom, p0 4247+ 0.0
pl -34.92 + 0.00 pL -35.33+ 0.00 3 pl -35.11 % 0.00 pL -34.77 + 0.00

3000 -1 3000 - 3000 - 3000

2000 -1 2000 N 2000 -1 2000

1000 g 1000 T 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(161 ) TVC(cbch)(1613) TVC(CbCh)(lGl ) TVC(cbch)(1615)
Tonu 1 ge+ud /25 T 1ze+u4 [ 25 Tl szie+u4 [ 25 T syre+u4 [ 25
4000 e pO 4232400 4000 pO 4229+ 00 4000 PD 4222400 4000 e, pO 4214% 00
pl -37.4+ 0.0 pl -36.54 + 0.00 : pl -36.17 + 0.00 pl -36.28 + 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 E 2000 E 2000 E 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(l?O) TVC(cbch)(l7l) TVC(cbch)(172) TVC(cbch)(173)
AT 1nuiLgure+ud /25 AT 1 nuzlole+ud [ 25 K™ 1 nui goye+ud / 25 AT 1L yose+ud [ 25
4000 e, PO 4185+ 0.0 4000 - po 4203+ 0.0 4000 __- po 4195+ 0.0 4000 e po 4213+ 0.0
pl -35.52 0.00 pl -36.42+ 0.00 : pl -35.65+ 0.00 pl -36.7 £ 0.0

-1 3000

3000 -1 3000

-1 3000

2000 - 2000 -1 2000 =1 2000

1000 -1 1000 =1 1000 - 1000

0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (1, 7 4) TVC(c,b Ch) (1, 7 ) TVC(c,b Ch) (1, 7 6) TVC(c,b Ch) (1, 7 )
- i 309e+04 / 25 =1 nui bbye+ud / 25 -1 nuiL458e+04 / 25 -1 i Byoe+u4 / 25
4000 fom, pO 4197+ 0.0 4000 e, pO 4195+ 0.0 4000 e, pO 4239+ 0.0 4000 e, pO 4222+ 0.0
Pl -36.88: 0.00 Pl -36.65: 0.00 [ PL_ -37.08%0.00 Pl -37.38+ 000
3000 - 3000 =1 3000 :— —: 3000 -
2000 - 2000 - 2000 3 2000 - -
wol C = 27.12 [ps/c . 1000 . wof C = 26.97 [ps/ch . woof C .
0 EY 00 - 0 0 EY 0 0 5 T -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (1, 7 8) TVC(c,b Ch) (1, 7 9) TVC(c,b, Ch) (1, 7 10) TVC(c,b Ch) (1, 7 11)
~ 1 nu goge+ud / 25 1 nub, byYe+u4 [ 25 T nug.u3/e+u4 /25 T 1/be+u4 [ 25
4000 = pO 4219+ 0.0 4000 pO 4221 0.0 ) DO 4229+ 0.0 4000 P, p0 4239+ 0.0
Pl 3651+ 0.00 Pl -35.83:0.00 [ PL_ -35.98% 0.00 Pl -36.65: 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 B 2000 B 2000 1 2000

1000 e 1000 - 1000 E 1000

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(1712) TVC(cbch)(l?lB) TVC(cbch)(17l ) TVC(cbch)(1715)

TonuL5re+u4 /25 T bige+u4 [ 25 ~ 1 nuiL p4oe+U4 [ 25 T 1 bave+u4 [ 25
4000 e pO 4228+ 0.0 4000 pO 4230£ 00 4000 o, PD 4224% 00 4000} pO 4232+ 00
pl -35.55+ 0.00 pl -36.49+ 0.00 r pl -35.54 + 0.00 pl -35.75+ 0.00

3000 — 3000 N 3000 — 3000 4

2000 4 2000 N 2000 — 2000 1

1000 1 1000 1000

] lo00F C = 27.98 [ps/ch

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0)

T za/e+ud /25
P pO 4174+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (18,4

- i loye+ud / 25
pO 4214 0.0
pl -37.93+ 0.00

L=
50 100
TP delay [ns]

TVC(cbch) (1 8,8

Tz 1zoe+04 | 25
= po 4205+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (1,812

~ L yzoe+u4 / 25
4240+ 0.0
-36.61+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT 1L ysoe+ud [ 25
oo, po 4202+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

=1 nuiLayse+ud | 25
== po 4206+ 0.0
pl -37.45+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1 8,9

1 nu.z40e+04 | 25
= pO 4231+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(C, bch) (1,813

T inui gs1e+ud [ 25
- pO 4221+ 0.0
pl -35.38+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

A~ 1 nuiz.uoze+u4 /25
- po 4205+ 0.0
L pl -36.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (18,6

-1 i bobe+ud / 25
- pO 4209+ 0.0
3 pl -37.14 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

T 1nuz3use+u4 | 25
= po 4242+ 0.0
- pl -36.18 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,814

T 1ve+u4 [ 25
- pD 4238+ 0.0
[ p1 -37.15+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT 1L rsze+u4 [ 25
e, po 4209+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

-1 nui groe+u4 / 25
- pO 4210+ 0.0
pl -37.25+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T, ube+u4125
= pO 4237+ 0.0
p1 -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

Tonai g rse+ud [ 25
= po 4238+ 0.0
p1 -35.94 + 0.00

TP delay [ns]



TVC(cbch)(190) TVC(cbch)(lQl) TVC(cbch)(192) TVC(cbch)(193)
K™ 1nuiLoioe+ud /25 AT 1 nuiLszye+ud [ 25 A7 1 nui ryse+u4 / 25 AT 1 nuiLbaoe+ud [ 25
4000 e ” 00 41965 0.0 4000 [, po 4206+ 0.0 4000 e, po 4202+ 0.0 4000 po 4235+ 0.0
pl -36.22+ 0.00 pl -35.93+ 0.00 r pl -36.33+ 0.00 pl -38.19+ 0.00

3000

- 3000 -1 3000 -1 3000 -

2000 1 2000 =1 2000 -1 2000

1000 - 1000 -1 1000 =1 1000 [~

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,9.4) TVC(cbch) (195) TVC(cbch) (19.6) TVC(cbch) (197)
- i b1oe+u4 / 25 -1 nui by /e+u4 / 25 T i /4/e+04 [ 25 - nu vye+u4 [ 25
4000, pO 4211+ 0.0 4000 e, pO 4224+ 0.0 4000 e pO 4230+ 0.0 4000 e, pO 4235+ 0.0
pl -36.37 + 0.00 pL -36.82.+ 0.00 3 pl -37.05:+ 0.00 pL -36.13+ 0.00
3000 T 3000 B 3000 — — 3000 T
2000 4 2000 - 2000 — — 2000 - -
1000 - 1000 - 1000:— C =26.99 [pS/Ch — 10001 C -
0 0 of EY 0 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (1,9,8) TVC(c,b ch) (1,9,9) TVC(c,b, ch) (1,9,10) TVC(c,b ch) (1,9,11)
- nuiLsuze+u4 / 25 -1y gyse+u4 [ 25 Trnupr1e+u4 /25 T 2ybe+u4 [ 25
ha =Y pO 4182+ 0.0 4000 P, pO 4214+ 00 4000, DO 4231+ 0.0 4000 g, 4223+ 00
pl -34.04+ 0.00 pL -34.75+ 0.00 [ pl -35.68 + 0.00 -34.23+ 0.00
3000 [~ B 3000 B 3000 ' 3000 -
2000 - 2000 — 2000 . 2000 B

] 1000 1000}

ok C = 29.38 [ps/ch] wob C =29.22 [ps/chI\, 1

1 1
0 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(lQl ) TVC(cbch)(1913) TVC(cbch)(191 ) TVC(cbch)(1915)
T L sUse+u4 / 25 T yzse+u4 [ 25 T sz4e+04 [ 25 -1 soye+u4 / 25
i pO 4208+ 0.0 4000 [ 4196+ 0.0 4000 PD 4202+ 0.0 4000, 42104 0.0
pl -34.87 + 0.00 -34.25+ 0.00 : pl -35.42+ 0.00 -34.38 + 0.00
3000 N 3000 [ 1 3000 ' 3000 [ B
2000 B 2000 - 2000 ' 2000 E

1000 1000

1o C = 29.20 [ps/ch] ] oo C = 29.09 [ps/ch] ]

PR BRSNS |
50 100

PR PR S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

1 nui pyze+ud | 25

pl -35.97 + 0.00

4198+ 0.0

TP delay [ns]

TVC(cbch) (1,10,4

T i/ (3e+04 [ 25
- pO 4187+ 0.0
p1 -34.54+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

T nuzpbre+u4 [ 25
= pO 4231+ 0.0
pl -37.37+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

Tz zioe+u4 | 25
= po 4225+ 0.0
-33.99+ 0.00

[ C =29.42 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

AT 1 nuiLbooe+ud [ 25
o=, po 4215+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

=1 nui rb4e+04 [ 25
e pO 4187+ 0.0
pL -35.23+ 0.00

TP delay [ns]

TVCEbeh)=( 1, 10,9

-1 nuis.yyoe+ud / 25
= po 4237+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (110,13

T inuiLyroe+ud [ 25
= pO 4229+ 0.0
pl -33.05+ 0.00

[ C=230.26 [ps/ch] ™, 7]
s *
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

K™ 1 nuingze+04 /25

TP delay [ns]

TVC(cbch) (1,10,6

__— po 4202+ 0.0
- pl -35.03+ 0.00

3000

- nunLgzye+u4 [ 25
- pO 4206+ 0.0
[ pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

Tz 15e+u4 [ 25
= po 4253+ 0.0
- pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (110,14

Tz rge+u4 | 25
- pD 4230+ 0.0
L pl -35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT rnuiLbrye+ud [ 25
po 4199+ 0.0
p1 -34.72+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (1,10,7

- i B3/e+04 / 25
- pO 4219+ 0.0
pL -35.82:+ 0.00

1(;0
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T nuiLyoe+ud [ 25
pO 4279+ 0.0
-38.4+ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,10,15

[ C=29.61 [ps/ch] ]

T nuizusse+ud [ 25
4214+ 0.0
-33.77+ 0.00

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (1,11,0)

K™ 1nuipsie+ud /25
o= po 4202+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (1,114

T L bb/e+ud [ 25
4207+ 0.0
-35.9+ 0.0

50 10‘0
TP delay [ns]

TVC(ebeh)=(L, 11,8

T, 3z1e+04 / 25
= po 4228+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

K71 nui ruze+u4 / 25
po 4242+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

AT 1 nunL rgoe+ud [ 25
.. po 4212+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(cbch) (1,11,5

- nui B4 /e+04 [ 25
- pO 4203 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 9

T inun p.o3e+ud [ 25
= po 4255+ 0.0
pl -37.69 + 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T nuip3sae+ud / 25
pO 4240+ 0.0
pl -36.66 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (1, 11 2)

T ryze+u4 [ 25
- pO 4227+ 0.0
L pl -37.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

1000

-1 nurLy8ye+ud / 25
- pO 4222+ 0.0
[ pl -36.22+ 0.00

TP delay [ns]

TVC(eb,ch)=(1, 11, 10

1000

0

X7 1nuiz r33e+04 /25
= po 4273+ 0.0
- pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

X™ 1L r5re+04 /25
- po 4236+ 0.0
[ p1 -37.41% 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1, 11 3)

T Luve+ud [ 25
- pO 4229+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (1,11,7

- 1nuiLy/be+ud / 25
- pO 4232+ 0.0
pL -36.09+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

T inuizazie+u4 [ 25
- po 4276+ 0.0
p1 -37.12+ 0.00

TP delay [ns]

TVC(cbch) (111,15

T nui p43e+u4 [ 25
e po 4246+ 0.0
p1 -37.59.+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T 43e+04 [ 25
P pO 4156+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (1,124

T i rz9e+04 | 25
- pO 4173 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 12,8

1 nuz5o0e+u4 [ 25
- po 4198+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(cbch) (1,12,12

T L goze+u4 / 25
pO 4195+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT 1 nuiLBb/e+u4 /25
peoe.. po 4165+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (1,125

= 11U y3pe+u4 / 25
o pO 4186+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

T nun.pz1e+u4 / 25
- pO 4204+ 0.0
p1 -34.38 £ 0.00

TP delay [ns]

TVC(cbch) (112,13

- Tonan g yze+ud [ 25
- pO 4193 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

AT 1nun rsse+u4 /25
- po 4175+ 0.0
L p1 -34.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (1126

-1 nuz,u9ve+ud / 25
- pO 4185+ 0.0
3 pl -35.42+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

©1nuzpzge+u4 | 25
= po 4225+ 0.0
L pl -35.64+ 0,00

TP delay [ns]

TVC(cbch) (112,14

T i y4ze+u4 | 25
pD 4209+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

AT rnuzunre+ud [ 25
- po 4181+ 0.0
pl -34.51+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

= 11U bYoe+u4 / 25
- pO 4199+ 0.0
pL -35.63+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

Tonan2.18e+u4 / 25
= po 4217+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- T nui p43e+u4 / 25
po 4197+ 0.0
-35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,13,0)

AT inun.s//e+04 /25
po 4205+ 0.0
pl -37.62+ 0.00

TP delay [ns]

TVC(cbch) (1,134

T a1 /ge+ud | 25
pO 4212+ 0.0
pl -35.31: 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

T rnuiz4n1e+u4 [ 25
= po 4196+ 0.0
pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,13,12

T~z 108e+04 / 25
= po 4253+ 0.0
pl -36.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

A” 1 nun. bbbe+ud [ 25
Foase po 4205+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c, bch) (1,135

“nuzyre+u4 [ 25
4226+ 0.0
-35.7 £ 0.0

50 1(;0
TP delay [ns]

TVCEbeh)=( 1, 13,9

~ 1 nu. 1bYe+ud / 25
po 4254+ 0.0
p1 -34.84 + 0.00

TP delay [ns]

TVC(cbch) (113,13

S zie+ua /25
- pO 4255 0.0
p1 -37.02+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,13,2)

K™ 1 nuir guae+ud / 25
po 4205+ 0.0
p1 -36.9+ 0.0

TP delay [ns]

TVC(cbch) (1,136

- rnuzlse+u4 [ 25
pO 4234+ 0.0
363+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (1, 13 10

T nuig.483e+04 / 25
po 4265+ 0.0
p1 -36.46  0.00

1
100

TP delay [ns]

TVC(cbch) (113,14

T zave+ud /25
pD 4238+ 0.0
pl -36.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,13,3)

AT 1 nuws.oze+ud [ 25
ety po 4228+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

TVC(c, bch) (1,137

“rnu1/1e+04 /25
- pO 4240+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 13, 11

-1 nuiz byse+ud [ 25
- po 4260+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (1,13,15

T inuiz1ule+ud / 25
= pO 4258+ 0.0
p1 -37.18+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 14 0)

~ L oose+u4 [ 25
- pO 4202+ 0.0
p1 -36.9+ 0.0

TP delay [ns]

TVC(cbch) (1,144

- 1L y3pe+ud / 25
e pO 4179+ 0.0
pl -35.96+ 0.00

TP delay [ns]

TVC(cbch) (1,14,8

— T nuB.urbe+u4 / 25
- po 4175+ 0.0
pl -33.32+ 0.00

[ C =30.01 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (1,14,12

T 1pe+ud /25
= po 4262+ 0.0
pl -37.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

AT 1nun L /oe+ud [ 25
P, po 4196 + 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(c, bch) (1,145

- 1 NUR.VA3e+U4 [ 25
™, DU 4193+ 0.0
pl -37.28:+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

~ 1 nu gyse+ud / 25
= pO 4201% 0.0
pl -35.19 + 0.00

TP delay [ns]

TVC(cbch) (114,13

~ 1 nuiLqp9e+ud [ 25
= pO 4255 0.0
pl -37.53+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

TP delay [ns]

TVC(cbch) (1,146

A~ 1nuirore+V4 /25
- po 4214+ 0.0
L pl -36.84 + 0.00

3000

— T rnuzuu/e+ud [ 25
- pO 4176+ 0.0
F Pl -36.64+ 0.00

TP delay [ns]

TVC(e b eh)=( 1, 14,10

© 1z, ro9e+u4 [ 25
o=, po 4225+ 0.0
o pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (1, 14,14)

1000

e Trz14725
- pD 4262+ 0.0
L p1 -37.12:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

AT nun Lose+ud [ 25
- po 4231+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

-1 nuz.uyle+ud / 25
- pO 4200+ 0.0
pL -36.32:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

"1 nuiz.p1ye+ud / 25
= po 4216+ 0.0
p1 -34.42+ 0.00

[ C =29.06 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,14,15

Tnai g roe+ud /25
4256+ 0.0
-36.71+ 0.00

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

© L, rose+u4 [ 25
- pO 4207+ 0.0
p1 -38.1+ 0.0

TP delay [ns]

TVC(cbch) (1,154

- i sy1e+ud / 25
- pO 4227+ 0.0
366+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

T 3rze+04 /25
- po 4228+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T yze+ud /25
= po 4235+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(chh) (1,15,1)

4000 e po

p1

AT 1 nuiLBr4e+U4 [ 25
4209+ 0.0
-37.41+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (1,155

4000 fam, pO

pl

-1 nuz.uzbe+ud / 25
4230+ 0.0
-36.34 + 0.00

3000 -

2000

1000 [~ C

1
50 100

TP delay [ns]

TVC(c, bch) (1,15,9

X1 g,

4000 [, PO
pl

145e+04 | 25
4260+ 0.0
-36.48 + 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (115,13

4000 [

Tinaisz/e+ud [ 25
4231+ 0.0
-35.55+ 0.00

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

TP delay [ns]

TVC(cbch) (1,156

AT 1nuiry1e+04 /25
_l' po 4230+ 0.0
L pl -38.32+ 0.00

3000

-1 nuz,usge+ud / 25
- pO 4231 0.0
[ pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10)

1000

0

T, [ r5e+04 | 25
- po 4274+ 0.0
- pl -37.28 + 0.00

TP delay [ns]

TVC(cbch) (1,15,14)

~rnuiLgude+u4 [ 25
- pD 4238+ 0.0
L pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT 1 nun zuve+ud [ 25
4219+ 0.0
pl -36.95+ 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

-1 nug 144e+04 / 25
4233+ 0.0
pl -35.42 % 0.00

TP delay

TVC(ebeh)=(1, 15, 11

Tonan 2 32e+04 1 25
4292+ 0.0
pl -36.44 + 0.00

pO

[ns]

TP delay

TVC(cbch) (1,15,15

[ns]

Tinuzisie+ud [ 25
4237+ 0.0
p1 -35.34+ 0.00

TP delay

[ns]



TVC(cbch)(ZOO) TVC(cbch)(ZOl) TVC(cbch)(202) TVC(cbch)(203

T Love+ud /25 AT 1 nuLBsoe+ud [ 25 K™ 1 nuisuie+ud /25 AT rnuiLyzse+ud [ 25
4000, po 4207+ 0.0 4000 F,, po 4222+ 0.0 4000, PO 4215+ 0.0 4000 e po 4208+ 0.0
pl -37.69 0.00 pl -37.55+ 0.00 r pl -36.6+ 0.0 pl -36.37 + 0.00

3000

1 3000 =1 3000 -1 3000 -1

2000 1 2000 = 2000 = 2000

1000 7 1000 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (2,0,4) TVC(cbch) (2,0,5) TVC(cbch) (2,0,6) TVC(cbch) (2,0,7)
-1y b1ye+ud / 25 =1 Uy Bobe+u4 [ 25 “ iy 715e+04 [ 25 - Uy 332e+04 / 25
4000@ pO 4194+ 0.0 4000, pO 4197+ 0.0 4000 [, pO 4215+ 0.0 4000 f pO 4215+ 0.0
Pl -34.841 0.00 -34.56 £ 0.00 L Pl -3547%0.00 Pl -34.750.00
3000~ B 3000 - 3000 — — 3000 E
2000 ] 2000 ] 2000 — — 2000 -
1000 C 1 1001 C = 28.93 [ps/ch] B 1000:—(: =28.19 [ps/ch . _ woor C = 28.78 [ps/ch] 2 ]
1 1 - 1 1 - : 1 1 - 1 1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(2,0,8) TVC(eb.eh)=(2,0,9) TVC(eb.eh)=(2,0,10) TVC(eb.eh)=(2,0,11)
©nu 3use+ud / 25 T rnun.bure+u4 [ 25 © 1 nug.498e+u4 / 25 ~nun zoge+ud [ 25
i pO 4189+ 0.0 000, pO 4201 0.0 ) DO 4228+ 0.0 4000 P, p0 4237+ 0.0
Pl -35.09: 0.00 Pl -35.93: 0.00 [ Pl -36.44% 0.00 Pl -36.22: 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 - 2000 - 2000 -1 2000

1000 ] 1000 - 1000 = 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(ZOl ) TVC(cbch)(2013) TVC(CbCh)(ZOl ) TVC(cbch)(2015)
1z so4e+04 / 25 1 nuiz sboe+ud / 25 ~ 1 nuiz.4s8e+04 | 25 1 nuiz.0zoe+ud [ 25
4000 k=, PO 4207+ 0.0 4000 PO 4223+ 0.0 4000 __- PD 4220+ 0.0 4000 g, PO 4206+ 0.0
p1 -34.46 + 0.00 p1 -35.75+ 0.00 I pl -35.18+ 0.00 pl -34.65+ 0.00

-1 3000

3000 _ 3000 - 3000 -1

2000 - 2000 - 2000 -1 2000

1000 1000 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0

A~ 1 nuig ooye+ud / 25
p— po 4222+ 0.0
pl -40.36 + 0.00

TP delay [ns]

TVC(cbch) (21,4

- i B3ge+u4 / 25
4179+ 0.0
-35.41+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 1,8

Tz, (z9e+04 | 25
po 4217+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (21,12

~1nuz, sose+u4 / 25
= po 4206+ 0.0
pl -35.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

AT 1 nus. Lyoe+ud [ 25
[ po 4217+ 0.0
pl -39.16 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

-1 nu 18be+u4 / 25
Frwe pO 4195+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

T nun 3 /0e+ud [ 25
- pO 4244+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (21,13

Tinuiz/e+ud [ 25
= pO 4228+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

AT 1 nuig syze+u4 /25
_l'_ po 4221+ 0.0
- pl -37.95+ 0.00

TP delay [ns]

TVC(cbch) (2,1,6

- 1nuLy34e+04 [ 25
F.-.. pO 4199+ 0.0
[ pl -35.88+ 0.00

TP delay [ns]

TVCebeh)=(2 1, 10

© 1 nuiLy44e+04 [ 25
- po 4244+ 0.0
- pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (21,14

Tz 3r4e+04 /25
I pD 4223+ 0.0
L -36.34 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

- PO

AT 1 nus.save+ud [ 25
4229+ 0.0
pl -37.98+ 0.00

TP delay

TVC(c,b ch) (2 1,7

[ns]

-1 nuz Ugbe+u4 / 25
4199+ 0.0
-35.8+ 0.0

50 1(;0
TP delay

TVC(c,b ch) (2, 1

= pO

[ns]

T U/e+u4/25
4249+ 0.0
pl -36.69 + 0.00

TP delay

TVC(cbch) (21,15

[ns]

T inuizzrye+ud [ 25
4205+ 0.0
-36+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

2.2e+V4 125
4177+ 0.0
-35.14 + 0.00

A1

' po
pl

TP delay [ns]

TVC(cbch) (2,24

P, PO
pL

T rnan14/e+04 /25
4199+ 0.0
-37.36+ 0.00

50 100

TP delay [ns]

TVC(ebch)=(2,2,8

B pD

©1nuzbz9e+u4 | 25
4192+ 0.0
-35.34+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

Trnuzzsie+u4 | 25
4238+ 0.0
-37.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

AL

=, po

p1

Bsole+ud /25
4189+ 0.0
-36.32+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

- /Ui broe+u4d / 25
4184+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

po

pl

~ 1 nug g49e+u4 25
4236+ 0.0
-35.61+ 0.00

TP delay [ns]

TVC(C, bch) (2,213

T nuiz sgbe+ud [ 25
4224+ 0.0
-36.33+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

™, po

K™ 1 nuiLguse+ud / 25
4194+ 0.0
-36.8+ 0.0

pl

TP delay

TVC(cbch) (2,2,6

pO
p1

[ns]

- i ro9e+u4 [ 25
4199+ 0.0
-37.13+ 0.00

TP delay

TVC(ebeh)=(2,2, 10

= 90

[ns]

T 1nuiz.a4/e+04 /25
4229+ 0.0
pl -36.14 + 0.00

TP delay

TVC(cbch) (2,214

- pD

[ns]

Tz 185e+u4 / 25
4230+ 0.0
pl -37.06 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

Bsose+u4 | 25
4206+ 0.0
-37.68+ 0.00

AL

= PO

pl

TP delay [ns]

TVC(c,b ch) (2 2,7

REAITDR
pO
pl

135e+U4 / 25
4202+ 0.0
-37.02+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2, 2

= pO

AL ssue+u4/25
4222+ 0.0
-35.48 + 0.00

pl

TP delay [ns]

TVC(C, bch) (2,2, 15

X1 nan 2,

e po
p1

Aae+04 | 25
4223+ 0.0
-35.8+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0

A~ 1 nui r49e+04 | 25
.. po 4208+ 0.0
p1 -36.76+ 0.00

TP delay [ns]

TVC(cbch) (2,34

- 1L Ba3e+u4 / 25
e, pO 4210+ 0.0
p1 -36.66+ 0.00

50 5
TP delay [ns]

TVC(cbch) (2 3,8

s irze+ud [ 25
- po 4227+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(Cbch) (2, 3 12

-1z zl1e+ud | 25
b, po 4230+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

A1 L Bave+U4 | 25
o=, po 4216+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

=1 nui Yoye+u4 / 25
e, pO 4198+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

g, 200 +U4 | 25
- pO 4259+ 0.0
pL -37.66+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 3 13

~ 1 nuiz 1o0e+ud / 25
= pO 4229+ 0.0
-34.87+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (2,3,2)

T Lore+ud /25
- pO 4211 0.0
L pl -36.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

T L/ (oe+u4 [ 25
e pO 4219+ 0.0
[ pl -35.99 0.00

3000

TP delay [ns]

TVC(eb,oh)=(2, 3, 10

1000

- iz, Ase+ud | 25
-, pO 4271 0.0
[ p1 -36.31 0.00

3000

TP delay [ns]

TVC(cbch) (2,3 14

1 nuizyose+ud / 25
4228+ 0.0
-34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT 1nuiL(13e+U4 [ 25
P po 4209+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

=1 nui Bobe+u4 / 25
- pO 4199+ 0.0
p1 -35.18+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

ERALEVX b49e+u4/25
- po 4260+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3 15

-z 1z3e+ud [ 25
= pO 4230+ 0.0
p1 -36.08 + 0.00

TP delay [ns]



TVC(cbch)(240) TVC(cbch)(24l) TVC(cbch)(242) TVC(cbch)(243)
A” 1L y4se+u4 [ 25 A~ 1 Bobe+ud | 25 AT 1L /1be+u4 [ 25 A~ 1w 1rye+ud | 25
4000 fme, po 4206+ 0.0 4000 [, po 4191+ 0.0 4000 e, po 4198+ 0.0 4000 fe, po 4221+ 0.0
pl -35.06 + 0.00 pl -34.6 £ 0.0 r pl -35.42+ 0.00 pl -36.45+ 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 E 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,4,7

-1 nuig byge+ud / 25 ~ g, ryse+ud [ 25 - i, r85e+04 [ 25 -1 nui goye+u4 / 25
4000 pO 4210+ 0.0 4000 e, pO 4220 0.0 4000 e, pO 4230+ 0.0 4000 e, pO 4227+ 0.0
pl -35.94  0.00 pL -35.99 + 0.00 3 pl -36.92 % 0.00 pL -36.42.+ 0.00
3000~ 1 3000 - 3000 [~ B 3000 1
2000 - — 2000 - 2000~ - 2000 4
10001~ C E 1000 - 1000 r C=27.09 [pS/Ch ] 1000 C -
- I 1 -
-'- -' --
1 1 1 1 1
EY 00 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

TnunLyse+u4d /25 T g uz1e+u4 [ 25 © 1 nu.a50e+04 / 25 EEALEVX ub4e+u4/25
4000 pO 4246+ 0.0 4000 pO 4260+ 0.0 4000 [, DO 4276+ 00 4000 4282+ 0.0
pl -38.44 + 0.00 pl -37.46 + 0.00 I pl -37.34.+ 0.00 -37.7 + 0.0

-1 3000

3000~ 1 3000 -1 3000

2000~ -1 2000 -1 2000 -1 2000

1000 [~ -1 1000 -1 1000 - 1000

. - [
-
% 50 00 0 0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebioh)=(2, 4, 12) TVC(ebioh)=(2, 4, 13) TVC(ebioh)=(2, 4, 14) TVC(ebio=(2, 4, 15)
T nuiLyg/e+ud / 25 S ze+V4 /25 Tl yrse+ud [ 25 T 114e+04 [ 25
4000 [m, pO 4246+ 0.0 4000 pO 4230+ 0.0 4000 PD 4234+ 0.0 4000 o, pO 4238+ 0.0
-34.72:+ 0.00 pl -35.16+ 0.00 L pl -35.22:+ 0.00 pl -35.16 + 0.00

3000~

-1 3000 - 3000 - 3000 .

2000~ - 2000 - 2000 - 2000

wof C = 28.80 [ps/ch] ] 1000 - 5 E 1000: — 1000 4
'5(')""10'0'- ""E'd""m'o'-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0)

AT 1nuizyre+u4 /25
4215+ 0.0
-35.92+ 0.00

TP delay [ns]

TVC(cbch) (2,54

LR

P, PO
pL

bzle+u4 / 25
4188+ 0.0
-36.47 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2 5,8

- pD

©1nuzpgse+u4 | 25
4215+ 0.0
-34.57 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,5,12

- po
p1

- 1L 1ibe+ud / 25
4233+ 0.0
-34.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51)

e, po

AT rnunLsyse+ud [ 25
4210+ 0.0
-35.48 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (2 55

“nuib3/e+u4 [ 25
4200+ 0.0
-37.08 + 0.00

TP delay [ns]

TVC(c,b ch) (2 59

59)
1 ug 3z4e+04 | 25
== 4240+ 0.0
-34.58 + 0.00
[ C=28.92[ps/ch]N\_ 7]
| "
50 100
TP delay [ns]

TVC(C, bch) (2,5,13

Tinuibz/e+ud [ 25
4241+ 0.0
-34.1+ 0.0

[ C =29.32 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

- P

pl

A7 1 nui4o0e+04 /25
4223+ 0.0
-36.67 + 0.00

TP delay [ns]

TVC(cbch) (2,5,6

121e+V04 /25
4203+ 0.0
-36.08 + 0.00

e oo

[ o

L C = 27.72 [ps/ch .
e A

TP delay [ns]

TVC(cbch) (2, 5 10

F= b

T2y re+ud | 25
4253+ 0.0
-35.09 + 0.00

pl

TP delay [ns]

TVC(cbch) (2,514

T 1ooe+ud /25
- pD 4248+ 0.0
L pl -35.02 + 0.

-35.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3)

o=, po

pl

x- 1 L dude+ud | 25
4223+ 0.0
-36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (2 57

b= pO
pl

- 1nui brge+ud / 25
4211+ 0.0
-36.25+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 5

511)
1 nuz z3oe+u4 | 25
= 4258+ 0.0
-34.56 + 0.00
r C=28.94 [ps/ch]\_ 1]
L L i
50 100
TP delay [ns]

TVC(C, bch) (2,5,15

T nui p3se+ud [ 25
4234+ 0.0
-34.77 + 0.00

TP delay [ns]



TVC(cbch) (2,6,0

4000

3000

2000

1000

AT 1nuia4/e+04 /25
' po 4199+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (26,4

- i byye+ud / 25
pO 4212+ 0.0
p1 -35.46+ 0.00

4000 [
3000 - T
2000~ 7
1000~ C 7
| , -
50 100
TP delay [ns]
TVC(c,b ch) (2, 6 8

4000 [

3000

2000

1000

0

1 nuz5ype+u4 | 25
pD 4231+ 0.0
pl -37.71+ 0.00

0

50 100

TP delay [ns]

TVC(cbch) (2,6,12

4000

3000

2000

1000

©rnuiLgo4e+u4 / 25
pO 4266+ 0.0
pl -36.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT 1 muLo1oe+ud /25
Fee,, po 4195+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

S nui rz3e+04 / 25
[, pO 4215+ 0.0
pL -35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,9

T nuglyle+ud / 25
E po 4269+ 0.0
pl -38.89 + 0.00

| _m
50 100

TP delay [ns]

TVC(C, bch) (2,6,13

T inuiglae+ud [ 25
- pO 4262+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,6,2)

K™ 1 nuioove+u4 / 25
__- po 4209+ 0.0
o pl -35.49+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- i B33e+u4 / 25
- pO 4220+ 0.0
[ pl -34.65 + 0.00

TP delay [ns]

TVC(cbch) (2, 6 10

T rnuz3yle+ud | 25
F po 4275+ 0.0
- pl -38.62+ 0.00

TP delay [ns]

TVC(cbch) (2,614

T r3ve+ud [ 25
- pD 4267+ 0.0
L pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT 1L ssze+ud [ 25
e, po 4214+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nui bale+u4d / 25
- pO 4226+ 0.0
pL -33.67+ 0.00

[ C=29.70 [ps/ch] .

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 6

EEALEVX u/::e+u4/25
- pO 4271£ 0.0
pl -37.93+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

T nui ysse+ud [ 25
- pO 4262+ 0.0
p1 -35.92 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

K™ 1nuiLoyre+ud /25
4201+ 0.0
-36.25+ 0.00

TP delay [ns]

TVC(cbch) (2,7,4

-1 yole+ud / 25
4188+ 0.0
-34.93+ 0.00

= pO
pl
e -
% i
TP delay [ns]
TVC(cbch) (2 7,8
o pD

a2 guse+u4 | 25
4212+ 0.0
-35.42+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,7,12

T rnuizgule+ud / 25
4222+ 0.0
-36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

rooe+u4 [ 25
4208+ 0.0
-36.72+ 0.00

A,

= PO

p1

TP delay [ns]

TVC(c,b ch) (2 7,5

-1 nuiL Byae+u4 [ 25
4190+ 0.0
-34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

~ 1 nu.anae+u4 [ 25
4224+ 0.0
-34.8+ 0.0

TP delay [ns]

TVC(C, bch) (2,7,13

=, pO

Tinuig1ze+ud [ 25
4214+ 0.0
-35.66 + 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (2,7,2)

-37.77 + 0.00

':lullwe+u4/25
__— po 4220+ 0.0
L pl -37.77+ 0.

TP delay [ns]

TVC(cbch) (2,7,6

pO
p1

T g3 /e+ud [ 25
4218+ 0.0
-35.49 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

=1 nug,

. 90
pl

1(be+U4 /25
4225+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(cbch) (27,14

T L y4se+u4 [ 25
4221+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

e po

A7 1 nuiLoyoe+ud [ 25
4223+ 0.0
-36.62+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 7,7

pe=e. pO
pl

-1 nu.0bge+u4 / 25
4214+ 0.0
-35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

T, 41be+u4/25
4243+ 0.0
-35.53+ 0.00

TP delay [ns]

TVC(C, bch) (2,7,15

P, pO

T inuizylse+ud /25
4229+ 0.0
-36.48 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

T roe+ud /25
pO 4216+ 0.0
p1 -35.38 + 0.00

TP delay [ns]

TVC(cbch) (28,4

- UL eY3e+u4 [ 25
po 4230+ 0.0
pl -34.76 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 8,8

- s Ssae+ud [ 25
pD 4232+ 0.0
pl -36.22+ 0.00

TP delay [ns]

TVC(cbch) (2,812

- 1 nuiL yOoe+u4 / 25
po 4267+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

A7 1 nuiL, ruse+u4 / 25
F.. po 4232 0.0
p1 -36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

S rnun 1/ 7e+04 /25
[ree, po 4227+ 0.0
-33.95+ 0.00

[ C =29.46 [ps/ch]

50 150
TP delay [ns]

TVC(c,b ch) (2 8,9

<1 nuiL Uzye+us / 25
po 4239+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

T inuiplze+ud [ 25
- pO 4248+ 0.0
p1 -36.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

T Lore+ud /25
pO 4236+ 0.0
p1 -35.38+ 0.00

- C = 28.26 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (2,86

- C = 29.07 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 8, 10

-1 3 dserud /25
- pO 4256+ 0.0
[ p1 -34.99+ 0.00

- rnuz0ple+ud / 25
- pO 4246+ 0.0
r 344+ 0.0

TP delay [ns]

TVC(cbch) (2,8 14

=1 i, (5ye+u4 [ 25
F pD 4266+ 0.0
[ pl -36.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

A~ 1 nuiLbobe+ud [ 25
- po 4225+ 0.0
pL -33.9+ 0.0

[ C =29.50 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

- 1nu izze+04 | 25
[=s, po 4259+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

ERALX uz4e+U4/25
pO 4279+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8 15

S rna 1lge+ud /25
- pO 4274+ 0.0
pL -37.56+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0

A7 nui ozye+u4 /25
P po 4157+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (2,94

-1 nuiLasze+04 [ 25
- pO 4203+ 0.0
p1 -37.47+ 0.00

50 100
TP delay [ns]

TVC(cbch) (2 9,8

T 3.0oe+u4 /25
= po 4206+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (2,9,12

T rore+u4 / 25
- po 4203+ 0.0
pl -36.62 + 0.00

-
TR

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

AT 1L szse+ud [ 25
. po 4172+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

“nui rz9e+04 [ 25
pO 4208+ 0.0
pL -38.11# 0.00

50 1(;0 =
TP delay [ns]

TVC(c,b ch) (2 9,9

T inun.asie+ud [ 25
po 4219+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(C, bch) (2,9,13

Tonan g Bze+ud [ 25
pO 4198+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (2,9,2)

TonanL4re+u4 [ 25
= po 4179+ 0.0
L pl -35.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

-1 nurLgyyze+ud | 25
- pO 4202+ 0.0
[ pl -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (2, 9 10

1000

Tz 3r1e+04 /25
= po 4239+ 0.0
- pl -35.37 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

T rnuiLpole+ud / 25
= pD 4208+ 0.0
F pl -37.09+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

X1 L rverud | 25
po=s, po 4162+ 0.0
p1 -34.94+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

“rnuz03/e+u4 / 25
4231+ 0.0
-38.1+ 0.0

1=
50 100
TP delay [ns]

TVC(c,b ch) (2, 9

T 9/4e+u4/25
= po 4236+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(C, bch) (2,9,15

Tonairz/e+u4 /25
= pO 4203+ 0.0
p1 -36.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T rnuiLgi0e+u4 / 25
= pO 4167+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (2,104

T rnuaLb/re+u4 [ 25
- pO 4197+ 0.0
pl -35.19+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 10 8

T bz e+u4 [ 25
= po 4220+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (2,10,12

T rnuizuroe+u4 | 25
= po 4240+ 0.0
pl -35.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

AT 1 nunLovye+ud [ 25
po 4168+ 0.0
pl -34.77+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (2,10,5

- i 379e+u4 [ 25
pO 4197+ 0.0
p1 -34.47 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 10,9

~ 1 nu.s29e+04 [ 25
pO 4244+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (210,13

T inuiz zzge+ud | 25
4235+ 0.0
-36.41+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

A1 L 4ye+ud | 25
po 4193+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (2,10,6

- i, rzge+04 [ 25
pO 4230+ 0.0
pl -36.02+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (2,10, 10

©1nuiz.4uze+04 [ 25
po 4275+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(cbch) (2.10,14

~nuiLygse+u4 / 25
pD 4236+ 0.0
pl -35.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 10 3)

S ays4 /25
pO 4195+ 0.0
pL -36.15+ 0.00

TP delay [ns]

TVC(c, bch) (2,10,7

-1 nun B43e+u4 / 25
pO 4227+ 0.0
pL -35.87+ 0.00

1(;0
TP delay [ns]

TVC(eh.eh)=(2,10, 11

T inuiLyz/e+u4 [ 25
pO 4280+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(cbch) (210,15

Tonai g r3e+u4 /25
4231+ 0.0
-34.6 £ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

X~ 1w 48ve+U4 [ 25
e po 4177+ 0.0
p1 356+ 0.0

TP delay [ns]

TVC(cbch) (2, 11 4

~rnuiL4p1e+u4 / 25
e pO 4188+ 0.0
p1 -34.813 0.00

50 10'0
TP delay [ns]

TVC(ebeh)=(2, 11,8

S nuizudae+ud | 25
- pD 4213+ 0.0
p1 -36.67+ 0.00

TP delay [ns]

TVC(c,b Ch) (2,11,12

A~ 1 nuiLyore+u4 /25
= po 4234+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 11 1)

- 1 ai44ve U4 [ 25
e, pO 4192+ 0.0
pL -36.17 £ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 5

-1 nuiL434e+04 [ 25
4195+ 0.0
-35.7 £ 0.0

50 150
TP delay [ns]

TVC(eh.eh)=(2, 11, 9

<1 nub.ayve+ud | 25
4232+ 0.0
-36+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 11 13

T inuizuz/e+ud [ 25
- pO 4234+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000

2000

TVC(CbCh) (2, 11 2)

1000

~rnuiLbs4e+u4 [ 25
- pO 4201+ 0.0
L pl -36.31+ 0.00

3000

TP delay [ns]

TVC(chh) (2, 11 6

= 1 i bybe+u4 [ 25
e pO 4204+ 0.0
[ pl -35.89+ 0.00

TP delay [ns]

TVC(eb.ch)=(2, 11, 10

2 9de+ud | 25
pO 4244+ 0.0
pL -34.97 + 0.00

TP delay [ns]

TVC(c,b Ch) (2,11, 14

1000

X~ 1 bzde+U4 [ 25
B po 4243+ 0.0
[ p1 -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

x- 1L oile+ud | 25
o po 4202 0.0
pL -35.91+ 0.00

TP delay [ns]

TVC(CbCh) (2, 11 7

=1 Ui bbbe+ud / 25
- pO 4214+ 0.0
p1 -35.82:+ 0.00

50 160
TP delay [ns]

TVC(cbch) (2, 11 11

T nug soze+u4 [ 25
= pO 4230+ 0.0
p1 -35.16+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 15

- iy oe+ud [ 25
== pO 4237+ 0.0
p1 -35.8 £ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,12,0)

~nuiLpyze+ud [ 25
™ PO 4197+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(cbch) (2,124

T i r51e+04 / 25
- pO 4220+ 0.0
pl -36.26+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

1 nuiz,yype+u4 | 25
- PD 4202+ 0.0
pl -34.82+ 0.00

TP delay [ns]

TVC(cbch) (212,12

~ 1 nuz,ubse+ud / 25
- PO 4247+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(cbch) (2,12,1)

4000 & - PO

pl

AT 1nuiLbzie+ud | 25
4208+ 0.0
-38.18+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (2,125

T rnan zule+u4d | 25
4000 fem DU 42312 00
Pl 36,66+ 0.00

3000 -

2000

w00 C = 27.28 [ps/ch

TP delay [ns]

TVC(c,b ch) (2, 12

4000 e po

1 nuw.pzae+04 / 25
4228+ 0.0
-35.71+ 0.00

pl

3000

2000

1000

TP delay [ns]

TVC(cbch) (212,13

4000 e

T nui goae+ud [ 25
4228+ 0.0
-34.84+ 0.00

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,12,2)

TP delay [ns]

TVC(cbch) (2.12,6

X~ 1L bzse+U4 [ 25
- po 4219 0.0
I pl -37.41+ 0.00

3000

~ 1 nuiLgb4e+u4 [ 25
- pO 4236+ 0.0
3 pl -36.62+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

T nu,343e+04 [ 25
- DO 4235+ 00
[ PL_ -35.09% 0.00

TP delay [ns]

TVC(cbch) (212,14

~ 1L yyse+ud / 25
== PD 4244+ 0.0
F pl -35.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,12,3)

AT 1L ra0e+u4 [ 25
4217+ 0.0
pl -36.58 + 0.00

po

TP delay

TVC(c, bch) (2,12,7

= pO

[ns]

- nui grae+04 [ 25
4267+ 0.0
-37.6+ 0.0

50 1(;0
TP delay

TVC(cbch) (2, 12 1

[, pO

[ns]

T nuiz.usse+ud [ 25
4238+ 0.0
pl -35.14 + 0.00

TP delay

TVC(cbch) (212,15

[ns]

T gzoe+u4 [ 25
4234+ 0.0
pl -35.13+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,13,0)

X~ 1 rsre+U4 /25
- PO 4204+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (2,134

- 1L 294e+04 | 25
- pO 4240+ 0.0
pl -40.04 + 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

©1nuiLyspe+u4 / 25
- PD 4205+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (213,12

~ L syse+ud / 25
= PO 4230+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (2,13,1)

4000

3000

2000

1000

AT 1 nuiLy3ve+u4 / 25
PO 42221 0.0
p1 -36.5 % 0.0

TP delay [ns]

TVC(c, bch) (2,135

4000 =

3000 -

2000

oo C = 25.31 [ps/c 7

Snun15/e+04 /25
DU 4243+ 0.0
pL -39.5+ 0.0

1(;0-
TP delay [ns]

TVC(c,b ch) (2,13,9

4000 B

3000

2000

1000

-1 nu.pyze+ud / 25
DO 4229+ 0.0
pl -34.82 + 0.00

TP delay [ns]

TVC(cbch) (213,13

4000 e

3000

2000

1000

T gzoe+u4 [ 25
PO 4225+ 0.0
pl -36.05 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000 [,
3000
2000

1000

TVC(cbch) (2,13,2)

X~ 1w soze+U4 [ 25
- po 4212+ 0.0
I pl -36.46 £ 0.00

3000

TP delay [ns]

TVC(cbch) (2,136

T b8 /e+u4 [ 25
pO 4253+ 0.0
pl -39.63:+ 0.00

TP delay [ns]

TVC(cbch) (2,13,10

©1nuzpzoe+u4 | 25
4240+ 0.0
-35.4 + 0.0

TP delay [ns]

TVC(cbch) (2,13, 14

T i oz4e+u4 [ 25
PD 4228+ 0.0
pl -35.95 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,13,3)

AT nuiLszze+u4 [ 25
- po 4226+ 0.0
pL -36.99+ 0.00

TP delay [ns]

TVC(c, bch) (2,137

- nui ry1e+u4 / 25
F PO 4256+ 0.0
Pl -39.14% 0.00

TP delay [ns]

TVC(ebeh)=(2,13, 11

T inuz1ple+ud / 25
- pO 4241+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (2,13,15

T ruiz.uibe+u4 / 25
PO 4229+ 0.0
-35.65 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

1 nuiLby1e+ud [ 25

_—- pO 4174+ 0.0
p1 -35.64+ 0.00

TP delay [ns]

TVC(cbch) (2,144

-39 7e+04 ] 25
™, pO 4183+ 0.0
pl -36.9+ 0.0

[ C=27.10[ps/c ]

50 100
TP delay [ns]

TVC(cbch) (2, 14 8

1 nuig,bzve+u4 | 25
= po 4227+ 0.0
p1 -37.46 + 0.00

TP delay [ns]

TVC(cbch) (214,12

T rnuiLyole+ud / 25
= po 4214+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(chh) (2,14,1)

4000 [,

=, po

A1 L adae+Ud | 25
4178+ 0.0
-36:+ 0.0

p1

3000

2000

1000

TP delay

TVC(c, bch) (2,145

4000 o pO

pl

[ns]

~ 1 nui bore+u4 [ 25
4211+ 0.0
-37.31+ 0.00

3000

2000

w00~ C = 26.80 [ps/c

TP delay

TVC(c, bch) (2,14,9

4000 e pO

[ns]

T a3 /4e+04 25
4251% 0.0
pl -37.37 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (214,13

4000 pO

[ns]

TinuiL gy /e+ud [ 25
4214+ 0.0
-37.11+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (2,14,2)

K™ 1 nuioyae+u4 /25

-, po 4177+ 0.0
L pl -35.8+ 0.0

TP delay [ns]

TVC(cbch) (2,146

S rnuan o /ge+ud [ 25
- pO 4216+ 0.0
[ pl -36.56 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 14, 10

1000

0

©1nuz3yde+u4 | 25
- po 4261+ 0.0
- pl -37.26 + 0.00

TP delay [ns]

TVC(cbch) (2.14,14

~nuiLyzge+u4 | 25
= pD 4212+ 0.0
L p1 -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

e, po

AT 1L bzoe+ud [ 25
4182+ 0.0
p1 -34.76 + 0.00

TP delay

TVC(c, bch) (2,14,7

[ns]

-1 b3be+u4 / 25
4213+ 0.0
-36.1+ 0.0

TP delay

TVC(cbch) (2, 14 11

= pO

[ns]

T inuiz zoze+u4 [ 25
4265+ 0.0
pl -37.59 + 0.00

TP delay

TVC(cbch) (214,15

= po

[ns]

T nui ssye+ud [ 25
4213+ 0.0
-35.91+ 0.00

PR PR S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,15,0)

A1,

e, po

pl

ruLe+u4 /25
4175+ 0.0
-35.7+ 0.0

TVC(chh) (2,15,1)

X

4000 (S

3000

2000

1000

po
pL

L boye+ud [ 25
4186+ 0.0
-35.58 + 0.00

TP delay [ns]

TVC(cbch) (2,154

T rnaiLb//e+V4 [ 25
- pO 4190+ 0.0
pl -35.69+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

1 nuzpoge+u4 | 25
- pO 4211+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (2,15,12

T rnuiLgs4e+u4 / 25
= po 4219+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (2,155

4000

3000

2000

1000

=11 yoye+ud / 25
4187+ 0.0
-34.7+ 0.0

50 1(;0
TP delay [ns]

TVC(c, bch) (2, 15 9

4000

3000

2000

1000

Tinunp./1e+u4 /25
4237+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (215,13

4000 [

3000

2000

1000 [~

T inai ruse+ud / 25
pO 4208+ 0.0
-34.92+ 0.00

TP delay [ns]

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (2,15,2)

™, po

AT 1nuiLosre+ud /25
4191+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (2,156

-1 i Byge+u4 / 25
- pO 4200+ 0.0
[ pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

©1nuz gode+04 [ 25
= po 4266+ 0.0
[ p1 -37.47+ 0.00

TP delay [ns]

TVC(cbch) (2,15, 14

~ 1L psde+ud [ 25
- pD 4224+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

o po

AT 1L buse+ud [ 25
4198+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c, bch) (2,157

S nun z.0ze+ud [ 25
4212+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(ehch)=(2, 15, 11

T nuiz.z43e+04 [ 25
= po 4239+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

-1 nui yoae+ud / 25
e pO 4211+ 0.0
-33.31+ 0.00

[ C=30.02 [ps/ch] %. ]

PR PR S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,0)

A7 1 nui Jose+ud / 25
po 4204+ 0.0
pl -38.16 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,0,4

- 1L goge+ud / 25
pO 42174 0.0
p1 -37.64+ 0.00

TP delay [ns]

TVC(cbch) (3 0,8

T 1nug plse+u4 / 25
- po 4169+ 0.0
pl -34.05+ 0.00

TP delay [ns]

TVC(cbch) (3,0,12

T L ysse+u4 / 25
= po 4241+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

T zuse+ud [ 25
- pO 4175+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

-1 nu b3ze+ud [ 25
pO 4208+ 0.0
pL -36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

~ i nui gble+ud / 25
po 4212+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(C, bch) (3,0,13

1 nuiz vbve+ud / 25
pO 4224+ 0.0
pl -35.78 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (3,0,2)

K™ 1 nuig 1yse+u4 /25
po 4194+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(cbch) (3,06

T rnuz0r5e+u4 [ 25
pO 4231 0.0
pl -38.11+ 0.00

TP delay [ns]

TVC(cbch) (3, 0 10

- C = 29.31 [ps/ch]

T nuig33ze+04 [ 25
= po 4203+ 0.0
- pl -34.12+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (3,0,14

1000

T rnuiz4r4e+04 /25
. pD 4234+ 0.0
L pl -36.21+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3)

T nunz.34e+04 1 25
- pO 4202+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

-1 nu 190e+u4 / 25
- pO 4239+ 0.0
p1 -38.04+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, O

T sse+u4/25
= po 4209+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(C, bch) (3,0,15

T inuiz r9ze+ud [ 25
- po 4218+ 0.0
p1 -34.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

A7 1nun s4ze+04 /25
- po 4180+ 0.0
p1 372+ 0.0

C =26.88 [ps/c ]

TP delay [ns]

TVC(cbch) (31,4

T rnuzdp/e+04 [ 25
pO 4201% 0.0
pl -36.12:+ 0.00

TP delay [ns]

TVC(cbch) (3 1,8

©1nuz34pe+04 | 25
po 4191+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (31,12

T zze+ud | 25
pO 4214+ 0.0
pl -34.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1

AT rnuLBsse+ud [ 25
o, po 4188+ 0.0
pl -37.04 % 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nu.483e+04 [ 25
4189+ 0.0
-35.5 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 1,9

~ i nuis4ple+ud [ 25
pO 4196+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(cbch) (3,1,13

-1 nuiz.yuoe+ud / 25
pO 4222+ 0.0
pl -36.79+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

A~ 1nuzurae+u4 /25
- po 4180+ 0.0
L pl -36.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,1,6

Sz by/e+ud [ 25
e pO 4208+ 0.0
[ pl -36.26+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

T a3z /e+04 [ 25
= po 4196+ 0.0
L pl -35.03 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

~1nuizguse+ud | 25
-, pD 4209+ 0.0
L p1 -35.75+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3)

T z.zoe+ud [ 25
- pO 4202+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

-1 nu.bule+ud / 25
- pO 4219+ 0.0
pL -36.68:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

T, uue+u4/25
= po 4213+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (31,15

T nuiz syse+ud [ 25
- po 4219+ 0.0
p1 -35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

e, pO

T Lyse+ud /25
4169+ 0.0
-35.73+ 0.00

pl

TP delay [ns]

TVC(cbch) (3,24

T rnuzus/e+ud [ 25
4178+ 0.0
-35.63+ 0.00

TP delay [ns]

TVC(cbch) (3 2,8

E pD

p1

T rnuizoyle+u4 [ 25
4221+ 0.0
-35.74 + 0.00

TP delay [ns]

TVC(cbch) (3,212

~rnuiLgove+u4 / 25
4227+ 0.0
-35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1)

. PO

AT 1L szoe+ud [ 25
4190+ 0.0
-36.81+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 2,5

pO
pl

-1 nuz.034e+04 [ 25
4203+ 0.0
-37.01+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

e, po

T nu n3ze+u4 /25
4235+ 0.0
-36.49 + 0.00

pl

TP delay [ns]

TVC(C, bch) (3,2,13

X~ naig,

(41e+U4 /25
4227+ 0.0
-35.87+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

L 1
% 50 00

TVC(cbch) (3,2,2)

™, po

K™ 1 nuioyye+ud / 25
4196+ 0.0
-37.54+ 0.00

pl

TP delay [ns]

TVC(cbch) (32,6

pO
p1

T rnu131e+04 / 25
4202+ 0.0
-36.47 + 0.00

TP delay [ns]

TVC(cbch) (3, 2 10

1 nuz.484e+04 | 25
4276+ 0.0
-38.3+ 0.0

TP delay [ns]

TVC(cbch) (3,214

T rnuizu41e+u4 /25
4220+ 0.0
-35.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3)

e po

AT rnuizlire+ud [ 25
4196+ 0.0
-37.24+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 2,7

pO
pl

-1 Uz 0yoe+u4 / 25
4207+ 0.0
-35.87 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 2

EEALEVX uU/e+u4/25
4269+ 0.0
-37.36+ 0.00

TP delay [ns]

TVC(C, bch) (3,215

T nuiyyle+ud / 25
4235+ 0.0
-35.39+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

AT 1nuiLolse+ud /25
P, po 4189+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (3,34

- i b3ze+ud [ 25
- pO 4211+ 0.0
-34.32:+ 0.00

[ C =29.14 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

1z 2u4e+04 [ 25
= po 4212+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (3,312

©rnuiLga4e+04 / 25
pO 4232+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,31

AT 1 nuLosze+ud [ 25
Fee,, po 4198+ 0.0
p1 -36.64.+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

“nui /33e+04 / 25
- pO 4224+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nup.y1ze+ud [ 25
4221+ 0.0
-34.81+ 0.00

TP delay [ns]

TVC(C, bch) (3,313

Tinan . /ve+ud [ 25
pO 4234+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000

2000

TVC(cbch) (3,3,2)

A7 1 nuip4ve+u4 /25
- po 4214+ 0.0
L pl -36.09 + 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

© i roze+04 [ 25
- pO 4233 0.0
[ pl -35.68+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

T rnuiz4r0e+04 [ 25
4250+ 0.0
-35.7 + 0.0

TP delay [ns]

TVC(cbch) (3,314

1000

T Lore+ud /25
- pD 4217+ 0.0
L p1 -36.01+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3)

(ove+u4 | 25
4213+ 0.0
-34.66 + 0.00

A,

e po
pL

TP delay [ns]

TVC(c,b ch) (3 3,7

- nun B8 re+u4 / 25
4249+ 0.0
-34.7+ 0.0

[ C =28.82 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 3

T aaue+u4/25
4251+ 0.0
-36.78 + 0.00

TP delay [ns]

TVC(C, bch) (3,315

TinuiLo//e+ud /25
4239+ 0.0
-36.56 + 0.00

TP delay [ns]



TVC(cbch)(340) TVC(cbch)(34l) TVC(cbch)(342) TVC(cbch)(343)
A™ 1 nuizugze+u4 [ 25 A~ 1wz yrae+ud | 25 AT 1z usze+u4 [ 25 A~ 1nuaizyure+ud | 25
4000 4193+ 0.0 4000 _-I po 4191+ 0.0 4000 ._- po 4187 + 0.0 000 fo, po 4206 + 0.0
-36.81+ 0.00 pl -36.36 + 0.00 : pl -35.91+ 0.00 pl -36.97 + 0.00

3000

1 3000 -1 3000 -1 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 -1 1000

50 oo 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(3,4,4) TVC(eb.eh)=(3,4,5) TVC(ebeh)=(3,4,6) TVC(eb.eh)=(3,4,7)
T i rz4e+04 | 25 -1 nuz.0yoe+u4 / 25 - 1L Yo3e+ud / 25 - rnug 1ble+u4 / 25
4000 fm, pO 4228+ 0.0 4000 pO 4233+ 0.0 4000 [, pO 42412 0.0 4000 e, pO 4248+ 0.0
Pl -36.18+ 0.00 Pl -36.84 0.00 3 Pl -3752% 0.00 Pl -36.08+ 0.00
3000~ B 3000 - 3000 — — 3000 g
2000 E 2000 E 2000 — — 2000 -
1000~ C B 1000 C B 1000:— C =26.65 [pS/C — 1000 C —
EY 00 = 0 5 o of EY 0 . 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eheh)=(3,4,8) TVC(ebeh)=(3,4,9) TVC(ebeh)=(3, 4, 10) TVC(ebio=(3, 4, 11)
© 1 nug 384e+04 / 25 T b, b/ye+u4 [ 25 © a2 ygle+ud / 25 ~ 1 b3ve+u4 [ 25
4000 pO 4211+ 0.0 4000 4231% 00 4000 DO 4240+ 00 4000, p0 4245+ 0.0
Pl 34451000 35+ 00 [ Pl -35.93: 0.00 Pl -35.07:0.00

3000 - 3000 - 3000 - 3000 _

2000 -1 2000 - 2000 I 2000

- 1000 - 1000F

1000 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(34l ) TVC(cbch)(3413) TVC(cbch)(34l ) TVC(cbch)(3415)
T nuiLyuse+u4 / 25 T yyze+u4 [ 25 T nu,usze+ud [ 25 T ryye+u4 [ 25
4000 e pO 4237400 000, pO 4223400 4000 fem, pD 4223+ 00 4000 pO 4226+ 0.0
pl -36.62 + 0.00 pl -37.42+ 0.00 : pl -37.03+ 0.00 pl -36.26 + 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

A7 nui rzoe+04 /25
Frcea. po 4202+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- 1z 0oge+ud / 25
. pO 4213+ 0.0
p1 -35.48:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 58

T g2z e+04 | 25
- pO 4240+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

T rnuizusse+ud | 25
4294+ 0.0
-36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

A1 L Baae+U4 | 25
k.. po 4228+ 0.0
pL -35.87+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

-1 nu Z1ge+u4d / 25
e, pO 4204+ 0.0
p1 -34.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

Tonung1ze+u4 [ 25
- po 4269+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(C, bch) (3,5,13

-1 nuiL yyoe+ud | 25
e, pO 4282+ 0.0
pl -36.89+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

K™ 1 nui rose+u4 / 25
_l po 4233+ 0.0
- pl -36.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

T rnuz1ze+04 [ 25
4208+ 0.0
-34.5+ 0.0

TP delay [ns]

TVC(cbch) (3, 5 10

©1nuizylae+ud | 25
- po 4284+ 0.0
[ pl -35.04 + 0.00

L C = 28.54 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

T rnuizuize+ud | 25
pD 4282+ 0.0
pl -36.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT 1L Bsoe+ud [ 25
e, po 4240+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nuz.2ule+u4 / 25
- pO 4220+ 0.0
p1 -34.47 + 0.00

[ C =29.01 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

T zuue+u4/25
- po 4289+ 0.0
p1 -35.14+ 0.00

[ C =28.46 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T nui y4ze+ud [ 25
- pO 4295+ 0.0
p1 -37.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

K™ 1nui ruse+ud /25
.. po 4176+ 0.0
p1 -34.29+ 0.00

TP delay [ns]

TVC(cbch) (36,4

- 1L b4a3e+u4 / 25
- pO 4240 0.0
p1 -36.84 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

Trnug131e+u4 / 25
- po 4229+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

T s1e+u4 / 25
= po 4222+ 0.0
pl -35.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

AT rnuanruse+ud [ 25
- po 4187+ 0.0
pl -34.76 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nui bg3e+u4d / 25
- pO 4256+ 0.0
pL -37.66+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nun.1zze+04 / 25
= po 4256+ 0.0
pl -36.33 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,13

T inai ruze+ud [ 25
pO 4234+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

A7 1 nui ruse+u4 / 25
po 4204+ 0.0
p1 -35.4+ 0.0

TP delay [ns]

TVC(cbch) (36,6

T rnun 1 8oe+04 [ 25
pO 4259+ 0.0
pl -37.04 0.00

TP delay [ns]

TVC(cbch) (3, 6 10

Tz pz3e+u4 | 25
po 4249+ 0.0
pl -35.42+ 0.00

TP delay [ns]

TVC(cbch) (3,6,14

T rnuiLplse+ud [ 25
DD 4246+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3)

T Loe+ud [ 25
- pO 4192+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

- nui use+u4 / 25
- pO 4262+ 0.0
pL -38.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6

EEALEVX u49e+u4/25
= po 4265+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

T inui s4/e+04 /25
po 4240+ 0.0
-35.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

A7 1 nuiL oboe+ud / 25
., po 4196+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (3,7,

- 1 nuiLbube+ud / 25
4205+ 0.0
-35.6+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

1 nuiLyyve+u4 / 25
PD 4213+ 0.0
pl -37.18+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

Ty rse+ud /25
pO 4225+ 0.0
pl -34.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT 1 nuLyzoe+ud [ 25
P, po 4200+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nui Bage+u4 / 25
4194+ 0.0
-34.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nun E33e+U4 / 25
po 4240+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

T inai44e+04 / 25
- 4209+ 0.0
-35.11 + 0.00

il
100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

K™ 1 nuiLgyze+u4 /25
_- po 4216+ 0.0
o pl -36.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

- i, 749e+04 [ 25
- pO 4212+ 0.0
3 pl 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

Tz 31ze+04 [ 25
o=, po 4255+ 0.0
o pl -36.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (37,14

1L bEpe+U4 / 25
pD 4210+ 0.0
pl -34.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT rnuiLrole+ud [ 25
- po 4216+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

“ 1886404 [ 25
- pO 4226+ 0.0
pL -35.78+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

T ya/e+u4/25
e pO 4254+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

71 nui pboe+ud / 25
- po 4216+ 0.0
p1 -35.53+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

A7 1 nui ozoe+ud /25
., po 4219+ 0.0
pl -37.48+ 0.00

TP delay [ns]

TVC(cbch) (38,4

“ i r81e+u4 [ 25
pO 4222+ 0.0
p1 -35.46+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (3 8,8

T rnug.usve+u4 / 25
pO 4249+ 0.0
pl -38.37 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,812

1z zuve+u4 | 25
pO 4238+ 0.0
pl -36.29 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

x- 1L Ssae+U4 | 25
., po 4198+ 0.0
pL -35.61% 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

- nuiLyl/e+u4 [ 25
pO 4210 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

~ 1 nu.zzoe+u4 | 25
po 4265+ 0.0
-37.7+ 0.0

TP delay [ns]

TVC(C, bch) (3,8,13

Tonanz1oe+ud [ 25
pO 4234+ 0.0
pl -36.21+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,8,2)

A7 1 nui s44e+04 / 25
- po 4200+ 0.0
L pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

- i gobe+u4 [ 25
- pO 4218+ 0.0
[ pl -35.34 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

© 1 nuigusbe+u4 / 25
-, po 4272+ 0.0
- pl -38.09 + 0.00

3000

50 100

TP delay [ns]

TVC(cbch) (3,814

T rnuizuLse+ud | 25
- pD 4232+ 0.0
[ p1 -36.49 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT L BLse+u4 [ 25
- po 4230+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

-1 nui byle+ud / 25
- pO 4239+ 0.0
pL -36.23+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

AL 554e+u4/25
4275+ 0.0
-38.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,8,15

-1 nuiz.10ve+ud / 25
e po 4243+ 0.0
p1 -35.84+ 0.00

TP delay [ns]



TVE(ED.Ch=(3,9,0) TVE(EDCh)=(3,9, 1) TVE(EDCh=(3,9,2) TVEEDe)=(3,9, 3)
AT rs1e+04 /25 AT 1L grze+ud [ 25 K™ 1 nui osie+u4 /25 AT rnuzouse+ud [ 25

4000 fmm,, po 4215+ 0.0 4000 fm,, po 4232+ 0.0 4000 fm PO 4231% 0.0 4000 fos PO 4230+ 00
pl -35.59+ 0.00 pl -36.1+ 0.0 F pl -35.85+ 0.00 pl -35+ 0.0

3000

E 3000 - 3000 - 3000 B

2000 - 2000 = 2000 N 2000

1000 - 1000 = 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39, TVC(cbch) (39,6 TVC(c, bch) (39,

T, 2ALE+UA 125 S Z)ZHE+U4/25 T, 2Ale+U4 125 T ‘4)?1/E+l)4/25
4000 [, pO 4208+ 0.0 4000 Fem, pO 4216+ 0.0 4000 fe, pO 4231 0.0 4000 s pO 4241% 0.0
pl 3503+ 0.00 -36.1% 0.0 [ PL_ -35.99+ 0.00 Pl 35113000

3000 - 3000 E 3000 ] 3000 [ B

2000 ] 2000 - 2000 — — 2000 ]

[ ] 1000 - 1000F ~ = ] [~ h

1000 C F C=27.79 [ps/ch ] wooF C = 28.48 [ps/ch
I 2 o I = I L I =
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
T zyre+u4 /25 ~ 1 nu.zgbe+ud [ 25 T nuig145e+04 / 25 ~ 1 nuiz.oZoe+u4 / 25
4000 o, pO 4215+ 0.0 4000 pO 4228+ 0.0 4000 fo DO 4249+ 0.0 4000 4256+ 0.0
pl -34.97 + 0.00 pl -35.53 + 0.00 F pl -34.95+ 0.00 -36+ 0.0

-1 3000

3000 N 3000 - 3000

2000 - 2000 2000 - 2000

1000 - 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(C, bch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

T L g3pe+u4 / 25 Tonan g oe+ud [ 25 T ru1e+u4 / 25 T nuizusae+ud [ 25
4000 4270+ 0.0 4000 [, pO 4248 0.0 4000 o, PD 4255 0.0 4000 o, pO 4248 0.0
-36.6 + 0.0 pl -36.76 + 0.00 F pl -37.88 + 0.00 pl -37.02+ 0.00

- 3000

3000 -1 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

© L byoe+u4 [ 25
4219+ 0.0
-36.99 + 0.00

TP delay [ns]

TVC(cbch) (3,104

pO
pL

- 1 i Bage+ud | 25
4205+ 0.0
-36.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3, 10 8

- pD

Tz 3r4e+04 [ 25
4250+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (310,12

pO
p1

~rnuiLyyse+u4 / 25
4234+ 0.0
-35.01+ 0.00

TP delay [ns]

TVC(chh) (3,10,1)

4000 7 po

p1

A1 nuaiLa3se+ud [ 25
4221+ 0.0
-37.98+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (3,10,5

4000 pO

pl

“nuiL g/ e+u4 [ 25
4212+ 0.0
-36.81+ 0.00

3000

2000 -

1000 C

1
50 100

TP delay [ns]

TVC(c,b ch) (3, 10

4000 faem po

~ 1 nu.ysze+ud [ 25
4263+ 0.0
-36.66 + 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (310,13

4000 e,

T nui ysse+ud / 25
4234+ 0.0
-34.34+ 0.00

3000

2000

w0 C =29.12 [pS/Ch]

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (3,10,2)

™, po

AT 1nuoire+ud /25
4219+ 0.0
p1 -37.46 + 0.00

TP delay

TVC(cbch) (3,10,6

pO
p1

[ns]

T yg/e+u4 [ 25
4224+ 0.0
-36.65 + 0.00

TP delay

TVC(cbch) (3, 10 10

- b

[ns]

Tnugz/(e+u4 [ 25
4276+ 0.0
pl -37.15+ 0.00

TP delay

TVC(cbch) (3.10,14

== po

[ns]

T ry1e+u4 [ 25
4236+ 0.0
pl -35.21+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10, 3)

e po

AT L r31e+ud [ 25
4219+ 0.0
pl -36.05+ 0.00

TP delay

TVC(c, bch) (3,10,7

[ns]

- 11 bbae+u4 / 25
4232+ 0.0
-38+ 0.0

50 1(;0
TP delay

TVC(cbch) (3, 10 1

= pO

[ns]

~ 1 nuiz.zyze+u4 [ 25
4274+ 0.0
-36+ 0.0

TP delay

TVC(cbch) (3,10,15

[ns]

TinuiLg/1e+u4 /25
4225+ 0.0
p1 -35.64 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(e.b.h)=(3, 11, 0)

A1, rzve+u4 [ 25
4186+ 0.0
p1 -36.82+ 0.00

TP delay [ns]

TVC(eb.ch)=(3, 11, 4

T rnuLgl/e+ud / 25

e, pO 4169+ 0.0
p1 -35.31 0.00

50 5
TP delay [ns]

TVC(eheh)=(3, 11, 8

nug. 139e+04 / 25

B
- po 4238+ 0.0
p1 -36.53+ 0.00

TP delay [ns]

TVC(cbch) (3,11, 12

A~ 1 nui yuae+us 25
po 4217+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(e.DCh)=(3, 11, 1)

e, po

X 1L 0z Ud | 25
4191+ 0.0
pL -35.73+ 0.00

1
100

TP delay [ns]

TVC(eh.oh)=(3, 11, 5

S nui r11e+u4 [ 25
pese, 4174+ 0.0
-33.36 + 0.00

[ C =29.98 [ps/ch] 7]

50 105
TP delay [ns]

TVC(e.heh)=(3, 11, 9

~ 1 nuipZbe+ud 25
= po 4253+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(eb.eh)=(3, 11, 13

T nui pzse+ud / 25
pO 4201% 0.0
pl -35.14 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

:

:

1000;— C =28.89 [ps/ch] - ‘
| o+ s

4000

3000
2000

1000

TVC(e.Dch)=(3, 11, 2)

b po

X~ 1L sore+U4 /25
4189+ 0.0
-36.4+ 0.0

pl

TP delay [ns]

TVC(chh) (3, 11 6

- nuiB11e+u4 / 25
E pO 4199+ 0.0
[ pl -35.06 + 0.00

TP delay [ns]

TVC(e,Deh)=(3, 11, 10

X© 1 Uz Yo5e+Ua | 25
- po 4243+ 0.0
[ p1 -34.62:+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 11 14)

nui 1 rve+ud [ 25

En
-, pD 4195+ 0.0
[ p1 -34.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(e.beh)=(3, 11, 3)

o po

A1 iz 115e+0d | 25
4194+ 0.0
p1 -35.99+ 0.00

TP delay [ns]

TVC(CbCh) (3, 11 7

— =1 Ui yube+u4 / 25
e, pO 4184+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVCEDe=(3, 11, 11

T nuiz 3ooe+u4 25
pO 4266+ 0.0
p1 -36.79+ 0.00

TP delay [ns]

TVC(eb.eh)=(3, 11, 15

- L gs0e+Ud | 25
- po 4206+ 0.0
p1 -35.17 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,0)

A7 1 nui sooe+ud / 25
4181+ 0.0
-35.11+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (40,4

T Ly rye+ud / 25
. pO 4199 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (4 0,8

T 1nug.uLoe+u4 / 25
= po 4200+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (4,0,12

T rnuizus4e+ud | 25
= po 4206+ 0.0
p1 -34.1+ 0.0

[ C =29.32 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,01

AT 1 nunLryoe+ud [ 25
e po 4177+ 0.0
pl -35.26 + 0.00

TP delay [ns]

TVC(c,b ch) (4 0,5

-1 nui B41e+u4 / 25
e, pO 4204+ 0.0
pL -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (4 0,9

T inu.z15e+u4 [ 25
= po 4226+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(C, bch) (4,0,13

T inuis3ae+ud /25
peee. 4199+ 0.0
-33.04+ 0.00

[ C =30.27 [ps/ch] ™. ]
s *
TP delay [ns]

TVC(cbch) (4,0,2)

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (4,0,6

4000

3000

2000

1000

A7 1 nuiLssye+u4 / 25
po 4186+ 0.0
pl -35.39 0.00

-1 nunLy3be+u4 / 25
- pO 4204+ 0.0
[ pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (4, 0 10

4000

3000

2000

1000

T 1nuigp34e+U4 / 25
po 4226+ 0.0
pl -33.87 + 0.00

FC = 29.52 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (4,0,14

4000

3000

2000

1000

T rnuiLgole+u4 / 25
4213+ 0.0
-33.44+ 0.00

- C = 29.90 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,3)

R- 1 1rse+ud [ 25
o=, po 4200+ 0.0
pL -34.71+ 0.00

TP delay [ns]

TVC(c,b ch) (4 0,7

=1 nui Yyge+u4 / 25
- pO 4229+ 0.0
pL -36.08:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b,ch)=( 4, 0, 11

b, ,0,11)
T X bbb7 /25
- 4237+ 0.1
-34.59 + 0.00

[ C=28.91 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (4,0,15

T nui ssye+ud [ 25
= pO 4198+ 0.0
p1 -32.86+ 0.00

[ C=30.43 [ps/ch] ™ 7]
gl =
TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,0)

AT inun 1 ye+ud /25
- po 4187+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (4.1,4

- rnuLyzie+ud / 25
s, pO 4182+ 0.0
p1 -36.04 + 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(4, 1,8

Tz, fobe+u4 | 25
= po 4209+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(cbch) (41,12

T zpoe+ud /25
= po 4197+ 0.0
pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,1

AT 1. 1sse+ud [ 25
J— po 4168+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(c,b ch) (4 1,5

-1 nuz.0loe+u4 / 25
pO 4190+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,9

-1 nu.zune+ud / 25
= po 4210+ 0.0
p1 -34.74+ 0.00

TP delay [ns]

TVC(C, bch) (41,13

T 1 nuiz.oyse+ud / 25
= pO 4195 0.0
pl -35.53+ 0.00

TP delay [ns]
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3000
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1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,1,2)

X llulzu(/e+u4/25
po 4185+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (41,6

T rnugz33e+u4 [ 25
pO 4193+ 0.0
pl -35.78 0.00

10‘0
TP delay [ns]

TVC(cbch) (41,10

T g.o8e+u4 /25
po 4246+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (41,14

~ 1z pzae+u4 | 25
pD 4209+ 0.0
pl -36.2+ 0.0

TP delay [ns]
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1000
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,3)

AT 1L save+ud [ 25
po 4205+ 0.0
pl -36.88+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,7

-1 nu 1bbe+u4 / 25
- pO 4201% 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 1

1)
-1 nuiz.yyve+ud / 25
== 4239+ 0.0
-33.89+ 0.00

C =29.51 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (41,15

T 1nuizpolye+ud [ 25
= pO 4209+ 0.0
p1 -35.6+ 0.0

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (4,2,0)

X~ 1L yise+u4 /25
po 4209+ 0.0
p1 -35.4+ 0.0

TP delay [ns]

TVC(cbch) (4,24

- rnun Zuse+ud [ 25
po 4200+ 0.0
pl -34.28 + 0.00

[ C=29.17 [ps/ch]\,_ ]
-+ o
TP delay [ns]
TVC(c,b ch) (4 2,8

©1nuig,3ope+u4 / 25
pO 4234+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(Cbch) (4, 2 12

S inu oz 1ve+ud [ 25
pO 4225+ 0.0
pl -35.08 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (4,2,1

AT 1 nuzubse+u4 / 25
k.. po 4208+ 0.0
p1 -34.86 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 2,5

< nun Z14e+04 /25
. po 4211+ 0.0
pl -33.24 % 0.00

F C =30.08 [ps/ch] . 7
+ o
TP delay [ns]

TVC(c,b ch) (42,9

1 nu.Usbe+ud / 25
- pO 4258+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 2 13

Tinuizale+ud 25
4226+ 0.0
-34.22+ 0.00

[ C =29.22 [ps/ch] 7

PR R SR |
50 100

TP delay [ns]
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1000
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1000
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2000

4000

3000

2000

1000

TVC(cbch) (4,2,2)

TP delay [ns]

TVC(cbch) (4,2,6

X~ 1 L 8ype+u4 [ 25
F. po 4237+ 0.0
[ p1 -35.96 + 0.00

FC =29.38 [ps/ch] ™, =7

50 10'0
TP delay [ns]

TVC(Cbch) (4, 2 10

1000

-1 i zaae+ud | 25
- pO 4267+ 0.0
[ pl -35.67:+ 0.00

T, Zzsze+U4 | 25
pO 4217+ 0.0
pl -34.04 + 0.00

TP delay [ns]

TVC(cbch) (4,2 14

Tz 139e+04 / 25
= pD 4209+ 0.0
| pl -34.39+ 0.00

F C = 29.08 [ps/ch]

PR R R S R |
50 100

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,2,3)

A~ 1 nuiz, lobe+ud | 25
po 4225+ 0.0
pL -34.31+ 0.00

[ C =29.14 [ps/ch] ]
o o
TP delay [ns]

TVC(c,b ch) (4 2,7

= nug3zie+04 [ 25
[=s, po 4228+ 0.0
pl -34.66 + 0.00

TP delay [ns]

TVC(c,b ch) (4,2,

T, 4u4e+u4/25
- pO 4266+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 2 15

-z zzoe+ud [ 25
e, pO 4222+ 0.0
p1 -34.69 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (4,3,0

K™ 1 nui goae+ud / 25

Fue po 4180+ 0.0
pl -35.88 0.00

TP delay [ns]

TVC(cbch) (4,34

T rnuzzge+u4 | 25
E pO 4199+ 0.0
pl -35.97+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 3,8

1z, 3z8e+04 | 25
= po 4209+ 0.0
p1 -34.43+ 0.00

TP delay [ns]

TVC(cbch) (4,312

T g, rs4e+04 / 25
= po 4248+ 0.0
pl -36.05+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (4,31

x- 1 iz 23ae+U4 | 25
1 s po 4185+ 0.0
pL -35.02:+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 3,5

-1 U 3v4e+04 [ 25
E pO 4211+ 0.0
pL -36.93+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

~ 1 nui ogbe+ud 25
= po 4210+ 0.0
pl -33.42+ 0.00

[C=29.92[ps/ch] ™. ]

1
50 100

TP delay [ns]

TVC(C, bch) (4,3,13

T nug s3ve+ud [ 25
= pO 4233+ 0.0
pl -36.44 + 0.00

TP delay [ns]
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1000
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1000

4000

3000
2000

1000

TVC(cbch) (4,3,2)

K™ 1nugoiye+ud /25

TP delay [ns]

TVC(cbch) (43,6

I=. po 4204+ 0.0
L pl -35.68 + 0.00

- 1nug.zo4e+04 [ 25
- pO 4222+ 0.0
[ pl -35.74+ 0.00

TP delay [ns]

TVC(cbch) (4, 3 10

T3 10e+u4 /25
- po 4243+ 0.0
- pl -35+ 0.0

TP delay [ns]

TVC(cbch) (4,3 14

T 1nug.gquie+ud / 25
F-. pD 4231+ 0.0
L pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,3

AT 1z s10e+u4 /25
poee, po 4206+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,7

- rnu 31ze+u4 / 25
- pO 4245 0.0
pL -36.78:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 3

ERALEVX bbbe+U4/25
= pO 4254+ 0.0
p1 -34.74+ 0.00

[ C=28.78 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (43,15

-1 nug poye+ud / 25
= pO 4242+ 0.0
p1 -35.35+ 0.00

TP delay [ns]
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1000
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1000

0

4000

3000

2000

1000

TVC(cbch) (4,4,0)

[, po

A7 nui4s0e+04 /25
4181+ 0.0
-34.75+ 0.00

pl

TP delay [ns]

TVC(cbch) (4.4,4

- i bbae+ud / 25
4195+ 0.0
-34.8+ 0.0

1
50 100

TP delay [ns]

TVC(eb.ch)=(4, 4,8

B pD

p1

1z zoge+u4 | 25
4211+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(cbch) (44,12

e, po
p1

T L g3pe+u4 / 25
4205+ 0.0
-35.37 + 0.00

TP delay [ns]
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1000
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1000
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2000

1000

TVC(cbch) (4,4,1)

K™ 1L 4rse+ud [ 25

=, po

p1

4173+ 0.0
-33.87 + 0.00

[ C =29.52 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 4,5

-1 nui b3ze+u4d [ 25
4202+ 0.0
-35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,9

pO
pl

T nup.Zb/e+ud [ 25
4249 0.0
-36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (44,13

T inuipy/e+ud [ 25
4213+ 0.0
-35.89+ 0.00

TP delay [ns]
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2000

4000
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2000

1000

1000

TVC(cbch) (4,4,2)

™, po

K™ 1 nuiosye+ud /25
4184+ 0.0
-35.33+ 0.00

pl

TP delay [ns]

TVC(cbch) (44,6

L(11e+04 [ 25
4223+ 0.0
-36.06 + 0.00

2
[ =
[ C=27.73[ps/ch

S(I) 10‘0

TP delay [ns]

TVC(cbch) (44,10

pO
pl

Tinuzpl(e+u4 [ 25
4248+ 0.0
-35.45+ 0.00

1
100

TP delay [ns]

TVC(cbch) (4,4,14

- PD

pl

T Ly rve+u4 [ 25
4207+ 0.0
-34.92+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (4,4,3)

e, po

AT 1 nuiLosse+ud [ 25
4198+ 0.0
p1 -34.69 + 0.00

TP delay

TVC(c,b ch) (4 4,7

E. pO

[ns]

- nun1.48e+04 [ 25
4218+ 0.0
pl -35.12+ 0.00

TP delay

TVC(cbch) (4, 4 11

[ns]

T nuizyLie+ud / 25
4266+ 0.0
pl -36.66 + 0.00

TP delay

TVC(C, bch) (44,15

[ns]

T inui s4/e+04 /25
4207+ 0.0
p1 -35.17+ 0.00

TP delay

[ns]
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1000

0

4000

3000

2000

1000

TVC(cbch) (4,5,0)

T zuse+ud [ 25
4186+ 0.0
-35.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,54

- i B3ve+ud / 25
e pO 4185+ 0.0
p1 -36.31 0.00

50 5
TP delay [ns]

TVC(cbch) (4 5,8

-1 s 4sve+ud | 25
- po 4225+ 0.0
p1 -36.95+ 0.00

TP delay [ns]

TVC(cbch) (4,5,12

© i, ryve+u4 / 25
= po 4227+ 0.0
pl -35.97 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,51

A1 (ave+Ud | 25
.. po 4206 + 0.0
pL -37.01% 0.00

TP delay [ns]

TVC(c,b ch) (4 55

-1 nui goze+u4 [ 25
e, pO 4193+ 0.0
p1 -36.41% 0.00

TP delay [ns]

TVC(c,b ch) (4 59

b 418e+U4 ] 25
e, pO 4244% 0.0
pL -36.35+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 5 13

T 1 nuiL gbve+ud / 25
- pO 4224+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (4,5,2)

X~ 1L 75ze+04 [ 25
[, po 4188 0.0
L pl -36.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,56

T, 74/e+04 | 25
- pO 4188+ 0.0
L p1 -36.66+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(4, 5, 10

T b4 e+04 [ 25
o=, po 4238+ 0.0
o pl -36.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,5,14

= 1 i yooe+u4 [ 25
- pD 4234+ 0.0
L p1 -36.74 + 0.00

3000

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (4,5,3

AT nuiL, r93e+u4 / 25
=3 po 4214+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (4 57

-1 nui Bo3e+u4 / 25
e, pO 4219+ 0.0
p1 -37.34+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (4, 5

T 94=e+u4/25
4249+ 0.0
-36.2+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (4, 5 15

Tinai g rae+04 /25
- pO 4227+ 0.0
p1 -35.95+ 0.00

TP delay [ns]



TVC(cbch)(460) TVC(cbch)(461) TVC(cbch)(462) TVC(cbch)(463)
A” i Bzoe+u4 [ 25 A~ 1L yale+ud | 25 A™ 1z usse+ud [ 25 A~ 1 Boae+us | 25
4000 =— PO 4183+ 0.0 4000 =— po 4175+ 0.0 4000 _=- po 4195+ 0.0 4000 Fun, po 4202+ 0.0
pl -34.98 + 0.00 pl -346+ 0.0 F pl -34.64 + 0.00 pl -35.05+ 0.00

- 3000

3000 - 3000 -1 3000 - N

2000 B 2000 - 2000 2000

1000 E 1000 1000

1 wof- C = 28.87 [ps/chl]

1 1 L 1 1 1 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (46,4 TVC(cbch) (46, TVC(cbch) (4,6,6 TVC(c, bch) (46,

S, l?u‘:)eﬂ]d 125 4000 U l?i';.e+l)4/25 AL J)Ule+U4 125 T d)b4e+l)4/25
4000, pO 4194+ 0.0 4191+ 00 4000 e, pO 4210+ 0.0 4000 o, pO 4200+ 0.0
Pl -35.47:0.00 -35.8:+ 0.0 F Pl -36.42% 0.00 Pl -35.27:0.00
3000~ - 3000 B 3000[ 1 3000 E
2000 - - 2000 1 2000 71 2000 1
woof ] 1000 e wof C = 27.46 [ps/ch ] wof C = 28.35 [ps/ch ]
I b I - L I - I -
50 00 50 00 0 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(4,6,8) TVC(eb,ch)=(4,6,9) TVC(eb.ch)=(4, 6, 10) TVC(e.heh)=(4,6, 11)
T g ploe+u4 / 25 T inuiLas/e+us/ 25 ©1nug.4zpe+04 / 25 T 1nuiz rope+u4 / 25
4000 f, PD 4216+ 0.0 4000 fo, DO 4234+ 0.0 4000 __- DO 4250+ 0.0 4000 o, 4239+ 0.0
pl -34.71+ 0.00 pl -34.57 + 0.00 : pl -35.79+ 0.00 -34.63 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 4 2000 [~ - 2000 2000 -

1000 E 1000 C = 28.93 [pS/Ch] 1000: w00 C = 28.87 [pS/Ch] 7]

1 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,6,12 TVC(C, bch) (4,6,13 TVC(cbch) (4,6,14 TVC(C, bch) (4,6,15

T rnuizul4e+ud | 25 T nuiy4se+ud [ 25 T 1nuizulve+ud | 25 T nui ysse+ud [ 25
41000 o, PO 4235+ 0.0 4000 e, PO 4229+ 0.0 4000 - PD 4232+ 0.0 4000 po, PO 4238+ 0.0
pl -36.52+ 0.00 pl -36.48 + 0.00 r pl -36.88 + 0.00 pl -36.88 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (4,7,0 TVC(cbch) (4,7,1 TVC(cbch) (4,7,2) TVC(cbch) (4,7,3

A~ 1 L dyae+Ud [ 25 X~ LG/ e+04 1 25 K~ 1L doser0d [ 25 X~ 1w, fose+0d ] 25
ao00pm po 4216+ 0.0 4000, po 4230+ 0.0 4000 m PO 4235+ 0.0 4000 fr, PO 4252 0.0
Pl -35.26% 0.00 Pl -35.84% 0.00 [ PL_ -35.26% 0.00 Pl -35.78% 0.00
3000 - 3000 - 3000} ] 3000 -
2000 4 2000 - 2000 - 2000 ]
1000 1 ] wool- C = 28.36 [ps/ch ] ]
- -
- ]
L L 1 Il 1 1
50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,7,4 TVC(cbch) (47, TVC(cbch) (4,7,6 TVC(c, bch) (47,7

~ g 2U§e+04 125 T rnar 24LE+U4/25 “ g l‘?:)leﬂ]d 125 Tnar g 244&+04/25
4000 pO 42471 00 4000 o, pO 42491 0.0 4000 fm pO 424700 4000 fr, pO 4255£ 0.0
Pl -35.36%0.00 Pl -3565% 000 [ Pl -35.88%0.00 Pl -35.58% 000
3000 ] 3000 - s000 ] 3000 | 4
2000 ] 2000 ] 2000 1 2000 1
1000 ] 1000 ] woor- C = 27.87 [ps/ch ] woor C = 28.11 [ps/ch] ]
1 1 bl 1 -
50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (47,8 TVC(cbch) (47, TVC(cbch) (47,10 TVC(c, bch) (4,7,

) 9) ) 11)
© 1 nu 5goe+ud / 25 -1y gy4e+u4 [ 25 T 1nuz.a81e+04 / 25 - ruz.ubge+u4 / 25
4000 B po 4225+ 0.0 4000 pO 4250+ 0.0 4000 [, po 4272+ 0.0 4000 o, p0 4264+ 0.0
Pl -36.45% 0.00 Pl -36.74% 0.00 I PL_ 3654+ 0.00 Pl 3566+ 0.00

3000

. 3000 1 3000 - 3000 -1

2000 -1 2000 -1 2000 N 2000

1000 -1 1000

- 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,7,12) TVC(cbch) (4,7,13) TVC(cbch) (4,7,14) TVC(cbch) (4,7,15)
T Lyse+ud /25 <1 nuiL yyve+ud / 25 T 1oe+04 / 25 T inuiLyg/e+ud [ 25
4000 pO 42715 00 4000 pO 4281£ 00 4000 fomm PD 4273+ 00 4000 pO 4276 00
p1 -35.87 + 0.00 p1 -36.76 + 0.00 L pl -36.17 + 0.00 p1 -36.43 + 0.00

- 3000

3000 -1 3000 T 3000 .

2000 ] 2000 - 2000 E 2000

1000 1000 7 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(480) TVC(cbch)(481) TVC(cbch)(482) TVC(cbch)(483)
AT 1nuiLsrve+u4 /25 AT 1L Bsoe+ud [ 25 A7 1 nun suse+u4 / 25 AT 1 nuiL rooe+ud [ 25
4000, po 4201+ 0.0 4000, po 2209+ 0.0 4000, po 4214+ 0.0 4000 [ po 4213+ 0.0
pl -36.46 + 0.00 pl -36.3+ 0.0 - pl -35.39 0.00 pl -35.63+ 0.00

3000

-1 3000 - 3000

-1 3000 -

2000 1 2000 - 2000

N 2000 =

1000 1 1000 1000

wof- C = 28.26 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (4 8,4) TVC(c,b Ch) (4 8,5) TVC(c,b Ch) (4 8,6) TVC(c,b Ch) (4 8,7)
~ 1 nuiL yzse+u4 [ 25 - rnua.guse+ud [ 25 T nu Zbze+04 [ 25 -1 3bae+u4 [ 25
4000 pO 4229+ 0.0 4000 R, pO 4220+ 0.0 4000 = pO 4231+ 0.0 4000 s pO 4245+ 0.0
Pl -35.77%0.00 Pl 3532+ 0.00 I PL_ -34.87%0.00 Pl -35.45% 0.00

3000

-1 3000 - - 3000 =1 3000 - -1

2000 -1 2000 - 2000 - 2000 -

1000 - 1000 - 1000

. wool C = 28.21 [ps/ch ]

50 1(;0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(4,8,8) TVC(eb.c)=(4,8,9) TVC(eb.ch=(4. 8, 10) TVC(eheh)=(4,8,11)
© 1 nuiLsbze+u4 / 25 Ty rzge+u4 | 25 ©1nu.b43e+04 [ 25 T rnuiz.ulie+ud [ 25
4000 e, pO 4228+ 0.0 4000 e, pO 4248+ 0.0 4000 [, DO 4268+ 0.0 4000 [ p0 4259+ 0.0
Pl 3587+ 000 -359.+ 0.0 [ -36.1% 0.0 Pl -34.91: 0.00

3000

- 3000 -1 3000 -1 3000

2000 -1 2000 N 2000 2000

1000

- 1000 - 1000

1000 1
1 1 - L 1 1 -
50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,812 TVC(C, bch) (4,813 TVC(cbch) (4,814 TVC(C, bch) (4,815

T z1ye+ud /25 T inuizyrve+ud [ 25 T nuizusoe+ud | 25 -1 nuiz.yuye+ud / 25
1000 o, pO 4225+ 0.0 4000 o, pO 4226+ 0.0 4000 o, PD 4230+ 0.0 4000 e, pO 2244+ 0.0
pl -35.14+ 0.00 pl -36.23+ 0.00 F pl -34.5+ 0.0 pl -36.17 + 0.00

- 3000

- 3000

3000 3000~

2000 ] 2000 2000 2000

1000 1000

1000

ol C = 28.99 [ps/ch]

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (4,9,0)

K™ 1w 4zze+04 [ 25
4000 [ po 4185+ 0.0
pL -32.77  0.00
3000 [~ 7
2000 = 7
w0 C = 30.51 [ps/ch] ™ 7
51') 10'0
TP delay [ns]
TVC(cbch) (4,9,4)
S i1 53e+04 /25
4000 e po 4227+ 0.0
pL -33.38 + 0.00
3000 [~ 7
2000 = 71
10001 C = 29.96 [ps/ch] - ]
% o
TP delay [ns]
TVC(cbch) (4,9,8)
T nu 3b3e+u4 [ 25
4000 [ pO 4206+ 0.0
p1 -32.83  0.00
3000 - 71
2000 |- 7
wor C =30.46 [ps/ch] ™-_ 1
1 1 -
¢ 50 100
TP delay [ns]
TVC(cbch) (4,9,12)
T nuz,usse+ud / 25
4000 fae, po 4255+ 0.0
pl -34.92+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,1)

E po

p1

A~ 1L byse+ud [ 25
4183+ 0.0
-32.78 + 0.00

[ C =30.50 [ps/ch]

L L i
50 100
TP delay [ns]

TVC(c,b ch) (4 9,5

=1 i boye+u4 / 25
4223+ 0.0
-32.88 + 0.00

[ DO
pL
[ C =30.41[ps/ch] *-_ 1]
50 150
TP delay [ns]

TVC(c,b ch) (4 9,9

T nu zz8e+u4 [ 25
po 4230+ 0.0
p1 -34.25+ 0.

34.25 + 0.00

[ C=29.19 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (4, 9 13

- pO

T nui goye+ud [ 25
4254+ 0.0
-34.45+ 0.00

[ C =29.03 [ps/ch]

50

il
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (4,9,2)

K™ | oy:emﬁ‘
-I'_ po 4198+ 0.0
[ pl -32.64 + 0.00
r C 30.64 [ps/ch] ™, ]
50 10'0
TP delay [ns]
TVC(cbch) (4,9,6)
~ 1 nun bzbe+u4 [ 25
-, pO 4220+ 0.0
[ pl -34.47 :;‘
FC =29.01 [ps/ch™., ]

50

1
100

TP delay [ns]

TVC(cbch) (4, 9 10

- 1 nuiz.o30e+Ud | 25
pO 4241% 0.0
p1 -32.88:+ 0.00

- C =30.41 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (4,9,14

pD

pl

- 1 i yYse+u4 [ 25
4265+ 0.0
-35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3)

A1 nuiL4oze+u4 [ 25
e, PO 4203+ 0.0
pl -33% 0.0
[ C=230.31[ps/ch] ™ 1
L -
50 100
TP delay [ns]

TVC(c,b ch) (4 9,7

- pO

S nun 1yse+ud [ 25
4233+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (4, 9

T yme+u4/25
- pO 4234+ 0.0
pl -33.07 + 0.00

[ C =30.24 [ps/ch]

_L
50

1
100

TP delay [ns]

TVC(c,b ch) (4, 9 15

- pO

- i yobe+ud [ 25
4262 0.0
-34.51+ 0.00

[ C =28.97 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 10 0)

T rnuzn3pe+u4 [ 25
pO 4203+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(Cbch) (4, 10 4

- rnuz91e+04 [ 25
po 4236+ 0.0
pl -36.99 + 0.00

- C N
o+ o
TP delay [ns]
TVC(c,b, ch) (4, 10 8

- i b re+U4 | 25
pD 4235+ 0.0
367+ 0.0

1
100

TP delay [ns]

TVC(Cbch) (4, 10 12

Tz 1s1e+u4 /25
po 4246+ 0.0
pl -34.84+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

A1 iz.a0(e+U4 | 25
po 4206 + 0.0
pL -36.42:+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (4, 10 5

- iU b3se+u4d / 25
pO 4222+ 0.0
pL -36.81% 0.00

1(;0
TP delay [ns]

TVC(c,b ch) (4,10,9

<1 nuiL ybse+us / 25
po 4271+ 0.0
p1 -38.61+ 0.00

| =
100

TP delay [ns]

TVC(c,b ch) (4, 10 13

T inuiz.z4ze+ud [ 25
pO 4260+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (4,10,2)

X~ 1wz 353e+04 [ 25
po 4213+ 0.0
p1 -36.74 £ 0.00

TP delay [ns]

TVC(Cbch) (4, 10 6

- 1nuz.403e+04 [ 25
pO 4236+ 0.0
p1 -37.88+ 0.00

100
TP delay [ns]

TVC(eb.eh)=(4, 10, 10

-1 i be+U4 | 25
pO 4277+ 0.0
p1 -37.65+ 0.00

TP delay [ns]

TVC(CbCh) (4, 10 14

1 nuiz.409e+04 / 25
pD 4259+ 0.0
pl -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

AT 1 nuiz425e+04 [ 25
po 4218+ 0.0
p1 -36.07 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (4, 10 7

-1 U byye+us / 25
pO 4246+ 0.0
p1 -37.41% 0.00

100
TP delay [ns]

TVC(ehch)=(4, 10, 11

T nu r33e+04 / 25
pO 4287+ 0.0
p1 -37.95+ 0.00

TP delay [ns]

TVC(cbch) (4, 10 15

-z oo re+ud [ 25
pO 4259+ 0.0
p1 -35.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,11,0)

K™ 1 nuioose+ud /25
4175+ 0.0
p1 -34.98 + 0.00

TP delay

TVC(cbch) (4,114

[ns]

- rnuz,u3ve+ud / 25
4206+ 0.0
-36.42 + 0.00

F pO
p1
FC N
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (4,11,8)
Tz 383e+04 | 25
- po 4212+ 0.0
pl -35.08 + 0.00

TP delay

TVC(cbch) (4,11, 12

[ns]

X1 s41e+04 /25
= po 4228+ 0.0
pl -34.97 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,11,1)

Fome, po

AT rnuLyzie+ud [ 25
4176+ 0.0
-35.2+ 0.0

p1

TP delay

TVC(cbch) (4,11,5

F- pO

[ns]

-1 nu 1bYe+u4 / 25
4221+ 0.0
pl -36.69 + 0.00

TP delay

TVC(eh.eh)=(4, 11, 9

e, po

[ns]

~ 1 nug ggbe+ud / 25
4248+ 0.0
pl -35.89 + 0.00

TP delay

TVC(c, bch) (411,13

pO

[ns]

~ 1 nui osge+ud / 25
4247+ 0.0
pl -36.12+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (4, 11 2)

froese DO

~1nuiLpuse+ud / 25
4191+ 0.0
pl -36.08 + 0.00

TP delay

TVC(cbch) (4,11,6

pO
p1

[ns]

T z,04e+04 /25
4218+ 0.0
-36.28 + 0.00

TP delay

TVC(e.bch)=(4, 11, 10

[ns]

X7 1 nuizoyse+u4 / 25
-, po 4253+ 0.0
- pl -36.98 + 0.00

TP delay

TVC(cbch) (4,11, 14

[ns]

X~ 1L yuze+ud [ 25
__ po 4247+ 0.0
L pl -36.08 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4, 11 3)

pO

T 1ove+ud [ 25
4204+ 0.0
pl -35.92+ 0.00

TP delay

TVC(cbch) (4,11,7

o= pO

[ns]

- 1nug14ze+04 | 25
4228+ 0.0
pl -36.05+ 0.00

50 1(;0
TP delay

TVC(cbch) (4, 11 11

= pO

[ns]

- nun z.a3e+u4 [ 25
4263+ 0.0
pl -36.03 + 0.00

TP delay

TVC(c, bch) (411,15

[ns]

T 1nui szae+ud [ 25
4237+ 0.0
-35.91+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,12,0)

1 nui suye+u4 / 25

e p; " 4201+ 0.0
-34.39+ 0.00
[ C=29.08 [ps/ch],_ 7
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (4, 12 4)
~ 1 nunL 884e+04 [ 25
3 pO 4209+ 0.0
pl -34.75+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 12 8

T 1nuzZlbe+u4 | 25
- po 4229+ 0.0
pl -34.88 + 0.00

TP delay [ns]

TVC(Cbch) (4, 12 12

T 1 sye+ud /25
= po 4218+ 0.0
-34.14+ 0.00

[ C =29.29 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (4,12,1)

4000 fur po

AT 1nuiLb/e+u4 [ 25
4204+ 0.0
-35.03+ 0.00

p1

3000

2000

1000

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (4, 12 5

4000 pO

-1 nuz.u3ze+u4d / 25
4222+ 0.0
-35.16 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (4,12,9

4000 B po

pl

T a1 rge+ud [ 25
4230+ 0.0
-33.62 + 0.00

3000 -

2000 -

10 C = 29.75 [ps/ch] ™.

1
50 100

TP delay [ns]

TVC(c,b ch) (4, 12 13

4000 [

T 1 naiL guge+ud / 25
4214+ 0.0
-34.82+ 0.00

3000

2000

1000 |~

TP delay [ns]

TVC(CbCh) (4,12,2)

4000, po

3000
2000

1000

AT 1 nuns1se+u4 /25
4227+ 0.0
p1 -36.34+ 0.00

TP delay

TVC(Cbch) (4, 12 6

4000 e, pO

pl

[ns]

-1 nuz,u34e+04 [ 25
4226+ 0.0
-35.81+ 0.00

3000 |~

2000~

wol- ¢ = 27.93 [ps/ch

TP delay

TVC(cbch) (412,10

40008 pO

pl

[ns]

T nuig1z9e+04 / 25
4263+ 0.0
-34.45+ 0.00

3000

2000~

wof C = 29.03 [ps/ch]

1
0 50 100

TP delay

TVC(CbCh) (4, 12 14

4000 [

[ns]

~nuiLgyse+u4 / 25
4220+ 0.0
pl -35.67 + 0.00

3000
2000

1000

TP delay

[ns]

TVC(Cbch) (4,12,3)

AT rnuiLr41e+04 125
4224+ 0.0
p1 -36.42+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c,b Ch) (4, 12 7

4000 fum pO

[ns]

- nuz 11Ye+u4 [ 25
4241+ 0.0
pl -35.36 + 0.00

3000 -

2000 -

woor C = 28.28 [ps/ch

TP delay

TVC(c, bch) (4, 12 11

4000 e, pO

pl

[ns]

~ 1 nuiz syye+ud 25
4255+ 0.0
-34.31+ 0.00

3000 -

2000 -

00 C = 29.15 [ps/ch]

1
50 100

TP delay

TVC(cbch) (4, 12 15

4000 [u.

[ns]

-1 nui yyse+ud [ 25
4223+ 0.0
p1 -34.74+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 13 0)

~rnugzise+u4 [ 25
4206+ 0.0
-35.91+ 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (4, 13 4

- rnun 1 bbe+ud [ 25
o, po 4215+ 0.0
pl -36.54 + 0.00

50 5
TP delay [ns]

TVC(ebch)=(4, 13,8

- 1 nuizodbe+Ud 1 25
- pD 4234 0.0
p1 -35.59+ 0.00

TP delay [ns]

TVC(Cbch) (4, 13 12

- i (Use+u4 [ 25
= po 4240+ 0.0
p1 -35.98+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,13,1)

e po

p1

A1 zalierud ] 25
4214+ 0.0
-35.95+ 0.00

TP delay [ns]

TVC(c,b Ch) (4,13,5

X~ 1,
p0
pl

1b2e+04 1 25
4234+ 0.0
-36.71+ 0.00

TP delay [ns]

TVC(ebeh)=(4, 13,9

X~ g,

[, po

pl

163e+U4 / 25
4247+ 0.0
-36.14+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 13 13

T inuzus/e+ud [ 25
4235+ 0.0
-35.62+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4,13,2)

A~ 1nuiz49se+04 | 25
F.... po 4202+ 0.0
[ p1 -35.57+ 0.00

3000

TP delay [ns]

TVC(Cbch) (4, 13 6

1000

1 nuiLbage+u4 | 25
- pO 4206+ 0.0
L pl -35.14 + 0.00

TP delay [ns]

TVC(cbch) (4,13, 10

1000

0

-t bsBe+Ua 1 25
- pO 4281+ 0.0
[ pL -37.48+ 0.00

TP delay [ns]

TVC(CbCh) (4, 13 14

~rnuiLyuse+u4 / 25
- pD 4244+ 0.0
L pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,13,3)

s, po

A1z yuse+ud | 25
4203+ 0.0
p1 -34.48 + 0.00

[ C =29.00 [ps/ch]

L
50 100

TP delay

TVC(c,b Ch) (4, 13 7

[ns]

- nui /3pe+04 / 25
4219+ 0.0
-35.7 + 0.0

TP delay

TVC(ebeh)=(4, 13, 1

= pO

[ns]

T nuizobze+u4 [ 25
4272+ 0.0
p1 -36.42+ 0,00

TP delay

TVC(cbch) (4, 13 15

[ns]

T nui sle+ud [ 25
4249+ 0.0
p1 -36.43+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 14 0)

~ L, robe+u4 / 25
4207+ 0.0
pl -36.06 + 0.00

TP delay

TVC(cbch) (4,144

[ns]

T i bb/e+ud / 25
4207+ 0.0
-36.04 + 0.00

[Fanse. PU
pl
e 4
% T
TP delay [ns]
TVC(c,b, ch) (4, 14 8

1 nuz 3yge+u4 | 25
4213+ 0.0
-35.6+ 0.0

TP delay

TVC(cbch) (414,12

[ns]

1z, 109e+04 / 25
4243+ 0.0
-35.8+ 0.0

PR B SRS |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,14,1)

Ao,

e, po
p1

rsoe+u4 [ 25
4202+ 0.0
-36.08 + 0.00

TP delay [ns]

TVC(c, bch) (4,145

-1 nui bble+ud / 25
4199+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(c, bch) (4,14,9
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TP delay [ns]

TVC(c,b ch) (5 57

-1 nu Us3e+u4 / 25
e, pO 4207+ 0.0
pL -36.22:+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 5

EEALEVX uzue+u4/25
- po 4267+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(C, bch) (5,5,15

T nui s3ye+ud [ 25
= pO 4230+ 0.0
p1 35+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,6,0

X~ 1w sz0e+U4 [ 25
- PO 4182+ 0.0
pl -37.69 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (56,4

- 834e+04 | 25
', pO 4196+ 0.0
pl -37.21+ 0.00

[ C =26.87 [ps/c ]
5(‘) 10‘0 =
TP delay [ns]
TVC(c,b ch) (5 6,8

T zpe+ud /25
PO 4217+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (5,6,12

T nuiLy43e+u4 / 25
PO 4234+ 0.0
pl -36.23 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6, 1

A1 Ui 4soe+ud [ 25
- PO 4199+ 0.0
pl -38.41+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,5

- 1. Ov1e+u4 25
™, DU 4189+ 0.0
pl -37.17+ 0.00

TP delay [ns]

TVC(c,b ch) (5 6,9

T nur.a1ze+04 /25
- DO 4225+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(C, bch) (5,6,13

T 2.zae+04 [ 25
- PO 4223% 0.0
pl -36.29 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

TVC(cbch) (5.6,2)

o Lose+ud [ 25
F - PO 4212 0.0
I pl -38.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (56,6

-9 ze+04 | 25
- pO 4196+ 0.0
I pl -37.18+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 6 10

1000

0

T nuz r44e+04 [ 25
- DO 4243+ 0.0
r pl -36.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (56,14

1000

- z0oe+ud [ 25
™ PD 4212+ 0.0
I pl -35.88 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,6,3)

AT 1 nuiL, (8oe+U4 / 25
PO 4215+ 0.0
p1 -37.88 + 0.00

TP delay [ns]

TVC(c,b ch) (5 6,7

“rnu bz e+u4 [ 25
= PO 4206+ 0.0
pL -36.46 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 6

AALVS za4e+u4/25
- pO 4246 £ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(C, bch) (5.6, 15

Trzalie+ud /25
pO 4230+ 0.0
pl -35.98 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0)

- uve+ud | 25
- PO 4200+ 0.0
pl -36.39:+ 0.00

TP delay [ns]

TVC(cbch) (57,4

- 1L 6vae+V4 | 25
P, pO 4212+ 0.0
pl -37.09+ 0.00

TP delay [ns]

TVC(cbch) (5 7,8

a2 guve+u4 / 25
- PD 4225+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (57,12

T 1L p4se+u4 / 25
- PO 4250+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

AT 1 nuiLszie+ud [ 25
- po 4214+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna 5496 / 25
DU 4215+ 0.0
pL -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,9

T nug g18e+u4 / 25
DO 4257+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(C, bch) (5.7,13

T 3re+u4 [ 25
PO 4254% 0.0
-36.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000
3000

2000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (5,7,2)

X~ 1w ys4e+U4 /25
- po 4206+ 0.0
F pl -36.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (57,6

1000

- 1L y1se+u4 / 25
4220+ 0.0
-36.4+ 0.0

TP delay [ns]

TVC(cbch) (5, 7 10

S rnuz4i/e+V4 /25
DO 4254+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (57,14

~ i spoe+ud [ 25
PD 4254+ 0.0
pl -35.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3)

i Lyverud | 25
- PO 4225+ 0.0
Pl -36.48% 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

-1 nuz.0yge+u4 / 25
- PO 4231% 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (5, 7

aALVR dibe+l}4/25
- pO 4257+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (57,15

T y3be+u4 / 25
- pO 4255+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0

X~ 1L 5/0e+U4 /25
[, po 4213+ 0.0
pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (58,4

- 1 nuiLbube+ud / 25
- pO 41931 0.0
pl -34.85+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

Tanun 4 rze+u4 [ 25
- PD 4223+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (5,812

TanuiLsrze+u4 [ 25
- pO 4264+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

R-nuis1re+ud [ 25
e, PO 4197+ 0.0
pl -35.1+ 0.0

TP delay [ns]

TVC(c,b ch) (5,8,5

'ynulibye+04/25
- Y 4197+ 0.0
pL -36.33 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T b.41e+04 /25
. pO 4252+ 0.0
pL -36.89+ 0.00

TP delay [ns]

TVC(C, bch) (5,813

T 1L buse+u4 / 25
= pO 4268+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

X~ ssre+U4 /25
- po 4200+ 0.0
I pl -35.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (58,6

- gble+ud / 25
- pO 4221+ 0.0
I pl -35.64+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1000

T, (33e+04 1 25
- DO 4264+ 00
[ PL_ -35.89% 0.00

TP delay [ns]

TVC(cbch) (5,814

- 1L 34 re+ud [ 25
[ PD 4249+ 0.0
+ -34.6+ 0.0

- C = 28.90 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3)

AT 1 nuiLb/oe+u4 / 25
PO 4229+ 0.0
p1 -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

-1 nu.Usle+usd / 25
PO 4215+ 0.0
pL -35.21+ 0.00

TVC(c,b ch) (5, 8

TP delay [ns]

ALV u/::e+u4/25
pO 4276+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(C, bch) (5,815

- i 1oze+ud [ 25
pO 4239+ 0.0
pl -35+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,0)

X~ 1w bave+U4 [ 25

p1 -36.64+ 0.00

4231+ 0.0

TP delay [ns]

TVC(cbch) (59,4

- i, ryze+u4 | 25

- pO 4215+ 0.0
p1 -36.57:+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5 9,8

1 nuiz gg3e+u4 | 25

= pD 4219+ 0.0
pl -35+ 0.0

TP delay [ns]

TVC(cbch) (5,9,12

- 1 nuiL yove+u4 / 25
4244+ 0.0
-35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,91

AT 1 nuiLBloe+u4 [ 25
= po 4229+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,5

S 21e+0a /25
- pO 4223+ 0.0
p1 -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,9

-1 up 51be+u4 [ 25
4239+ 0.0
-34.51+ 0.00

I C =28.98 [ps/ch] 7

1
50 00

TP delay [ns]

TVC(c,b Ch) (5, 9 13

T inai ule+ud / 25
4245+ 0.0
-36.23+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

2000

:

10005— C =29.73 [ps/ch] ™. '
! : s

4000
3000

2000

1000

TVC(cbch) (5,9,2)

- P

AT 1 suze+ud [ 25
4233+ 0.0

1 L
50 100
TP delay [ns]
TVC(cbch) (5 9,6)
~1nuz.2uze+u4 [ 25
-, pO 42441 0.0
-37.41:_0.00

p1 -36.94 + 0.00

TP delay [ns]

TVC(eb,oh)=(5, 9, 10

1 nuig 153e+U4 / 25

- pO 4240 0.0
X pl -33.63+ 0.00

TP delay [ns]

TVC(cbch) (59,14

- o (Ore+u4 [ 25
4229+ 0.0
-34.21+ 0.00

F C = 29.23 [ps/ch]

PR R R S R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,93

A~ 1 nuiLbose+ud | 25
- po 4253+ 0.0
pL -37.23+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,7

- 1 nuz 299e+ud | 25
= po 4251+ 0.0
p1 -37.28+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 9

AR b/ée+l]4/25
o, 4248+ 0.0
-34.53 + 0.00

[ C =28.96 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (5, 9 15

S s1e+ud [ 25
4249+ 0.0
-35.53 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 10 0)

T rnuiLpl4e+u4 [ 25
4160+ 0.0
pl -35.32 0.00

TP delay [ns]

TVC(cbch) (5.10,4

pO

T L b r4e+04 [ 25
4213+ 0.0
pl -35.29+ 0.00

TP delay

TVC(cbch) (5, 10 8

- pD

[ns]

©1nug pg/e+ud [ 25
4220+ 0.0
pl -36.41+ 0.00

TP delay

TVC(cbch) (5,10, 12

[ns]

T rnuiLsyre+u4 [ 25
4249+ 0.0
pl -36.58 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

=, po

AT 1 nuLoyle+ud [ 25
4186+ 0.0
-35.17 + 0.00

p1

TP delay [ns]

TVC(c, bch) (5,105

~ 1 nuiLbroe+u4d / 25
4206+ 0.0
-35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 10

e, po

pl

T nugylse+ud / 25
4241% 0.0
-36.42+ 0.00

TP delay [ns]

TVC(cbch) (510,13

pO
p1

T inui s rge+ud [ 25
4258+ 0.0
-36.11 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(CbCh) (5,10,2)

e, PO

K™ 1 nuiLosoe+u4 /25
4180+ 0.0
p1 -34.95+ 0.00

TP delay

TVC(cbch) (5.10,6

[ns]

- i b3pe+u4 / 25
4228+ 0.0
pl -36.58 + 0.00

- pO
L C = 27.34 [ps/ch .
5(') 10'0 =
TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

= o

1 nuz5ube+u4 / 25
4267+ 0.0
pl -37.35+ 0.00

TP delay

TVC(cbch) (5.10, 14

[ns]

©1nuiLg48e+04 / 25
4251+ 0.0
pl -36.23+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

e po

AT rnuiLbrie+ud /25
4186+ 0.0
-35.3+ 0.0

pl

TP delay

TVC(c, bch) (5,10, 7

= pO

[ns]

- 1nui ylse+ud / 25
4234+ 0.0
pl -35.74 % 0.00

TP delay

TVC(cbch) (5, 10 1

e pO

[ns]

~ 1 nuig s29e+u4 / 25
4259+ 0.0
pl -35.91+ 0.00

TP delay

TVC(cbch) (5.10,15

e, po

[ns]

Tonan15/e+ud [ 25
4231+ 0.0
p1 -35.76 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

X~ rzre+U4 /25

. po 4166+ 0.0
-33.67 + 0.00

[ C=29.70 [ps/ich] ™, ]
% e
TP delay [ns]
TVC(cbch) (5,11,4) _
T rnung, r33e+U4 / 25
e, pO 4227@
pl -35.54 + 0.00

e ]

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

1 nuiz, (o8e+u4 | 25

e, po 4225+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

X~ 11 bb4e+04 /25
= po 4239+ 0.0
p1 -36.7+ 0.0

TP delay [ns]

TVC(Cbch) (5,11,1)

4000 [ po

p1

A7 1 nuiLyug4e+u4 / 25
4179+ 0.0
-33.54+ 0.00

3000

2000 -

w00 C = 29.81 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (511,5

4000 fm, pO

[ns]

-1 nui byle+u4d / 25
4218+ 0.0
pl -36.03 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (5, 11 9

4000

[ns]

~ 1 nun.byle+ud / 25
4245+ 0.0
-35.5+ 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (511,13

4000 e ,,0

[ns]

Tinai/1/e+ud /25
4237+ 0.0
pl -36.77 + 0.00

3000

2000

1000

TP delay

[ns]

TVC(CbCh) (5, 11 2)

2000 e po

pl

3000

2000~

wol ¢ = 30.01 [ps/ch]

~rnuiLploe+u4 / 25
4186+ 0.0
-33.32 0.00

1
50 100

TP delay

TVC(cbch) (5 11,6

4000 e, pO

p1

[ns]

-1 nuLyu4e+ud [ 25
4238+ 0.0
-36.95+ 0.00

3000~

2000~

wol C = 27.07 [ps/ch

TP delay

TVC(cbch) (5, 11 10

4000

[ns]

Tz ze+04 [ 25
4251+ 0.0
-35.1+ 0.0

3000
2000

1000

TP delay

TVC(cbch) (5,11, 14

4000 [

[ns]

X~ 1 i sad4e+04 / 25
po 4228+ 0.0
pl -35.46 + 0.00

3000
2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

po
pL

AT rnuiLsLe+ud [ 25
4185+ 0.0
-33.21+ 0.00

[ C=230.11 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (511,7

- pO

[ns]

-1 nui yage+u4 / 25
4250+ 0.0
pl -36.55+ 0.00

TP delay

TVC(cbch) (511,11

e pO

[ns]

-1 nuiz.ylge+ud / 25
4252+ 0.0
pl -35.85+ 0.00

TP delay

TVC(cbch) (511,15

[ns]

TinuiLyize+ud [ 25
4225+ 0.0
p1 -35.38 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

T zze+04 [ 25
P pO 4183+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(cbch) (5.12,4

- 1 nuiL40ze+04 / 25
= pO 4204+ 0.0
pl -36.97:+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

Tz 143e+04 / 25
= po 4200+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (512,12

T rnuiLgive+u4 / 25
pO 4215+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(chh) (5,12,1)

3000

2000

1000

AT 1 nun Loze+ud [ 25
4000 [, po 4219+ 0.0
p1 -35.77+ 0.00

TP delay [ns]

TVC(cbch) (5,125

4000 S

3000

2000 -

1000 [~

- nui rz24e+04 [ 25
pO 4208+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVCEDCh)=(5, 12,9

4000

3000

2000

1000

. Hm44/43+u4/25
- pO 4214+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (512,13

4000 [,

3000

2000

1000

T nui ssge+ud / 25
= pO 4197+ 0.0
-35.61+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (5, 12 2)

- C = 29.37 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

T LB 3e+u4 [ 25
- pO 4210 0.0
[ pl -36.31¢ 0.00

T rnuiLproe+ud / 25
__— pO 4193+ 0.0
[ p1 -34.05+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

T fore+u4 [ 25
DO 4241+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (512,14

T rnuiLyole+u4 / 25
pD 4200+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT rnuiLgyre+ud [ 25
o=, po 4196+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c, bch) (5,127

-1 nui BUse+u4 / 25
4220+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(eheh)=(5, 12, 11

-1 nuiz.usze+ud [ 25
= po 4236+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (512,15

- T nuiL g 0e+ud [ 25
pO 4205+ 0.0
-35.42+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 13 0)

T Lrze+04 [ 25
o, pO 4292+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (5.13,4

Srnuan i /oe+u4 /25
[oese. PO 4230+ 0.0
pl -36.39+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

T i, rzoe+u4 | 25
[Foane PD 4269+ 0.0
p1 342+ 0.0

[ C =29.24 [ps/ch] .

1
0 50 100

TP delay [ns]

TVC(cbch) (513,12

T pyle+ud /25
- po 4235+ 0.0
pl -35.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

AT 1 nus.uose+ud [ 25
e po 4284+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

-1 nuiglre+u4 /25
4218+ 0.0
-36.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c, bch) (5, 13 9

T inun 3. 9ge+ud [ 25
- pO 4304+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (513,13

TinaiLg/e+ud [ 25
- pO 4239+ 0.0
p1 -35.3+ 0.0

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

AT 1 nuig.zyze+04 /25
e, po 4299+ 0.0
: pl -37.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

=1L BuYe+ud / 25
po 4248+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

T 3z3e+04 | 25
- po 4317+ 0.0
[ pl -35.24 + 0.00

- C = 28.37 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.13, 14

~1nuizuLoe+ud / 25
- pD 4244+ 0.0
| pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

AT 1z, r3oe+ud [ 25
po 4309+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(c, bch) (5,137

-1 nuz.uaze+ud 25
- pO 4260+ 0.0
pL -37.33+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 1

1 nui4use+u4 /25
- po 4320+ 0.0
-35.13+ 0.00

[ C =28.46 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (513,15

Tinanzure+ud | 25
- pO 4252+ 0.0
p1 -35.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

T Lrze+04 [ 25
4240+ 0.0
-36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.14,4

-1 bz4e+04 [ 25
pO 4245+ 0.0
pl -36.22:+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

T rnug.1roe+u4 [ 25
= po 4205+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (514,12

1z 1uve+ud / 25
- po 4286+ 0.0
pl -37.45+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

AT rnus.zrse+ud [ 25
oaee po 4233+ 0.0
pl -35.64 + 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,145

=1 i bype+u4 / 25
- pO 4257+ 0.0
37+ 0.0

TP delay [ns]

TVC(c, bch) (5, 14 9

~ 1 nuiLy1ze+us / 25
= po 4236+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(cbch) (514,13

T inuiz 118e+ud [ 25
e, pO 4271+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (5,14,2)

- C = 28.06 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

K™ 1 nuig oose+U4 / 25
_-_ po 4244+ 0.0
[ p1 -35.64 + 0.00

rnun14e+04 /25
- pO 4249+ 0.0
- pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

©1nuigpb3e+ud / 25
e, po 4238+ 0.0
o pl -34.76 + 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

1000

© 1z so3e+u4 [ 25
- pD 4261+ 0.0
L pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

AT 1 nus.bloe+ud /25
— po 4236+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

- nuiLyr3e+u4 / 25
- pO 4278+ 0.0
pL -36.08:+ 0.00

TP delay [ns]

TVC(cbch) (5 14,11

1 nuis.u4ye+u4 / 25
= po 4237+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

TVC(cbch) (5.14,15

T nanz.z9e+u4 | 25
- pO 4264+ 0.0
p1 -35.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

T rnuiLbroe+u4 [ 25
Frcea 4199+ 0.0
-37.11+ 0.00

TP delay [ns]

TVC(cbch) (5.15,4

- 1 i bobe+ud / 25
E pO 4195+ 0.0
p1 -35.75+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

Tz /e+u4 /25
4222+ 0.0
-36.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (515,12

a2 gyve+ud | 25
4224+ 0.0
-34.71+ 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

AT 1nuzzuie+ud [ 25
Foase po 4185+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(cbch) (5,155

- nun bz3e+u4 [ 25
pO 4205+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

TinunpB/e+ud | 25
4247+ 0.0
-37.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5.15,13

T nus.ub/e+ud [ 25
— pO 4225+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (5,15,2)

TP delay [ns]

TVC(cbch) (5.15,6

A1z zoe+u4 | 25
Freee po 4210+ 0.0
o pl -36.68+ 0.00

3000

1L, (88e+04 [ 25

- pO 4218+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

1 nuiz z08e+04 | 25

__— pO 4245+ 0.0
L pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (5.15, 14

1 nuz54pe+04 / 25
- pD 4232+ 0.0
[ p1 -37.52+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT nun ziie+ud /25

po 4212+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

S nun1.8ze+04 [ 25
- pO 4214+ 0.0
pL -35.91% 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

-1 nuiz.usoe+ud / 25
= po 4255+ 0.0
p1 -36.41+ 0.00

TP delay [ns]

TVC(cbch) (5.15,15

T inusurse+ud [ 25
- po 4220+ 0.0
-35.31+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A~ 1nuig.z1ae+04 | 25
e po 4150+ 0.0
p1 -34.05+ 0.00

TP delay [ns]

TVC(cbch) (6,0,4

U2 9e+u4 [ 25
Faue po 4170+ 0.0
-34.01+ 0.00

[ C =29.40 [ps/ch]

50 5
TP delay [ns]

TVC(cbch) (6 0,8

- Ssze+ud [ 25
b pD 4177+ 0.0
p1 -35.97+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (6,0,12

T rnuguse+u4 /25
= po 4208+ 0.0
pl -35.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

A1z 13ve+ud [ 25
e po 4166 + 0.0
p1 -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

= 1nui,O1/e+ud / 25
Focse po 4181+ 0.0
pl -35.52 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

T nuiL4p3e+U5 / 25
P pO 4196+ 0.0
p1 -36.57 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

~ 1 nuiz.yove+ud / 25
E. pO 4204+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.63 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

X~ 1z s18e+U4 [ 25
e po 4171+ 0.0
[ p1 -34.93  0.00

©1nug.4npe+04 / 25
F.. pO 4198+ 0.0
L pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

- g0 7be+U4 [ 25
- po 4215+ 0.0
L pl -35.87+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

Trnugz3e+ud [ 25
E. pD 4199+ 0.0
L pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A1z 1yse+ud [ 25
s po 4186+ 0.0
p1 -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

- 1nu.418e+04 / 25
k.. pO 4204+ 0.0
p1 -34.77+ 0.00

[ C =28.76 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

Ry we+u4/zs
3 pO 4221 0.0
p1 -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

L
=]
5}

- 1nuis,uode+ud [ 25
4215+ 0.0
p1 -35.95 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

P po

T zase+ud /25
4175+ 0.0
-36.91+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

T rnuzya1e+ud [ 25
4177+ 0.0
-34.26 + 0.00

= pO
pl
TP delay [ns]
TVC(cbch) (6, 1 8
= pO

.19be+U4 / 25
4199+ 0.0
-34.63 + 0.00

TP delay [ns]

TVC(cbch) (61,12

= po
p1

1 nuiz,159e+04 [ 25
4198+ 0.0
-35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

i, p0

A1z Love+ud | 25
4195+ 0.0
-37.44 % 0.00

p1

TP delay [ns]

TVC(c,b ch) (6 1,5

© 1 nug 345e+04 / 25
4162+ 0.0
-35.28 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

T onai1s/e+u4 /25
4231% 0.0
-34.85+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

T nuzn3ve+ud [ 25
4193+ 0.0
-35.51+ 0.00

il
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,1,2)

A~ 1z zove+ud [ 25
_E_ po 4211 + 0.0
: pl -37.9+ 0.0
- C = 26.38 [ps/c ]
. i,
50 100
TP delay [ns]
TVC(cbch) (6 1,6)
T nug Zose+u4 [ 25
-, pO 4197+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

= "

-1 nug 128e+u4 [ 25
4245+ 0.0
-35.57 + 0.00

pl

TP delay [ns]

TVC(cbch) (61,14

1 g 358e+U4 [ 25
4191% 0.0
pl -35.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

po

pl

A~ 1 nuiLYs1e+ud / 25
4195+ 0.0
-37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

- pO
p1

-1 Uz ygye+u4 / 25
4191+ 0.0
-34.79 + 0.00

TP delay [ns]

TVC(c,b ch) (6, l

= pO

T, 4b4e+u4/25
4255+ 0.0
-35.57 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (6, 1 15

-z zo0e+ud [ 25
4199+ 0.0
-35.66 + 0.00

TP delay [ns]



TVC(cbch)(620 TVC(cbch)(621 TVC(cbch)(622) TVC(cbch)(623

3000 7 3000 - 3000 - 3000 -
2000 B 2000 4 2000 ] 2000 B
E ] wol- C = 28.22 [ps/ch ] E
[ -
-
0, 1

4000 4000 4000 4000
3000 B 3000 E a000|- - 3000 g
2000 E 2000 E 2000 3 2000 g
1000 - 1000 - w00~ C = 27.95 [ps/ch E 1000 -
-
- -
I b L -

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (62,4

- ruzpule+ud / 25
4215+ 0.0
-35.9+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (6 2,8

“nug.uLle+ud / 25
[ pO 4221 0.0
pl -35.01:+ 0.00

TP delay [ns]

TVC(cbch) (6,2, 12

~1nuzyyze+ud [ 25
- PO 4213+ 0.0
pl -34.92 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (6 2,5

~1nublbe+u4d [ 25
[Fomes, pO 4220+ 0.0
pL -36.18 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,9

-1 nuiLyyze+us / 25
- pO 4264+ 0.0
p1 -37.04+ 0.00

TP delay [ns]

TVC(C, bch) (6,213

Tz olbe+u4 / 25
= po 4240+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000
2000

1000

1
50 100

TP delay [ns]

TVC(cbch) (62,6

TrnuZbre+ud [ 25
=, pO 4236+ 0.0
L Pl -35.77%0.00

TP delay [ns]

TVC(cbch) (6, 2 10

1000

© 11Uy, 180e+04 / 25
=, DO 4265+ 0.0
L -35.9+ 0.0

TP delay [ns]

TVC(cbch) (6,2 14

T, (33e+U4 [ 25
- po 4226+ 0.0
I pl -35.39 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

AT 1L B8 e+u4 [ 25 A~ 1 nb3e+ud | 25 o zple+ud [ 25 A~ 1wz pube+ud | 25
4000 po 4200 0.0 400, PO 4211+ 0.0 4000 [Foee, po 4210+ 0.0 4000, PO 4213+ 0.0
pl -37.47 + 0.00 pl -36.07 + 0.00 F pl -35.43+ 0.00 pl -36.5+ 0.0

TP delay [ns]

TVC(c,b ch) (6 2,7

-1 nu 2yse+u4 [ 25
PO 4249+ 0.0
pL -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 2

T, Ub/e+U4/25
- p0 4277+ 0.0
pl -36.82.+ 0.00

TP delay [ns]

TVC(C, bch) (6,215

T nuz syle+ud [ 25
4245+ 0.0
-35.81+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

AT 1nuis1ve+u4 /25
Froesa po 4196+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (63,4

- 1z, u8be+u4 / 25
Fraese. pO 4230+ 0.0
p1 375+ 0.0

I C =26.66 [ps/c ]

50 10‘0
TP delay [ns]

TVC(cbch) (6 3,8

T rnuzb14e+04 /25
- po 4236+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (6,312

Tz rse+u4 | 25
pO 4236+ 0.0
pl -35.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

AT 1w u/e+u4 | 25
P e, po 4202+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

-1 nuiy14e+04 / 25
[Focee DO 4233+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

-1 nuiL Ubbe+us / 25
- po 4255+ 0.0
p1 -35.49 £ 0.00

TP delay [ns]

TVC(C, bch) (63,13

T 1nuizpu/e+ud [ 25
4224+ 0.0
-35.1+ 0.0

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,3,2)

K™ 1nuiLyzie+u4 /25
e, po 4214+ 0.0
- pl -36.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

Tz 13/e+04 [ 25
- pO 4238+ 0.0
[ pl -36.18+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

T a3z /e+04 [ 25
__ DO 4283+ 0.0
L pl -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

~1nuiz.4oze+04 / 25
- pD 4226+ 0.0
[ p1 -36.19+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

AT 1L szoe+u4 [ 25
- po 4217+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

- U 3b3e+u4 / 25
- pO 4248+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

EREALER azue+u4/25
- po 4262+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(C, bch) (63,15

T nanz.z9e+u4 | 25
e po 4243+ 0.0
p1 -36.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

X~ 1w baze+U4 [ 25
- PO 4199+ 0.0
pl -36.04 £ 0.00

TP delay [ns]

TVC(cbch) (64,4

- rnunLyu3e+ud / 25
e, pO 4187+ 0.0
pl -34.00 + 0.00

[ C =29.34 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T rnuz.452e+04 [ 25
- PD 4191+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(cbch) (64,12

T L gise+u4 / 25
4223+ 0.0
-33.6 + 0.0

[C=29.76 [ps/ch] ™.

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1 nuiLB/oe+u4 /25
- po 4178+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

“rnun 1.82e+04 [ 25
- DU 4186+ 0.0
Pl -34.86% 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

~ 1 nug. zoge+ud / 25
- DO 4210+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(C, bch) (64,13

T obse+u4 / 25
- pO 4222+ 0.0
pl -34.72 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

TP delay [ns]

TVC(cbch) (64,6

w1 roe+ud | 25
- PO 4192 0.0
F pl -36.15+ 0.00

3000

-1 nunL ysse+u4 / 25
- pO 4190+ 0.0
I pl -35.34 % 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

Tnuz.4r3e+04 /25
F DO 4242500
L PL_ -34.87%0.00

TP delay [ns]

TVC(cbch) (64,14

Tl rse+u4 [ 25
- PD 4230+ 0.0
L pl -33.74.+ 0.00

- C = 29.64 [ps/ch]

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

A7 1 nuiLbuze+u4 / 25
™, LY 4207+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nui Byze+u4 / 25
- PO 4201% 0.0
pL -34.91:+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

ALV u1=e+u4/25
- 4227+ 0.0
-33.88+ 0.00

[ C =29.51 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

Tinair41e+04 /25
4227+ 0.0
-34.6 £ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1w yove+u4 [ 25
[Fones, PO 4204+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (65,4

- 11y, 159e+04 / 25
Fome, pO 4199+ 0.0
pl -34.18 + 0.00

[ C =29.25 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

T nu410e+04 /25
- pO 4218+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (65,12

T inugazze+04 1 25
- pO 4227 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51)

o Lgserud [ 25
[, pO 4215+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

-1 nug Zoze+u4 [ 25
- 4196+ 0.0
-34.02:+ 0.00

[ C =29.39 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

T nup.z3ae+u4 25
- DO 4215+ 0.0
pl -35.26 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,13

~ 1 nuiz sbye+ud 25
4250+ 0.0
-36.11 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

TP delay [ns]

TVC(cbch) (6,56

X~ 1L ysre+u4 /25
I po 4227+ 0.0
3 pl -36.48 + 0.00

3000

T yyle+ud / 25
- pO 4210 0.0
L PL_ -34.15% 0.00

- C =29.28 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

T U gbse+u4 / 25
= DO 4244+ 0.0
3 Pl 3567+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

~ 1z, 5o0e+u4 / 25
- PD 4223+ 0.0
I pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT 1 nuiLy/ye+u4 /25
- PO 4212+ 0.0
p1 -34.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 57

S nye+ud [ 25
- PO 4212+ 0.0
Pl 3508+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

ALK bse+u4/25
- pO 4250+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T 2.43e+04 1 25
- pO 4237+ 0.0
pl -36.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

.ULve+u4 | 25
4200+ 0.0
-35.41+ 0.00

FC E
1 L -
50 100
TP delay [ns]
TVC(cbch) (6.6,4)
- rnuLy1se+u4 / 25
Frvee pO 4184+ 0.0
p1 -35.01:+ 0.00
FC E
1 L -
50 100
TP delay [ns]
TVC(cbch) (6.6.8)
Cinu14/e+04 /25
. po 4219+ 0.0
p1 -35.65 + 0.00

TP delay [ns]

TVC(cbch) (6,6,12

po
p1

- 1oz s8ze+04 [ 25
4236+ 0.0
-35.78+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

P po

p1

AT 1 nuzubse+u4 / 25
4209+ 0.0
-35.82+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 6,5

“nun1yse+u4 [ 25
4209+ 0.0
-36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,9

== pO

~ 1 nuiLUsse+us / 25
4250+ 0.0
-34.89 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 6 13

T nuiz.agae+ud [ 25
4229+ 0.0
-35.61+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,6,2)

. po

pl

X~ 1 iz 1ope+u4 [ 25
4204+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(cbch) (66,6

pO
p1

T L 88 e+u4 | 25
4197+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 6, 10

1000

- b

-1 nug, 108e+04 / 25
4261+ 0.0
-35.96 + 0.00

pl

TP delay [ns]

TVC(cbch) (6,6,14

- 1z, 195e+04 [ 25
4225+ 0.0
-35.47 £ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

A1 nuiLYrse+ud [ 25

po
pL

4217+ 0.0
-35.41+ 0.00

[ C=28.24 [ps/ch

L
50

100

TP delay [ns]

TVC(c,b ch) (6 6,7

E. pO
pl

- 1nuiLyr4e+04 [ 25
4209+ 0.0
-35.91+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 6

= pO

EREALER ame+u4/25
4258+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 6 15

-z 104e+04 [ 25
4240+ 0.0
-36.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

A~ 1L yyse+ud [ 25
4188+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(cbch) (67,4

pO
pl

-1z 4p3e+04 / 25
4200+ 0.0
-34.73+ 0.00

% o
TP delay [ns]
TVC(cbch) (6 7,8
= pO

-1 nug 543e+04 [ 25
4209+ 0.0
-35.95+ 0.00

TP delay [ns]

TVC(cbch) (6,7,12

e, po
p1

- rnuzu71e+u4 /25
4256+ 0.0
-36.42:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1)

F.... po

p1

AT 1nugzize+u4 | 25
4212+ 0.0
-36.67 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nuz.494e+04 [ 25
4212+ 0.0
-35.3+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (6 7,9

- po

pl

T nuiLazze+U5 [ 25
4228+ 0.0
-36.41+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 7 13

T nuiz 1gye+ud [ 25
4250+ 0.0
-37.19+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,7,2)

P P

ATz 31re+0d [ 25
4217+ 0.0
p1 -36.23+ 0.00

TP delay

TVC(cbch) (67,6

== pO

pl

[ns]

-1z bloe+ud / 25
4219+ 0.0
-35.02 + 0.00

TP delay

TVC(eb,ch)=(6, 7, 10

1000

0

F= F’O

[ns]

1 nuig.4upe+U4 / 25
4253+ 0.0
-37.1+ 0.0

pl

TP delay

TVC(cbch) (67,14

1000

F= P"
pl

[ns]

-1z z3ze+04 [ 25
4254+ 0.0
-36.5+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,7,

po
pL

3

x- 1 iz Lsae+Ud | 25
4217+ 0.0
-35.51% 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 7,7

S
pO
pl

iz guse+u4 / 25
4219+ 0.0
-34.51+ 0.00

[ C =28.98 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (6,7,

X

e po
pl

iz, /Uze+u4/25
4262+ 0.0
-37.48 + 0.00

TP delay [ns]

TVC(Eb.eh)=(6. 7,

- po

15

Inur Z1e+u4 [ 25
4263+ 0.0
-36.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

A7 1 nugouze+ud /25
- po 4184+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(cbch) (6,84

- i lple+ud / 25
e, pO 4270 0.0
pl -38.91+ 0.00

-
[y
50 100

TP delay [ns]

TVC(cbch) (6 8,8

1 nuiLgobe+U4 / 25
- pO 4214+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (6,812

©rnuiLzuve+ud / 25
= po 4223+ 0.0
pl -35.84+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81)

1z poe+ud [ 25

F.. pO 4182+ 0.0
pl -34.77+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

L pO

11U Z3oe+04 | 25

pl -37.71+ 0.00

4253+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

1 nuig.zsse+u4 [ 25

- pO 4223+ 0.0
pL -34.59+ 0.00

TP delay [ns]

TVC(C, bch) (6,813

Tinun 1 oge+ud [ 25
= pO 4235+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.53 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

A~ 1 nuiz osoe+U4 / 25
_l'_ po 4206+ 0.0
- pl -35.05+ 0.00

-1 i buse+ud / 25
- pO 4264+ 0.0
[ 382 0.0

TP delay [ns]

TVC(cbch) (6, 8 10

a2 guse+u4 | 25
. po 4255+ 0.0
- pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (6,814

T rnuiLysl1e+u4 / 25
. pD 4223+ 0.0
L pl -34.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po

pl

AT 1 nuznsie+ud [ 25
4209+ 0.0
-35.77 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

p==. pO
pl

-1 U byoe+u4 / 25
4284+ 0.0
-37.95+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

AL 5U‘Je+U4/25
4261+ 0.0
-35.04 + 0.00

pl

TP delay [ns]

TVC(C, bch) (6,815

-1 nui yove+ud / 25
4232+ 0.0
-35.16 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0

AT nugs1oe+u4 /25
Focea po 4215+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (69,4

- 1 i B8be+u4 / 25
[oana PO 4238+ 0.0
pl -35.22+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 9,8

T rnug.uLse+u4 / 25
- po 4222+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(cbch) (6,9,12

T rnuiLgase+u4 [ 25
= po 4239+ 0.0
pl -34.13+ 0.00

[ C =29.30 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

x- 1 iz dyve+ud | 25
Fraee po 4221+ 0.0
pL -35.84+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

“rnug 1zve+04 [ 25
pO 4251+ 0.0
pL -35.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,9

~ 1 nu.320e+04 | 25
- po 4235+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(C, bch) (69,13

T nuiLylae+ud [ 25
= pO 4236+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,9,2)

TP delay [ns]

TVC(cbch) (69,6

AT 1 nugsuze+ud [ 25
_-_ po 4238+ 0.0
o pl -37.69+ 0.00

3000

Tz 1u/e+u4 [ 25
- pO 4260+ 0.0
[ pl -35.78 0.00

TP delay [ns]

TVC(cbch) (6, 9 10

1000

©1nuig.pbze+u4 | 25
-, po 4262+ 0.0
L -36.2 + 0.0

TP delay [ns]

TVC(cbch) (6,9,14

1000

T yoe+ud /25
- pD 4250+ 0.0
L pl -36.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3

AT rnuz419e+u4 [ 25
o= po 4243+ 0.0
pl -37.17+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

S nuiz111e+u4 [ 25
- pO 4276+ 0.0
pL -36.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 9

T, /Ude+U4/25
- po 4273+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (69,15

-1 nui ysye+ud [ 25
- pO 4259+ 0.0
p1 -36.62+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

©rnuizuuse+ud [ 25
pO 4206+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(cbch) (6.10,4

- rnuzuBle+ud / 25
Fome, pO 4215+ 0.0
pl -36.83 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

1 nuiLgEoe+U4 / 25
= po 4220+ 0.0
p1 -37+ 0.0

TP delay [ns]

TVC(cbch) (6.10,12)

© 1z, 150e+u4 / 25
= po 4229+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

AT 1 nuzubse+ud [ 25
- po 4208+ 0.0
pl -36.19 + 0.00

TP delay [ns]

TVC(c, bch) (6,10,5

-1 nu 1b4e+04 / 25
e pO 4219+ 0.0
-36.3+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 10

<1 nui 390e+u4 | 25
= po 4223+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (610,13

T inuiz z4ne+ud [ 25
pO 4230+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

K™ 1 nuiz.uuoe+ud / 25
= po 4220+ 0.0
o pl -36.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.10,6

- i Bole+ud / 25
- pO 4227+ 0.0
[ 369+ 0.0

TP delay [ns]

TVC(e,b,ch)=(6, 10, 10)

1000

0

1z byze+u4 | 25
=, po 4250+ 0.0
- pl -37.02+ 0.00

TP delay [ns]

TVC(cbch) (6.10,14)

T zaoe+ud /25
. pD 4232+ 0.0
L pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

AT 1L syse+ud [ 25
F=- po 4214+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(c, bch) (6,10, 7

- /. a3ae+0d | 25
- pO 4232+ 0.0
p1 -36.44 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (6, 10 1

-1 nuiz.usze+ud [ 25
- po 4263+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(cbch) (6.10,15

T nuiz.usze+ud [ 25
4239+ 0.0
-35.71+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

b po

pl

X~ 1z oore+U4 /25
4224+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (6, 11 4

TVC(CbCh) (6,11,1)

AT 1wz, (2ve+u4 | 25

4000 =

3000 |-

2000

po
pL

4223+ 0.0
-34.53+ 0.00

w00 C = 28.96 [ps/ch]

L
50

1
100

TP delay [ns]

TVC(c,b Ch) (6, 11 5

4000

- iU pbze+u4 [ 25
e po 4182+ 0.0
pl -36.24 + 0.00

- C =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (6, 11 8)

- 1nuz za5e+04 [ 25
= po 4230+ 0.0
pl -35.92+ 0.00

TP delay

TVC(c,b Ch) (6,11, 12

[ns]

A~ 1 nui yuse+u4 / 25
e, po 4252+ 0.0
p1 -34.97 + 0.00

TP delay

[ns]

- nui ruze+u4d [ 25
e pO 4198+ 0.0
Pl -37.26+ 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (6, 11

4000

[ns]

T nup.z13e+u4 / 25
4218+ 0.0
-34.5+ 0.0

3000

2000

100 C = 28.99 [ps/ch]

1
50 00

TP delay

TVC(c,b ch) (6, 11 13

4000 e, PO

p1

[ns]

TinuiLy4/e+ud [ 25
4252+ 0.0
-34.75+ 0.00

3000

2000 [~

w0 C = 28.78 [ps/ch]

PR R SR |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6, 11 2)

e PO

- i so1e+04 [ 25
4239+ 0.0
p1 -35.83+ 0.00

TP delay [ns]

TVC(chh) (6, 11 6

T, r17e+04 / 25
- pO 4206+ 0.0
- pl -36.99 + 0.00

TP delay

TVC(e,b.eh)=(6, 11, 10

1000

[ns]

X© 1S, (3 (e+U | 25
- po 4250+ 0.0
[ p1 -35.43+ 0.00

TP delay

TVC(c,b Ch) (6, 11 14

- pD

S rnu L yse+ud [ 25
4267+ 0.0
pl -35.78+ 0.00

[ns]

)

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,3)

X

po
pL

1 nuz.493e+u4 [ 25
4246+ 0.0
-36.77 + 0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

- 1nuz193e+ud | 25
= po 4213+ 0.0
p1 -35.97 + 0.00

50 160
TP delay

TVC(Deh)=(6, 11, 11

= pO

[ns]

1 nuiz ooge+u4 [ 25
4253+ 0.0
pl -35.66 + 0.00

TP delay

TVC(c,b Ch) (6, 11 15

[ns]

- i ysbe+ud [ 25
4267 0.0
-35.46 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

T szse+u4 [ 25
pO 4182+ 0.0
p1 -34.54.+ 0.00

TP delay [ns]

TVC(cbch) (6.12,4

-1 BBYe+ud / 25
pO 4233+ 0.0
p1 -37.73+ 0.00

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

T 1L, ru4e+04 [ 25
= po 4197+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

1L y4pe+u4 / 25
pO 4227+ 0.0
pl -34.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,12,1)

[ C =29.70 [ps/ch]

AT rnuiLslie+ud /25
- po 4192+ 0.0
pl -33.67 + 0.00

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

-1 nuz.ugoe+ud / 25
[, DU 4227+ 0.0
pl -36.93 % 0.00

TP delay [ns]

TVC(ebeh)=(6, 12,9

-1 nub.uyse+u4 | 25
- pO 4224+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (612,13

T inai rsye+ud [ 25
4223+ 0.0
-34.91+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

- C = 29.66 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

A llu11//e+u4/25
P po 4191+ 0.0
- pl -33.72+ 0.00

T Ly pe+ud [ 25
F po 4221 0.0
[ pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

T,/ (be+u4 | 25
- po 4242+ 0.0
- pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

T zule+ud /25
F pD 4234+ 0.0
L pl -34.38+ 0.00

- C = 29.09 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

po
pL

AT 1L rsse+u4 [ 25
4216+ 0.0
-35.63+ 0.00

TP delay

TVC(c, bch) (6,127

[ns]

-1 nur bzye+u4 / 25
4258+ 0.0
-38.3+ 0.0

TP delay

TVC(eh.eh)=(6, 12, 11

pO
pl

[ns]

T nuiz.zule+u4 / 25
4263+ 0.0
-36.07 + 0.00

TP delay

TVC(cbch) (6,12,15

e, po

[ns]

T nui osbe+ud [ 25
4210+ 0.0
-34.38 + 0.00

[ C=29.09 [ps/ch]

PR PR S S |
50 100

TP delay

[ns]



TVC(c,b Ch) (6, 13 0) TVC(c,b Ch) (6,13,1) TVC(c,b,ch)=(6, 13, 2) TVC(c,b Ch) (6,13,3)
- g abver0a ] 25 A zU21e+Ud ] 25 T Ko yusd 25 Az 14 e+Ud ] 25
4000, pO 4200 0.0 4000, po 4209+ 0.0 4000 po 4207 0.0 4000, po 4213 0.0
Pl -36.87+0.00 pl_ -36.870.00 L Pl -36.42% 0.00 Pl -36.45: 0.00

3000

-1 3000 = 3000 = 3000 N

2000 - 2000 -1 2000 =1 2000

1000 N 1000 I 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,134 TVC(c, bch) (6,135 TVC(cbch) (6.13,6 TVC(c, bch) (6,137

1000 RILCER \_7)\_79+UA /25 2000 SR U)ye+l)4/25 2000 E - y\:])\je+ud 125 4000 i, M)JEH,“E
[roeee, pO 4162+ 0.0 = pO 4165+ 0.0 [Fromee, pO 4169+ 0.0 [roee, pO 4194+ 0.0
Pl -3557+0.00 pL -36.01+ 0.00 3 pl -35.53+ 0.00 Pl -3577+0.00
3000 [ B 3000 [ B 3000~ — 3000 E
2000~ e 2000 [ B 2000 ] 2000 B
1000 C E wol- C =27.77 [pS/Ch 7 w00~ C = 28.14 [pS/Ch b 1000 C ]
1 1 ! 1 1 - E 1 1 =4 1 1 =
50 T00 50 00 50 00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,oh)=(6, 13,8) TVC(eb,oh)=(6, 13,9) TVC(eb,ch)=(6, 13, 10) TVC(eb.ch)=(6,13, 1)
~ 1 nuzyple+ud / 25 T nug31be+u4 / 25 T nuiL, (g4e+04 / 25 T ro4e+u4 [ 25
A000R., pO 4198+ 0.0 4000 pO 4233+ 0.0 4000 [, DO 4217+ 0.0 4000, p0 42351 0.0
pl -34.87+ 0.00 pL -35.37+ 0.00 3 pl -34.04 % 0.00 pL -36.26+ 0.00

] 3000

- 3000 T

3000 - 3000 |~

4 2000 2000

2000 2000~

1000
1000 1000

wol ¢ = 29.38 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (6.13,12) TVC(c,b ch) (6.13,13) TVC(c,b ch) (6.13,14) TVC(c,b ch) (6,13,15)
©rnuizguze+ud | 25 TinuiLy4/e+ud [ 25 1z zude+04 | 25 -1 nuiz.yuye+ud / 25
4000, PO 4209+ 0.0 4000 o, PO 4181+ 0.0 4000 _= PD 4200+ 0.0 4000 PO 4200+ 0.0
pl -35.21+ 0.00 -34.32+ 0.00 F pl -34.89+ 0.00 pl -35.34+ 0.00

3000

-1 3000 - 3000 - 3000 .

2000 T 2000 |- - 2000 ] 2000

1000 b W C = 29.14 [ps/ch] . 1000: —: 1000 E
'5(')""10'0-' ""E‘d""m‘o-'

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 14 0)

© L, ryoe+u4 [ 25
.. pO 4200+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (6,144

-1 i 4pze+04 / 25
- pO 4202+ 0.0
p1 -35.41% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

[ C =29.48 [ps/ch]

1 nuz5ope+u4 / 25
= pO 4181+ 0.0
pl -33.92+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

1L pove+u4 / 25
== po 4209+ 0.0
pl -35.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

A1 L] e+Ud | 25
P, po 4200+ 0.0
pL -35.6 0.0

TP delay [ns]

TVC(c, bch) (6,145

-1 nun g3ze+u4 / 25
- pO 4208+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(ebeh)=(6, 14,9

[ C =29.28 [ps/ch]

~ 1 nuw ggae+u4 25
= po 4203+ 0.0
p1 -34.15+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (614,13

T nuibyle+ud / 25
== pO 4193 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(CbCh) (6,14,2)

4000

2000

1000

K™ 1 nuisble+ud /25
_- po 4203+ 0.0
o pl -35.86+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.14,6

4000

3000

2000

1000

-1 i BBge+u4 / 25
- pO 4220+ 0.0
[ pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 10

4000

3000

2000

1000

T 1nuizuyle+ud | 25
= po 4211+ 0.0
- pl -34.1+ 0.0

- C = 29.33 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6. 14,14

4000

3000
2000

1000

T i, ryve+u4 [ 25
= pD 4214+ 0.0
L -36.41+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

AT 1L BUse+u4 [ 25
- po 4222+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c, bch) (6,14, 7

- 1nui ylze+ud / 25
4239+ 0.0
-37+ 0.0

50 1(;0
TP delay [ns]

TVC(ehch)=(6, 14, 11

T naiLgze+u4 [ 25
= po 4217+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (614,15

Tinuip13e+ud / 25
= pO 4203+ 0.0
-35.71+ 0.00

PR PR S S |
50 100

TP delay [ns]



TVO(eb.eh)=(6, 15,0)

4000

3000

2000

1000

© L pooe+u4 / 25
- pO 4148+ 0.0
p1 -36.1% 0.0

TP delay [ns]

TVC(eb.ch)=(6. 15, 4

4000

3000

2000

1000

- rnuiLg3/e+04 [ 25
o po 4170+ 0.0
pl -34.48 + 0.00

TP delay [ns]

TVC(eb.oh)=(6, 15,8

4000

3000

2000

1000

- /i osae+U4 | 25
— pD 4210+ 0.0
p1 -33.99+ 0.00

[ C =29.42 [ps/ch]

0

1
=] 00

TP delay [ns]

TVC(e,b.eh)=(6, 15, 12

4000

3000

2000

1000

1 i gyze+u4 [ 25
b, po 4286+ 0.0
p1 -37.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(eb.eh)=(6, 15, 1)

X~ 1 iz, ubbe U4 | 25
e po 4150+ 0.0
pL -35.07+ 0.00

TP delay [ns]

TVC(e.bCh)=(6, 15,5

-1 nui yige+u4d / 25
Fones pO 4183+ 0.0
-34.03+ 0.00

[ C =29.38 [ps/ch]

50 T
TP delay [ns]

TVC(eb.oh)=(6, 15,9

- .23 re+Ud ] 25
4228+ 0.0
-34.53 + 0.00

[ C =28.96 [ps/ch] 7

1
50 00

TP delay [ns]

TVC(e,beh)=(6, 15, 13

TinuiLys/e+ud [ 25
be. pO 4278+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

-f

1000;— C =28.83 [ps/ch] - ‘
| " -

4000

3000
2000

1000

TVO(eb.eh)=(6, 15,2)

TP delay [ns]

TVC(eb.ch)=(6. 15,6

X~ 1 nun z1ye+ud | 25
F... po 4156+ 0.0
[ pl 3529+ 0.00

3000

-1 nuz,u3ge+ud / 25
Foe pO 4193+ 00
[ Pl 3493+ 0.00

- C = 28.63 [ps/ch

50 0
TP delay [ns]

TVC(e,b,ch)=(6, 15, 10

- i po3e+Ud / 25
- po 4252+ 0.0
[ p1 -34.69+ 0.00

TP delay [ns]

TVC(eb.ch)=(6, 15, 14

- 1 ysze+u4 [ 25
b pD 4277+ 0.0
[ -36.31+ 0.00

P B |
50 100

TP delay [ns]

TVC(eb.eh)=(6, 15,3)

4000 po

A~ 1 nuizzo9e+ud [ 25
41741 0.0
pL -36.07 + 0.00

3000

2000

1000

TP delay

TVC(C, bch) (6,15, 7

4000 5 PO

pl

[ns]

=1 i yoge+u4 / 25
4198+ 0.0
-33.84+ 0.00

3000

2000 -

10 C = 29.55 [ps/ch]

50 100
TP delay

TVC(e,beh)=(6, 15, 11

4000 e pO

pl

[ns]

- iz yZe+ud ] 25
4242 0.0
-34.06+ 0.00

3000 -

2000 =

lo00F C = 29.36 [ps/ch]

1
5 00

TP delay

TVC(e,beh)=(6, 15, 15

4000 PO

[ns]

- i ysye+ud [ 25
4285+ 0.0
p1 -36.84 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0

K™ 1 nuizoule+ud /25
- po 4193+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (70,4

-1 Zbse+ud | 25
s, pO 4175+ 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(cbch) (7 0,8

T rnuzygle+u4 | 25
e, pO 4208+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (7,0,12

T g, syze+u4 | 25
= po 4237+ 0.0
pl -37.77 + 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

AT 1 nuzbu/e+ud | 25
P s po 4194+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

“rnuby/e+u4 /25
E pO 4192+ 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

~ 1 nai 3oae+u4 [ 25
= po 4210+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,13

1 nuis.ouBe+u4 / 25
- pO 4231+ 0.0
pl -37.24+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

TP delay [ns]

TVC(cbch) (7.0,6

T z.sse+ud [ 25
= pO 4204+ 0.0
L pl -36.46 + 0.00

3000

- 1o Boae+04 | 25
F pO 4185+ 0.0
L pl -34.54 + 0.00

EC = 28.95 [psichPy, -

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

T nug zole+ud | 25
- po 4249+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (7,0,14

~ vy z94e+04 | 25
F pD 4237+ 0.0
[ p1 -38.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

AT rnuazrure+ud [ 25
P s po 4196+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

- U Yo3e+u4d / 25
- pO 4210+ 0.0
p1 -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (7, O

T, /b4e+u4/25
= pO 4245+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

Tonan 3.40e+04 [ 25
e po 4245+ 0.0
p1 -37.38+ 0.00

TP delay [ns]



TVC(cbch)(710) TVC(cbch)(?ll) TVC(cbch)(?lZ) TVC(cbch)(713)
A1z 448e+04 | 25 “ i zga4e+04 | 25 A 11z 4upbe+u4 [ 25 A1 nwugazse+Ud | 25
4000 4176 + 0.0 4000 Fonse po 4190+ 0.0 4000 _=— po 4191+ 0.0 4000 e, po 4221+ 0.0
-35.7+ 0.0 pl -36.54 + 0.00 : pl -36.67 + 0.00 pl -36.31+ 0.00

- 3000

3000 -1 3000

-1 3000

2000 - 2000 -1 2000 N 2000

1000 4 1000 - 1000 B 1000

1 L 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (71,4 TVC(cbch) (7,1,5 TVC(cbch) (7.1,6 TVC(cbch) (7,1,7

T rnan z.uze+u4 [ 25 T rnua.zure+ud | 25 - rnug zzge+V4 | 25 - 1nu.z1ye+u4 / 25
4000 pO 4221+ 0.0 4000, DU 4217+ 0.0 4000 fm, pO 4230+ 0.0 4000 fme, pO 4238+ 0.0
Pl -36.06+ 0.00 Pl -35.49:+ 0.00 [ Pl -35.75%0.00 Pl -35.99: 0.00

3000 |- E 3000 - 3000 - 3000 B

2000~ b 2000 E 2000 - - 2000 [ 7

1000 - - ] [~ _ ] 1000 | .

c 1000 wol C = 27.97 [ps/ch ] c
- F - 1 -
- - -,
1 1 - 1 1 - 1 -
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(7, 1,8 TVCEebeh)=(7, 1, TVC(ebeh)=(7, 1, 10 TVC(eb.eh=(7, 1,

11
LA (?U‘deﬂm 125 T nug s)sze+u4/25 T g, m)/e+04/25 T o, ib)de+l]4/25
4000, pO 4226+ 0.0 4000 e, pO 4236+ 0.0 4000 DO 4248+ 0.0 4000 p0 4261 0.0
Pl 3553+ 0.00 -34.6£ 00 [ Pl -33.36%0.00 PL_ -34.74%000
3000 1 3000 g 3000} ] 3000 B
2000 4 2000 E 2000 ] 2000 1
1000 ] wor C = 28.90 [ps/ch]™,_ 7 wol ¢ = 29.97 [ps/ch] . 1 wor C =28.78 [ps/ch]™,_
1 1 - [ 1 1 - 1 1 -
50 00 0 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(711 ) TVC(cbch)(7113) TVC(cbch)(711 ) TVC(cbch)(7115)
T~z 1o8e+04 / 25 T inuzalae+ud [ 25 T 1nuig.z45e+04 | 25 T nan z.o0e+u4 [ 25
4000 pO 4224+ 0.0 4000 pO 4221% 0.0 4000 PD 4225+ 0.0 4000 o, pO 4228+ 0.0
pl -35.25+ 0.00 pl -35.48+ 0.00 F pl -35.87 + 0.00 pl -35.32+ 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 E 2000 E 2000 - 2000

1000 -1 1000

& 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

A7 1 nui sooe+ud / 25
po 4205+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (72,4

T rnuzdp/e+04 [ 25
e, pO 4186+ 0.0
pl -35.33+ 0.00

e 4
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

T rnuz183e+04 / 25
po 4231+ 0.0
pl -37.53+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T/ r4e+04 / 25
pO 4214+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (7,21

A1 L (a0e+U4 | 25
Foase po 4190+ 0.0
pL -36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

- InuR.583e+U4 [ 25
o, DU 4205+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T nug. rove+u4 / 25
= po 4237+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,13

T nui ssye+ud [ 25
pO 4211+ 0.0
pl -35.87+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

A7 1 nuiLssoe+u4 /25
o po 4198+ 0.0
L pl -36.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,26

- rnu 1z9e+04 [ 25
e pO 4187+ 0.0
[ pl -34.58+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

T, (zoe+u4 | 25
= po 4253+ 0.0
- pl -36.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

T rz1e+04 /25
pD 4225+ 0.0
-35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT 1 nuiLysae+u4 [ 25
1 s, po 4212+ 0.0
pl -36.14+ 0.00

TP delay [ns]

TVC(cbch) (7.2,7

- 11U bage+u4 [ 25
- pO 4210+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T, 151e+u4/25
= po 4258+ 0.0
pl -37.68 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

Tinuizzroe+ud [ 25
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